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Subject lIBACIO Il Exe

Section : Current Affairs

Q1  "Hiolae 3Ed (UDBHAV)" & day # fTifed @yl W faar sifsme:

1. Mioige 3gd (UDBHAV)' &) IeiTY Rig 3 aRY faan

2. Ig Wiviae Jagar 2023 § @id fovam
3.ug;ﬁqﬁﬁ?mﬁﬁﬁﬁﬁm%muﬁhmaﬁmmﬁwaﬂﬁ%wmﬁﬁmmﬁ%mMn'cﬂuﬁmaﬁw
Ugd el

SR 3T TT Hy & & SH-T1R FYF TE B2
Ans X 1.%Hdd HYF 2
X 2. Y2 3R 3
X 3. 5ad YT 3
o 4. T E

Q2 gret 3fear 9a iR 98 96y S AR 2023 F Hay # Fifed $3E ® fEr S

1. 98 $9 I8 & gATHE BT guRT AWHRT AT
2. 3 3TaIo A gl 3iiel UeRT A 12 3wl & A1y 2 =T vt fawami
3. aftraTg @ g1t gfiie A g I ure fBan B
SR 2T T HY= # A FI9-97 YT TE1 27872
Ans X 1. @i EE®
X 2. HId HY 3
3. PUT2 3R 3

X 4. HITHYT 2

Q3 SiereTs 2.0 Fafafaa & 3 v s gr1 3= o mar @2
Ans X 1. TR

& 2. 399
< 3. I5H
X 4. IRTS



https://t.me/mathsbygaganpratap

Q.4

Ans

Tt 1 R G 2 DI AT ST 1R i Y 7T Se &1 3uai e Tel IR I 9 Difog|

% %

A Q 1. OpenAl
B. Bard 2. IndiGo
C. bEskai 3. Google

D. ChatGPT |4. Amazon
& 1.A-4 B-3 C-2 D-1

2 2.A-2 B-3 C-4 D-1
/< 3.A-4B-2C-1D-3
< 4.A-2B-3C-1D-4

Q.5

Ans

fFafafEa & | $19 Iavs ¥ Fsurex 994 arelt ugelt UTs-a8+ &1 Wik 82
X 1. 3T sprara SR G spraTa

X 2. UfRF 13d 3R uRATeH I8d

X 3. i T SR Sifiefia e

& 4. JRTE IBRETY. 3R TS

Q.6
Ans

WAt 2023 § T DGCA WHE & wu ¥ f5a fgad fvar man g2
X 1. IR

X 2.fapw

« 3. fapugaea

X 4. Sz

Q7

Ans

YRT A5 PR Ui HTAHH (NCAP) H Thed ThAC Ueor Pt fa | forar wmar 81
#< 1. 82 kmph

w" 2. 64 kmph
#< 3.70 kmph
< 4.75kmph

Q.8

Ans

forr=fad 2023 & day # FAAifPT Y= R faar Fifse:

1. U8 U AR @ 3 B
2. Ug YR 3R HieiedT BT Tgad g gl
3. 98 WY 16 T 29 FdaR 2023 T& 3MAiford forar i
4. U] IERT TH-gOX B FATa- 0TIl 3R o ieral o1 T8 que & Yeg a9 8
W 3T T HY= A § HH-91 YT T8 28?2
X 1o T
o 2. FYT2 3R 3
X 3. DY 1, 3,4

X 4. BYT1,23R3

Q.9

Ans

2023 ® STy URGd YeRH Ya@id | HRd BT RITF HT1 872
o 1.8

X 2.6df

X 3.5df

X 4. 74t




Q.10 "Higar AReT AT 2023" & ey # F=ifhd YA R faR Fif:

1. 39 faumHTel 3R dreaHT & Afgensi &) 33 ufawrd smRervr &1 yraur= fFar war g1
2. U8 YR WA= & 1063 Ifyur= Jxne= siffaw @ we&fta g1
3. 39 Sifufraw grRT 3wt 10 aut & forg emeror yer far wimew R yfasy ® geran o g@ar g1
4. 39 UMY & A9 A 354 330A UfIT frar mar g1
SR feu T HYE A A FH-914 FYF T 3/8?
Ans X 1. gfiadie
X 2. HYT2, 3 3R 4
& 3. FYT1, 23R 4

X 4. BYT1,23R 3

Q.11 Bharatiya Nyaya Sanhita was introduced in Lok Sabha to replace
Ans 2< 1. Indian Civil Code

" 2. Indian Penal Code
725 3. Indian Code of Conduct
< 4. Indian Criminal Code

Q12  TETd SR SR 2023 F URA BT I FIT 82
Ans .y 1 40df

* 2.8dl
X 3.23a0
X 4. 343t

Q.13  TAASUHLSNR (NISAR) & ey H fF=ifPha 3= IR faar sifore:

1. ugq@%ﬁ&maiqumﬂg?ﬂﬂiﬁmél
2. U8 HRd 3R ket &1 wgaa e

3. 3HST [T ATH ATH1-3WR) RiAfew 3rq=ik TSR (NASA-ISRO Synthetic Aperture Radar) 81
4. 38 YRd F SHTATAA (GSLV) WR A HI1 HT AT B

SR T T Hy= | A H-91R FYU 9L 8782
Ans X 1. $ad HYT2 3R 4
X 2.FYT2 3R 3
& 3. T g
X 4. FAA DY, 3, 4

Q.14 fAgfafad # A fT AeT H UNESCO & TaHTHS ER Acad gRI Td & UeX & ©U & J=4dT &Y 718 82
Ans o 1. TIeRR

X 2. SR

X 3. R

X 4. 78 fewt

Q.15  YRd F yyw foqa I cifsre Riew (RRTS) & Tay # fFA=ifera syl wR faar Fifsm:

1. SUST IgHTe YT g Hidt A faam
2. THPT IUTET 20 LI 2023 P Fba /AT T
3. T AT SR g8 B H1erd ¥ Sieia omar 21
4. fAe=N-STaTETg-AR6 RRTS HINSR HIRd HT Ugdl RRTS BINSR &l
SR feU T FYE § A PH-A1E HYF TAd 28?2
Ans X' 1. HYT4
X 2. BYT2 3R 3
o 3. SRad A I DIs T8l

X 4. U1




Q.16 firgraret gamiu fafy & dey # fr=ifed Sy w faEr S

1. fRiaR 2023 ®, S<ITE & HIgar aee &7 A a1 &5 &I ggrar ¢ & g, Hia sfear fafies #t rﬂu:h,mué'\vf
Pavicgd fafies (SECL) 3= yara- &3 § ugell aR FBramarst usia &1 SuahT #3d gamigur
fﬂmﬁﬁ%qmmﬁmmgo$mﬁ@ﬁmmmﬁ?mmﬁwmﬁmmﬁﬁﬁaﬁ
|
3. JHRIYUT B 3 dP-1p W Ud® 1l Hiex & g U, FfSar 3R YaresTe aeufadi e i g1
SR 2T U HY= # A F9-91 $YF 6 27872
Ans 1 FUT1 3R 3
X 2. o ad g
X 3. PYT23R3

X 4. HITHYT 2

Q17 T%-Rreg W1 AT 1 Fgrar 37 & i iy weraar & ewR,

Ans X 1. TTHIF &3 T 1 T3 SR Sifemad 12 Rt & Igmdl UeH &1 ST 8
X 2.3ma & &7 H 1 T3 3R ifwman 10 Rl &Y weTIdr UgH & 9t 8
o 3. TTHT & &7 T 1 T 3R 3Mfrad 18 R oY TRt Y & ot 8
X 45T & &7 H 1 7T 3R Hfwman 15 Rl oY weTadr UgH $ 9t 8

Q.18 feaR 2023 ¥ YR PR gRI fhd T ifay IHeia & Hay & Fifed sy wR AR Fifme:

1. 9% ATgCS XM RIGYRH e (UNLF), TR TRER 3R URd TRER & i geangiivd far war o
2. NRFM (qdadf gaTges Raieg=t the) &7 o+ 11 RidaR, 2021 &Y gaim ATl

3. Ao} 91591 (NRFM %wm@mw&n%ﬁaﬁﬁﬁwﬁﬁﬂmﬁwnﬁm(mm TP AdS UG TITSH) b TIHT 25
aﬁ:«/am 50 BRARY & ATY 22 faiaR, 2023 H1 UNLF & =nfira 81 7Te g1

SR 2T 7T HY & SH-91R $UF T8 222
Ans 1. DHad HYT 1

X 2. i ugt g
X 3. HId PYT 2
X 4. BYT1 3R 2

Q.19 feHaR 2023 d% @t UMY F AR, Fufefaa & @ F9-wt g sreaviers $1d wared & T6fta &

1. YUTTHA 94 fag srdeH
2. W THICRIRT THIH

3. W ISP IaRRT

4. 3¢ e 9t uersh

Ans X 1.23R3
X 2.13R2
o 3. Had 1
X 4. %ad 4

Q.20 g o1 ufad g O 2023 § UNESCO RTfay sRisy wa aifta fearmaar, _ #fRu@wl
Ans X 1. BTG

o 2. FHICH
X 3. 3Ty Tew
X 4. 3nfszm

Section : General Studies




Q1 fafafed & @ o149 9@ afeal gd 3t ok 987 arel afear 872

A) Tieradt
B) aTdt

C)FI
D)"Har

Ans X 1.%ddB,C,D
& 2. BAAA, C
X 3. %adAB
X 4.%adA, B, C

Q2 Ieaian FafafEa d A fv ol o1 @R 32
Ans X 1 fqged

o 2. 91g o

X 3. fegeud

X 4 5o

Q.3  Which of the following were the aspects of the green revolution?

A) Using High Yielding Varieties seeds

B) Mechanization of Agriculture

C) Use of Chemical Fertilizers and Pesticides
D) Irrigation

Ans & 1.A B, Conly
 2.A,B,C,D
2 3.B,C,Donly
& 4.A C,Donly

Q4 AN AeER FT 3d Fafareq o & foa wmae gr fear mar ur?
Ans X 1. fON-35-EF gIa®

X 2. $ge-3c-EH T

X 3.

o 4. SAd-36-gH RIS Raersit

Q5 fmfifad sy w® AR Fife:

1) YR YT ST BT RITTT 1885 H g5 AN, 3% T.3N. TIH $9S Uga e a1 A1
2) w1 &) ®ITTAT 1906 W g3 At 3R 39 gt & ferg sret fHatea & &1 iR a@mss o & ywanfaa fasar ami
3) il & gEl &1 T $1 & 1T aass o 1936 # Sife URAT fram It 3t wim=r &1 7 ot
4) WA Y faife= A | g S F ST | GYE I SANDT 3R FATST H USTet U §RT TR UTET $Y U SiaeIg
eI il & ¥ A w1t far war am
IR § V H1-91 HYT T8 82
Ans . p1.23 3R4
X 2.1,3, 3R4
X 3.1,2 3R3

X 4.1,2, 3R 4




Q.6

Ans

frafafad wy= R R Fifv:

1. SRIYA 1) Y fosga ® 399 HUE HIT A T & 419 A ST A4 B
2. TMerast T B SR Sfaror 1 71 BT ST 81

3. YR & TN & q1¢ WM 7t T Tt IR gORT 9 9971 71

4. Ry 7 ARRIR 3hta & U fassd & UoR | Rwad! 31
SRIFd & A SIF-ATR Y L 3122

o 1. 501, 2, 3R 4
X 2.%ad1,2, 3R 3
X 3.%ad2, 3, 3R 4
X 4.%dd1, 3, 3R 4

Q.7

Ans

Fruafafad FyE R faar i

1. YR & UYTTHA B ABHHT IT ISTTHT ST e g1 It
%.W#ﬂgﬁhaﬁmﬁﬁm%ﬂi}zn%mmﬁ&mﬁ,mﬁw,aﬂwmmmﬁaﬂﬁm
|

3.m?w%mm%mqumﬁﬁm%laﬁm%m N . R

4. ¥IRd IS & ISAUTd Y fgfe Igafa grRT 98 pufd & yEeud g R ST BT 8

SRIF § A SIF-ATR U L 37372

X 1. %ad 1
X 2. bad2
X 3. FdA3 R4
o 4. HIq 1 3R 4

Q.8

Ans

Frafafad Fy= R faar i

1. TRAYH (74a1 G=NeF) iAW, 1992 H ars wftfaal & e &1 wrauT= fHar mar g1

2. Afeu Ft IREd! g ¥ TR urfarerai @) wfeaa, miteR iR SwReiial @) g frar w21

3. R # e RN WRHRI # F0SI F PR & ATYR W TR A, TRufere uhug ok TR tarad i g1
IWRIFd # A PIH-A1A HY T8 88?2

X 1. %ad23R3
X 2. %ad 13k 3
& 3.1,23R3

X 4.%Had1 3R 2

Q.9
Ans

2011 B THIVAT & FAR YR T THUI Pt AT&RAT G TTHT 21
X 1.76%

X 2.74%
 3.82%
X 4.79%

Q.10

Ans

Frafafad sy R faar i

1. FaoTgR ATaTST &Y RITTAT 3iE UH 3R BT I Uy A Fi ot
2. fOo TR AT & a9 HEH N® $WIEARN, qd a1 & 31

3. Arelilel B ASTS & HIRUN A YTHTST &1 Ua- gl T

SWRIF & I BIHF-A1A FU L 87872

o 1. P 1 3R 2
X 2.1,2 33

X 3.%ad1 3R 3
X 4. Faq2 3R 3




Q.11

Ans

frafafad wy= ) R Fifv:

1. URd &1 SrFgferd HTuTeH & U T AT=Uar Urd 22 YIS} & R Jfau it eredt gt o geflaws far man 31
2. Tpd feg 4, i ol iR S ol &Y enfifes wrar 8, ok aradY Sl & eflas 22 yTwrsh # ¥ Tw B

3. HRd & Uiyt 9t &1 | aiell 1+ arell Hiwuil i WAU™ & 719 TN | 1adl gt § et Ml
SWRIF & I BIF-A1A FY TG 8182

X 1. %ada1 3R 2
& 2.1,2 33
X 3. %ad 1

X 4. ®Hada2 3R 3

Q.12
Ans

Net Indirect Taxes are included in
/& 1. Personal Disposable Income

25 2. Net Current Transfers
" 3. National Disposable Income

X 4. Personal Taxes

Q.13

Ans

YR WU &) a1 & yifFRUer g R SIS I AT
2 1. 4091 Ty TN iffad, 1968

& 2. 4291 Gaurfes T siffam, 1976

X 3. 4291 Yy T siffad, 1970

X 4. 4531 YauTe w=eA iffad, 1985

Q.14

Ans

fFafafad sy R far il

;hgqaé’mﬁ (HDI) ¥, frt =1 F} Siia Suafs &1 swasT i Tggsit A fbar wiTar 3: waT ok Wy Shad, 314 3R fivargef
TR

2. TIEITE (HDI) ¥ & e AR R Irsal # 20 ae T R

3. 2021-22 @1 AT faer RUé & AR, YRd 191 30 A | TEETRRT (129) MR ST (73) F fiY 1358 WA W I
SWIT § | ST Y L 2782

X 1.1,23R3

X 2. %ad 13k 3
o 3. HIA 1 3R 2
X 4. FHad 23R 3

Q.15

Ans

fFrafafag sy= w far sifve:

1. YATGS T TETHRE ST YT 8 TUT I W 3R 36 & i U Hareg 3|

2. XievTard fég o= & orgd Agia Tve™ A I3 B

3. Fide I U A< 8 ok 39w faftrsr Saansit &1 gufta wm= i g1

4. AITed R, Rt 3 B wRa &) faar wirar 2, st wansi «R ue ureiie yRd Uy @ ofk g smeatfdrean &5t sifiraafa

e @ JaR@ g1
SR # T SIH-T1A $UT Hel 2782

X 1.%ad1,3, 3R 4
X 2.%dd2, 3, 3R 4
X 3.%ad1,2, 3R 4
& 4.1,2,3 3R4

Q.16
Ans

Ry a1t Tagar B T H g5 ds! B gfd B FArS T H
25 1.83cm

25 2.169 cm
" 3.11cm
X 4.111cm




Q17 frafafea & S o9 a1 w5 o1 form 39 i &) Rigra g1ira $39 & #eg ot A2
Ans o 1. YT

X 2. g

X 3.9

X 4. vErgy

Q.18 fAgfafad Hy= wR faar #3:

A) TRy fofa =T S o 7d 3aTexvT 9 99 g1 €, wafe - fAofa omy 9k R T8 81 €1
B) =TR® fArofa ¢ &1 3711 9w €, afe sy fofa disger & wr snutfya g1a §1

Ans X 1.TTNAMRANBIIR
& 2. ARBITN T T
X 3. FaABIAIE
X 4 FIAATIR

Q.19 fufafad Fy= R faar Fifve:

1. IS H HIRT 7 W fRya fegd iy, WRd o1 9 S iy 21

: uémﬁﬁma%mw %ﬁzﬁﬁgﬁl FHelt i | USSRl &
3.3 TRHTY] YR & URHTY] IdTGH H Iqd I
SR & A $H-91R $U= 98 27372

Ans 1.1 23R3
X 2. %91 3R 2
X 3. Faa2 3R 3
X 4.Fad1 3R 3

Q20 fmfafEd Y=l W faaR sifv:

1. TIS13ME (HDI) T JHY JaHi g Forad o1 & qug Sita= woarsm, T@et fRren & i adf, wpeft Rien & sniféma af ik ufa
Hfe THd AP 1Y W =R far smar 1

2. gESId (UNDP) Ft T YU & 3R, HRd & TISI3MS (HDI) W § $ids-19 e & SR fiRmae &t 781

3. URd ¥ ToU SRS 3t g1 § ufar sEen &1 Tasiens (H) ¥faeiie ©ud sa @RI

4. JFUTAT-THTANRG 919 [P JaHi® (IHDI) B, we ¥ ydd Arard & fyavor § sRyam«ar R far fear wmar g1
SWIF & A BH-T1RA Y TE 2872

Ans 2(1_%?1’1,3,@?4
& 2.1,2,33R4
X 3.%ad1, 2, 3R 4
X 4.%dd2, 3, 3R 4

Section : Numerical Aptitude

Q1 p, B 3R C &1 & B T B Q1 BT UT| 24 BT B3 TR, A I8 BT b 190 Hel H T B Tebal UT, B 3T
&1 B 285 YTl H YT X Uehdll YT, Siaich C 39 B Pl 342 Hel H R R Gabl UT| a1 - oy ferar fos fadt
W T T H 8 dad U € B S| i G o Ugel 9gh H A H Ugd [ &1 e S s, B+ geR & &l
¢ H fobdr, 3R ¢ A TR & &l b o fasan| ol T & gei =9 | A < Ugd & IR H¢ & faa, B 4 gae
f& IR °9¢ B/ 351, 3R ¢ A dR &7 IR 9¢ S foan| 9 &1 & diae 96 | A 4 ugd &1 S8 9¢ s
febar, B = g 3 g U Brd fobar 3k ¢ 3 dR 137 8¢ 1 S foba11 g8 dd dob Skl 381 o b fob b1 gu1
Tel 81 711, Teh n H WS Ak 2n ¢ T i (36T, Tl 1awaes gafl dl, SHfcH Teh # UHHIE Sudlg 311 8T,
aiich H1d I & Hel H QT &1 Uahdl YTl &1 R 8 H &d fdba- 1 i

Ans X 1. 25.8
K2 255
X3 264
74 26




Q.2

Ans

=i 4 g Syl & dey | Ffaiad # 9 S1H-91 fdded 981 82
HYT 1: 210 FIU BICT 41 IUNNeh § o Bl 11 UGS B
HYF 2 : 211 oY BICT 4 YUlich 3 f5raH Sieb 12 UMTS §|
HYF 3 : 212 Y BICT 4 YUlidb g forad Sl 13 TUFTS ¢

X 1. JWRIEd dFl Y 9d g

X 2 BHYF 1 3R 2 YA B, food HUT 3 2T &

X3 fRuuda Syl (1, 2, 3) H A Big i g@ AT 2
v 4 DY 1 3R 3 9 ¢, faog HUT 2 ST B |

Q.3

Ans

o Qulien] (x, y) & U T G TINE B b x > y B, 3R x, y &1 UH%BE 3R HCF (x, y) = 2520 82
x13
X205
X3 6
!

Q.4

Ans

ot fordT e &7 37er 259faera & =er fGar =v it av 109Tona & =7 &€ far =, af av @ &
T 2524 g s g1 7 e e #

K1.2:3
2 3:4
X3 3:2
X4 4:3

Q.5

Ans

T dF H 324,550 Fr FAT TR W Hfog ¥ 777 FIT ZRT AT I 229ferdehr TTURoT sl &3
FT ST LA &7

X 1. 34760

« 2. 35401

A 336320

X 4. 35560




Q8 i et o # favrer @ik e 1AMt 3@ &1 2FUTd m - n 4T 3R 37 A 07 $T 3FUd p : n Y|
0 o oy | fORTe &1 31 o q% @1 gl g3 & SR 3T Y 20% 961 ¢ | e &1 WId 9fG HH: % AR
5% el g 13t 3R Xe &t aaa™ A1 g9d Rk u 3R 2 v, iafd fa7d gy Jg &f Arfis s9d 2 t ot

IR U4, qUT A U U YAl & ey H FEfagd § O ©H-91 981 a2

YT 1:m,n, p, g1 s t,u, AR v AF HHTE 8, 5, 4, 12.5, 40, 20, 10000, 58000, 3R 24000 E|

YT 2:m, n, p, a1, s, t, u, AR v E A HERE 10, 7, 6, 15, 40, 20, 7700, 21530, 3R 14140 €|

A X Gl el § 9 e H o <RT &AM URER E9d 8T B
v 2 G HYAT H TR & J1H IR d ¢
X3 Haq HYT 1 H W & AF TR WA g
X 4. pad Y 2 H =R & A R I ¢

O X FT T Y ¥ 449TeT 3OS &1 Y #T 3T X ¥ A wfond &9 22
Ans X1 204 gfaeEa

v 2. 30.5 gfaeE

X3 33 gigera

X 4 325 gfaeE

Q8 T F R U WU T U 108.75 olieR A Ml ot @ ok 3 ol § uftenfia e 21 R 3w
[Br3701 9 87 efieR FesTell Sl & 2R S Ul o WU fohan oira g 1 Uid 7 arg 3R Ul &1 o urd e 3 :2
210 @ E H foa dier arg o

Ans X 1. 470
X2 522
X 3. 348
4 435




Q.9

Ans

U (4RI 13 &1, Usla IR Bem o U Yddh - U130 gl § dF WHR o U &d | SNER 390 9
Ui - GHH T8 H eI5Y A & UH, THH 9% H ¢BU B & U, 3R YAH S=1 H 2159 ¢ & U4 od | gdis, ad
T YD YHR o U i AT RRER =1 &1 | 38 2faral, di-1 fdharsdt 3 Ude UbR & U &1 Uid gf-ic $I
S-S DA R &1

HfUHYT (A): T YHT 8 [F ST A CIZU A & UdP UF &l 32 & 1 TX, 15U B & Udd U4 &l 31 DI g1 TR 3R
TS C o Ul U &l 312 I 8T IR &1 3R Hd T8 &I A Hloid [T, USfaT A T3U A & S U &l 32 &
TTH IR, TS B & Ucidh U 1 36 &1 gliF UR 3R €159 C & Wedds U Bl 36 &1 g1+ IR 541 3R $d 314 HI ATH
Hfld (e SR B A CRUAT UG I B I HAH R, CRUB I UAG U Pl 31 H AH W AR CBIC S
Wed U ! 23 @1 el IR &1 2R e 327 1 a1y Hfoid fbar

HRUT (R): T G EF THIHRU I 3R 86 $3 IR g9 U1 o 8¢ U gy Iy e gl
X 1.

3MfYHU (A) 3R BRUT (R) ST T & 3R DRI (R) ATUHUT (A) T Tl WHIHUT 2|

X 2.

BT (A) R BRI (R) SHT TH & Wfdh] BRUT (R) AHYUT (A) BT T&T W10 el 8|
X 3. 3ffiBYT (A) U & 2R BRI (R) 3T g

v 4 SAYDHYUA (A) 3T 8 3R BRUT (R) G 6|

Q.10

Ans

U Yeremar 72.6 fasdAvder @ wfy & amr s g1 15 fAme # 7y e e @ g am s
711312 T
X2 205 faar
#316.22 T
¥4 18.15 et

Q.11

Ans

U G $ad X IF TS SR W1ge A §odl ¢ | fad! faey féq 39 g § 59 1Y ¥its Al 3R
PSS HIH B AT B U 5 - 4 YTl 39 (&7 gbM W foba Evs A & 7TW?

TWRISd Uy, TuT = fou 0 HyHl & gey J Fgfafag § 9 oH-ur a9 87

B 1: Ul TIes A DI G- SR 81, T 3 b U o 7T TS A R WIgs HHW B WA &
U 5 : 2 GBIl

FYH 2: gfc; 9 U Wls s A o] T HH U HH 13 24P i, Taid dd Y T ks AN &I Tl TqH
Tgd, dl 90 U WhI5S HIHN & UETI, §d U s AFN &1 T ¥ 348 gidl|

X 1. Had S 1 7 T AT SeT Uy BT IR S & o v B
X 2. Had HYUF 1 g1 Had HYF 2 H 1391 7181 ST WY &1 IR & o (08 g ¢ |
V5 YT 1 AR HYF 2 A1 a1 7T ST U BT IR & & Y gat el B
X 4 Had B 2 F T a1 SeT Uy BT IR &1 & o T g

Q.12

Ans

I x FT 22%, y & 66% & TWET §, aF x: y F qod A B
X1 11:6
X2 2:5
X31:3
4 311




Q.13

Ans

10 st & v wog Fr 3itwa g 27 a€ §) ofg v BT OEg o &4 € o e 25 a9 @ o B
38 B 1 3y wa W S wag o G g

X1 55 ¥
X2 g5 v
X3 50 9%
V4 45 I§

Q.14

Ans

g U a¥d WIE! oo o0 Tohe § HFTAM &3 W 13.5% Bl Fe, AR hiSC HIs & HIGH H WA B

TR 6.25% HUHR YRATdd AT fe e = G A BT YW ebg | a1 gl dl 38+ a¥d & g 2y &1 YidH
foar gidn| ifds1 areda o 39 39 9% & [¢¢ el 340964 BT YA B Ul foaH T 229064 &1 YIAH 66
febaT T 4T y 1 A1 a1 R

1. 38752
A 2. 35700
< 3. 38554
X 432988

Q.15

Ans

T & qUIieh 59 YR & (b W TReH &1 Udh &¢I, GER] TRe] & &l 9¢ Uid o sRIaR o, 3R Guil 9% &1 al
¢ O, TERI H¥eAT & Ueh §¢ 9Id b R1aR ¢ | e ST o Ui T 3R W T o a1 &b A1 1 GRTHa
1348 S| GUI AT B HF [T gRTT?

X121
X2 15
3 30
K4 24

Q.16

Ans

36, 108, 3T 156 FT Hgadd THATTTIF AT Fl
X19

v2 12
X316

x4 36




AT e ufafeT gag 7:55 991 3R R I Fdad € 3R gug 9:25 90l Hafay ugad 21 graifd, U 2 98 gag
7:55 &0l U TR U Ml oifdeT gag 09:20:30 §o Hrafey ggd|

Hid U U S U U SR al 718 THBRI ] G S &7

YT 1: S A = Gl ST A A1 b 2 I R A Gl S e 91 b 2 9 | @ B
T 2: TFTD! = 2 G ST WIHI A BT 2 TN F R A G ST FH 1 1 > 4 § 7 B

T 3: G112 8 o W T ) 2 e @ i A9 g o W a2 T &

- ;}ﬁwﬁuﬁﬁuﬁamﬁaﬁﬂﬁmaﬂﬂnﬁﬂm%ﬁﬁﬁwzﬁm%l
;-112‘?[1 R 2 H I U, YaH B 715 WHBRI ST FHUH Edl 8, Wi HY 3 el Hdl 8|
;;;rz R 3 H I YD, Ual Bl 5 WHBRI B GHUT BT g, Wb B 1 g1 el g
X 4 9 H G BIg Hl DY, UG D1 TS FHSHRI BT FAUA T8l Bl S|

Q.18

o a®-b* =602 3 a-b=2% a (a®+ b?) & FT AT HI
Ans X 1. 240
V2 202
X3 156
X 4. 260

Q1 ofy sre whafs w7 ¥ Ty fR e € G T S e Y A9 geree 24000 B, =S S
229faera 9fa av § 3K 3=t v a9 2

Ans w1 749284
< 2.35204.9
< 3.34825.5
X 4.374288.8

Q20 28 FEgat = T 7T x TP F BET To¥ F TAS & IR w7 40T §, A x FoTT A
F
Ans x116

X2 15

X3 14

v 4 20

Section : Reasoning and Logical Aptitude




Q1

Ans

U (3T $e HINT H, 'PLOT' Bl '63' & &0 H [oR@ ST 8, 3R 'soup' &1 '71' & &0 H o orar g1 €1 T8 &
YIS & SR Fofifad # 3 oH-91 yel firar g2

Req DC
(i) LIKE (W) 56

(i) DOSE | (X) 37

(ii)) MINT | (Y) 53

& 1. Pad i-X | iii-W

X 2. 5ad i-X , ii-Y, ii-W
X 3.%ad i-X , ii-W

X 4. 5ad i-Y, i-W

Q.2

Ans

I Y= BT 79 Fifore R T=t W yeR Jdafta § o ver Fafafaa gy 9t dent w@d9fita 7

(Fite: TEmse #t 391 i siwl | aig fam, guf Jemai wr wftrarg #) st arfee| Serevur & forg 13 i - 13 w
mﬂﬁg;hsmmmmmswaﬁmm%l 13 B1 1 3T 3 A s 3R 3P U 1 3R 3 W AfHaAE H1 FT
rgHfa )

(24, 12, 169)
(66, 14, 263)

X 1.(61, 13, 211)
X 2.(21,17, 210)
& 3. (47, 15, 273)
X 4.(25,11,127)

Q.3

Ans

Frafafea e g o Tad ug &1 999 B3
458, 230, 116, 60, 30.5
X 1.305

o 2.60
X 3.230

< 4.116

Q.4

Ans

TS BT H, P, Q, R, S, T 3R U 10 & B faandf $a 100 St & & IeT1-3T 3ic UTd H3d &1 T 3N S F 3l & oI BT Srgurd
PHRT:2: 381 P HI50% SB UK GUEIRPIP A5 3F PHUK GU S| U BT P GRT UT 3P A 1.5 [T AB UM TR THI U
A HH AfhT R T TS 3w U §U L1 Q B T 20 30 SfUF U §U | T 3R U F 3ihl & oI S6URM: 4 : 5 FT U B

& S IFET F SR R FufifEa § A s aw@ 82
I. S BT 90% 3 UTed g¢ it Ift & walflre 71
II. P 3R Q & 3! & S BT 3JUTd HART: 5: 8 B

X 1. pad

o 2.1 3R 1T
X 3. %ad |

X 4aaisRAag

Q.5

Ans

e fayfaemea ®, 88 B A 7iOTa uraasH forar 1, 90 BN A &} ureTsrw feram uT, 64 BT A Shafaw= ureaww forar T, 22
BT A TG 3R SHafaw ursuseH foram 4T, 28 ST A T 3R &) forar U1, 24 BE A &Y 3R shafagm= ureusH forar T,
3T 10 B A N urTm forw &1 31d B P faq fenfat 3 Faa nfora ureasw ferar am

X 1.44
X 2.52
X 3.50
& 4.48




Q.6

Ans

TP UY 3N ISP 91 &1 B (1) 3R (1) 3T e &1 3muspt gg Mufiva w1 @ for syt § four war 32T uy +1 IR A & forw
JOiod/TaRae @ 3ryal T8l | gl SYU-l P ufeT R ITF uyTd Ifea S<R FHuiia Fifem

wy: afe Fifde, M &1 uig ], @ w1fde &1 sngar I« ddy 82
(1) 3rwgar, whfa @) arar War & g g @ ¢ 3|
(1) ST, ST & gIST WRId B Ul B

7 1. 3pd HYF 1| H foar a7 ST Uy BT IR o1 & T Tui B, e 3hd Hu | H faam T Se1 Uy b1 SR 34 & ey TaY
2

o 2. 30 U | T a1 T ST Uy BT IR oA O (01 T &, SIaih 3idhal HU |1 H o 7 SeT Uy &1 SR ¢ & o1e uafed =gt
|

X 3. UY BT IR 1 F faw S Syt | iR 1 H fean mar Ser vafw 98 B

X 4. 9% BT ITR &1 & forg S Sy | 3R 11 H fam mam SeT 3mawaes B

Q7

Ans

sl Bt A1 aifdh e w0 § afRid &3 3R IR SrgHH &1 7a B3

1. Y91
2. YRd

3. fay

4. IREUS
5. SEIUS

X 1.42153
X 2.53421
o 3.14235
X 4.14253

Q.8

Ans

R g AT Y €, R & i fel Fifda a8 & 9w € ok o e 71 faww <reg &1 T A9
* 1. g

o 2. ST

X33

X 499




WV 3g gl F TTa w S PfEE wEfY gEer # v REa () # sfawwfE w6

P[e16]-

Ans

&
v @

Q.10 9wy f e § R a1 & fsed saifesa 1 8iR 1 few e § | wy= @) I ura g, Avfa & 1% @ an fased arf$e =u
A YT BT FHAIU ST (H9) B

Zg :l:ggwﬁgf;m;%'l
DU TS IR AR 8

Bt o s 3 )
Ans X 1. e | R A& 11 SFEROI BT 7
X 2. B | 3R 11 ST SR BRd B
o 3. Had e 11 STERY T §
X 4. P e | TR BT 2




Q.11 W%F%mwﬁﬁmmﬁfmmﬁmm%aﬁvwmwwm%W-WWWWW
<HeRa T8 82

-
=
<—

N
| &5
oo | =P
|2 |y

Q.12

U D A ST 1T 3FTHR MN TR I8 SF &1 [yl H, Feifdd oefd & 98t auur wiafad & 9o $ifon|
M

gY5pmS4

N
x.7Smqc¥Yp
v2pemqey¥Yp
xaphemdg¥Yp
x+hemqgeprb

Ans

Q.13 %A'ﬁhg'aﬁm%, B "[UIT" &Y SRITdT &, C "IeTa &Y SRITdT 8, MR D "HIT HI gxiiar 3, af Fruferfaa awftezor &1 e

15A10B24D12C5="7
Ans w 1.30

&K 2.10
&K 3.5
K 4.6




Q.14

Ans

A, B, C,D, EGﬁ?FWﬁmeﬁmﬁﬁaﬁ% T IR P 3R G4 FIP 931 | TP PT ATH 3(T-3E7T &
Gﬁaaﬁa SlaeR, AW, Fab, Rerd o SR &1 B, D F 1€ 3R g ™M W &l C, D F 315 3N F R WM W 81 b 3R
AP o dad Stees 38 21 THPNR, aﬁa%aﬁﬁﬁmwélﬁﬁaﬁwwwaﬁélFw&r&ﬁﬁ%lcw
IPIA 21 E, F P FHpvead veRit T8 1

& € R F R W Fafalad # @ S99 99 22
I. E U SoilfaR g1

I1. TaeR, e P T8 3R TR RIF R 98T 21

111 SR, A% & S grE 3R A8 81

& 1. 5ad 11 3R 11l 981 §
X 2. Fdd | R
X 3.l iR ud g
X 4. Fad | AR 1T E

Q.15
Ans

TP H&T H Ude HUR T 229 3R 1 A 273 WM W 8, 39 P& A fra o 82
X 1.30

X 2.37
o 3.48
X 4.44

Q.16

Ans

3T Tob & TR TR NAPTUNE, T M3 UHR ¥ RCPGGPW I e 81 CURTAIN 34T R TWEGPKC T
TefAd 81 TAM a9 &l 9Tad Hed §U MEfiiad o 8 S -1 el ffe g2

i. LOGICAL (W) WQOMFGV

ii. MOUNTED | (X) KRPMPDG

iii. FIXTURE | (Y) TGDTCMP

iv. CERTAIN | (Z) ZKHGGTW

X 1. Bad ii-W, iii-Z, iv-X
& 2. Bad ii-W, iii-Z

X 3. %ad i-Z

X 4. 5adi-Z, iv-Y

Q.17

Ans

fFrafafad Ser™ 9t wryde ufey SR 3uF ugTd fAT T uy &1 3w AR st wyA § € S 3l aral H s e g
3R FHuffea w1 8 1% FH-91 fepd aiffe v d gaRor #ar 8@ &

gy fiferar & aeira Ry &) @@= 3R i@l &1 371 i 8) ST @ RrieT sRr gE @ f 91 & 39 ¥ fydhisiam ame fia aufe

%sa%ﬁiﬁ%na‘ramélﬁmﬂﬁmamﬁvwwﬁmﬁm%aﬁﬁﬁmmm,mﬁmwﬁ%ﬁmmw
|

& 7S SR & Fufafe & 3 - frsed ferar o awar g2

A. Hiferar 3 Rfga $o Tauma Rigrsi &, apd 7t @ve 2 fasRa 78 gtar 8, s aror e & fadtsfam #1 siftear 81 ardt 21

B. ¥ & fafvad faefisfam &t gem oft apa &1 vas wrd 81

c. Jfafvaa fadiefam daa Riggei & fw sais-a 31 aw! ¥ fog, shfaq wea & R fadisfeam smawas g1

D. i3 # @ iR siiat &1 1 smHdR W far g 31

X 1.FadA B3R C
& 2. $IAB

X 3.%ddB, C 3R D
X 4. FIAASRD




O e & T & A s Rufat A & w2 § 37 & Rl e s'm W =

Ans X 1.22
X 2.35
o 3.33
X 4.39

Q19 ‘A+B HTIFRF A BATEIRI
A=B' FHTAYE F A BHTHERI
‘A#B HTASZF A BHTTIRI
‘A& B BT FH A BHTUATRI

SWRIF PRI P SATYR R, T HIo1E fh 12T T8 wy=f # | S9-91 FHifed ey 1 $RUT 8 Iodl e_Pd §, i 78
e mmefF HaAN+Y=K=C"¢§I

SfHBY: H, U B} 989 &1 Ufa 872

PRUA:D & U

PRUIB:U#C

Ans X 1. 3By F WIS A 3R B S RO B
X 2. 3ifpyT & NS Had ABRU B
o 3. 3BT & fie Fad B FRUT G
X 4. 3fHYT S P TV A R A€ B BRUIBI

Q20 JfeRIPIT YT H TAd UG BT I Be:
X,Z,B,D,F, G
Ans W 1.6
X2z
K 3.D
X 4.X

Section : English

Q.1 In the following passage there are blanks, each of which has been numbered. Select the correct option to fill in the blanks.

What draws India closer to an obscure and indifferent picture are the 1. tribes. They own their personal identity, far
from the 2. trend and economic development, as Adivasis having their own language, religion, festivals, cuisine,
dance and music. With such an 3. culture and hospitality they also significantly hold a contrasting patriarchal and
matriarchal society. The lively 4. of the tribal community in India stretches from the remote villages tucked in the
Indian Himalayan region to southern-most tip of India and from the farthest corner of North East India to the dunes of

Rajasthan.
Ans «" 1. 1-indigenous, 2- contemporary, 3- enigmatic, 4- tableau

25 2. 1- original,2-unique,3-oppressive,4-representation
< 3. 1- immigrant, 2-current, 3-alarming, 4- culture

/< 4. 1-obsolete, 2-modern, 3-enchanting,4-presence

Q.2 Select the word that is closest in meaning (SYNONYM) to the word given below
Aegis
Ans 1. Intensify
" 2. Protection
/5 3. Aggravate
/5 4. Spread




Q.3

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct
sequence in which these parts can be rearranged to form a meaningful and grammatically correct paragraph. Opening and
Closing sentence indicate the start of the paragraph and end of the sentence paragraph.

Opening Sentence: Born on October 5, 1983, in Los Angeles, California, Emma Stone's journey in the entertainment industry
began at a young age.

P. While attending local theatre classes, Stone discovered her passion for acting and soon started auditioning for various
roles.

Q. Despite facing initial rejections, Stone's determination and talent eventually landed her a breakthrough role in the
comedy "Superbad.”

R. Stone's career skyrocketed as she garnered critical acclaim for her performances in movies like "The Help" and "La La
Land," earning her an Academy Award for Best Actress.

S. Inspired by the likes of Meryl Streep, Stone continued honing her craft and exploring diverse roles, solidifying her status
as one of Hollywood's leading actresses.

Closing Sentence: Today, Emma Stone stands as a respected figure in the film industry, celebrated for her versatility and
contributions to the world of cinema.

Ans X 1.SPQR
& 2.RQPS
«” 3. PQSR
& 4.SRQP
Q.4 Select the correct conclusion based on the meaning of the underlined idiom:
Statement: Splitting_hairs is futile and will not resolve our problem.
Conclusion:
i. A superficial investigation will suffice for the problem at hand.
ii. Making peevish criticisms on trivial matters will not lead us anywhere.
iii. A difference of opinion is not tolerated in a dictatorship.
Ans #5 1. Both conclusion (ii) and (iii) are correct
#5 2. Only conclusion (i) is correct
" 3. Only conclusion (ii) is correct
Z5 4. Both conclusion (i) and (iii) are correct
Q.5 Select the correct conclusion based on the meaning of the underlined word:
Statement: The trade embargo has impacted export revenue.
Conclusion:
i.The new trade laws have exempted goods from duty.
ii.Trading in certain goods has been temporarily stopped.
iii.The government order has put restrictions on trade with some countries.
iv.Exports have increased after signing of new trade treaties.
Ans #< 1. options i, ii and iv are correct
#< 2. option i and iv are correct
¥ 3. options ii.andiii are correct
/< 4. options i and ii are correct
Q.6 Select the word that is closest in meaning (SYNONYM) to the word given below
Equivocal
Ans «" 1. Ambiguous
25 2. Occlude
< 3. Unanimous
< 4. Obstruct
Q.7 The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error'.
I don't know the reason why he/ has said all this yet it/ puts him in a bad light.
Ans 75 1. puts him in a bad light.

" 2. has said all this yet it
25 3. No error

25 4. 1don't know the reason why he




Q.8

Ans

Match the following groups of words with the correct one-word substitutions.

phrase one-word substitution

A the act of looking into one's mind 1. hallucination

B. pleasure mixed with sadness at recalling happy moments in the past | 2.reverie

C. a false perception of things that do not really exist 3. introspection

D. a state of absent-minded davdreaming 4. nostalgia

2 1.A-4,B-2,C-3,D-1
 2.A-3,B-2,C-4,D-1
o 3.A-3,B-4,C-1,D-2
X 4.A2,B-1,C-4,D-3

Q.9

Ans

Select the word that is opposite in meaning (ANTONYM) to the word given below.

Corpulent
2 1. Aerial

< 2. Anecdotist
25 3. Narrator
« 4. Slim

Q.10

Ans

There is a sentence that is missing in the paragraph below. Look at the paragraph and decide in which blank (1, 2, 3, or 4)
the following sentence would best fit.

Sentence: On the other hand, we find persons engaged in worst types of corrupt practices living in peace and prosperity.

We often come across situations and incidents, which appear quite contradictory to the known laws of Nature, creating
doubts about the impartiality of divine justice. ___1___ For instance, honest, duty-conscious, morally elevated person is
often seen caught in adversities in one form or the other, or is suddenly struck with a great misfortune in life as though
he/she were being punished by God for a great sin. 2 . An idler wins a jackpot or inherits a fortune from
unexpected quarters, whereas a hard working intelligent person is found suffering endlessly for want of basic necessities.
3 . One person achieves great success with little effort, whereas another does not succeed in spite of his best
efforts. 4 . Such phenomena are popularly ascribed to the role of fate.

25 1.blank 1

«" 2. blank 2
< 3.blank 3
X 4.blank 4

Q.11

Ans

Which of the following statements correctly use the idiom ' pour oil on troubled waters' by substituting the underlined
words?

A. If you unnecessarily interfere in others' affairs, you will suffer yourselves.

B. Fed up with frequent strikes, the management decided to ,deal with the situation decisively.

C. The government ordered a judicial enquiry into the communal riots in a bid_to pacify the situation.
D. From his behaviour it is obvious that someone has prejudiced him against me.

/5 1. Both statements A and C correctly use the idiom.
«" 2. Only statement C correctly uses the idiom.
/< 3. Both statements B and D correctly use the idiom.

/5 4. Only statement B correctly uses the idiom.

Q.12

Ans

Select the most appropriate meaning of the given idiom

Go down like a lead balloon

#5 1. Put yourself in a tough position in order to support someone/ something
/5 2. To gamble everything you have
25 3. To surrender

" 4. To be received badly by an audience




Q.13

Ans

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option ‘No Error'.

We will have to spend a few/ hours journeying down in a bus,/ which is bound to take its toll.
«" 1. No error

25 2. which is bound to take its toll.
5 3. We will have to spend a few

/5 4. hours journeying down in a bus,

Q.14

Ans

Four sentences are given below. Find the odd sentence out.

A. A new analysis has determined that the threat of global warming can still be greatly diminished if nations cut emissions
of heat-trapping greenhouse gases by 70% this century.

B. With research showing that additional warming of about 1 degree C may be the threshold for dangerous climate change,
the European Union has called for dramatic cuts in emissions of carbon dioxide and other greenhouse gases.

C. The most dangerous potential aspects of climate change include massive losses of Arctic sea ice and permafrost.

D. “This research indicates that we can no longer avoid significant warming during this century,” said NCAR scientist
Warren Washington, the study paper’s lead author.

2 1. Sentence A
X 2.Sentence D
< 3. Sentence B
" 4. Sentence C

Q.15

Ans

Match the following groups of words with the correct one-word substitutions.

phrase one-word substitution
A. an annual calendar that contains important dates and time | 1. connoisseur
B. one who is a critical judge of any art 2. almanac
C. one who does not appreciate art, literature or music 3. utopia
D. an ideally perfect state 4. philistine

25 1.A-3,B-4,C-1,D-2
o 2.A-2B-1,C-4,D-3
75 3.A-2,B-4,C-1,D-3
75 4.A-4,B-2,C-3,D-1

Q.16

Ans

Select the most appropriate meaning of the given proverb from the options

Better late than never
«” 1. It's betterto finish something late than to never do it at all

/5 2. It's good to be clean. God is clean, and you should be too
/5 3. People who are similar spend time together

& 4. Don’'t make someone angry or hurt someone who is helping you or paying for you

Q17

Ans

Arrange the given sentences (1-6) in the correct order to form a coherent paragraph.

1. They had escaped the dark world and were enveloped in a dazzling white light which almost blinded them.
2. The fountain of immortality sprung before them from which they collected the elixir in a large conch shell.
3. The next moment, the boys found themselves floating over misty clouds.

4. They gave him some elixir from the shell and he immediately acquired an ethereal form.

5. It was then that they saw the Formless One before them.

6. There was bliss and tranquillity around them.

725 1.512346
75 2.352146
/5 3.614523
o 4.316254




Q.18 The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option ‘No Error'.
He has been read through/ the archives to research/ his article on the town's history.
Ans 25 1. No error
" 2. He has been read through
/5 3. his article on the town's history.
25 4. the archives to research
Q.19 The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option ‘No Error'.
As noon approached, sunlight filtered/ through an branches, casting dappled/ patterns on the cobblestone path.
Ans " 1. through an branches, casting dappled
25 2. No error
/5 3. patterns on the cobblestone path.
25 4.As noon approached, sunlight filtered
Q.20 Select the correct conclusion based on the meaning of the underlined word:
Statement: After his father's death, he became a prodigal of his fortune.
Conclusion:
i. He gained wisdom and spent money cautiously.
ii. Being the only heir, he inherited all his father's wealth.
iii. He squandered his wealth recklessly and lost all he had.
iv. He assumed the responsibility of increasing his father's fortune.
Ans /5 1. Both options ii and iii are correct

" 2. only option iii is correct
25 3. only option iv is correct

< 4.Both options ii and iv are correct
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Q1 Saarg uRad= UeRlA Yadic (CCPI, 2023) & ey ¥ F=ifdrd 3= w® far sifvne:-

1. CCPI12023 & HRd &1 Y& | 2 I T JUR g3 B

2. wﬁﬂémﬁf@mmﬂqaﬁ FHIeYe IR FATHC TR Aeqh FeIATd gRT THIRIG 31 75 Ft
3. Ugl, sﬁ?iﬁtﬁﬁmﬂ-ﬁﬁwaﬁﬂﬁﬁﬂ?l

4. G20 S0 & YA TIAT T

SR 3T TT Hy & & SH-T1R FYF TE B2
Ans 1 HUT1, 23R4

X 2.F¥2,33R 4

X 3.%YT1,3,4

X 4 0f

Q2 TPty URER WA WdaIUT 2023-24" F HEY F iR SUA W AR i

1. WNFHS‘:%{_\E;?ITWW@&WT%I
2, ’CIEICMR AT TH SFHUT TR (NARI), TO gRT faam mar |
3. T A, AHARIGY 3R SaRETAS (CAB) W&l & T ICMR 3R IPT T8 ST WRIH (NARI), YO §RT 9gTdar
e @ TE A
SR 2T U HY= H A SH-91/ YT LY 2782
Ans X 1. FHYT1 3R 2
o 2. R TEE
X 3. FYT23R 3

X 4. BYT2

Q.3  ATMAN ATH® IPHTAl $% (CoE) & ey ¥ fA=ifrd U W faar Fifoe:

1. ATMAN &1 RT 9TH Advanced Technologies for Monitoring Air-quality iNdicators (Tsaivs TSI BIR ﬂﬁ?ﬁ‘T@?
piferd! gfghed) 21
2. YR M T=e, fRwl 3 TR 2023 # 396! YT 81
3. g8 919 UG &t 9g1 & T W=l w0 anTa ara dur fHafor ik AymL ermarsit & fFrafor or Ha 21
%wmmmmmmﬁmwmmﬁmmﬁﬁmﬁﬁmm
I
SR 2T T HY= H A FH-91 $YF T8 87872
Ans X 1.FYT1,2 3R 3
X 2. g g g
X 3. PYT2, 3 3R 4

& 4. FUT1,3, 4
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Q4 S-S R4 fead 2023 & 9y § f=ifed w1 w faar S

1. 11 TR 2023 F! AT URAT TR W FH-SATG1T TR feaw w=mar wan|
2. TE TGS YT faRET H3T Y I701 Sl IR Ygioifer o4 & R 81
3. YA A 39 PP H & PM JANMAN (H1TH - Si=TetTfar Srfeardt =ama Ag1aifiam) ot re3imd ot
4. 9ivy A 39 STdHH & SR e YRd o arr & i g8 3t RRars |
SR feu T HYE A A FH-914 FYF T 3/8?
Ans X 1. %HYT1,23R 3
& 2. Y2, 3 3R 4
X 3.%YT1, 3,4

X 4 atuE

Q5 fAyffaa # ¥ fFa Ry deve® & 259 He1feRe & wu § g fear manr 82
Ans X' 1. PURH! TeRIoH

X 2.5 Rig

o 3. AH U

X 4. Rz Rig uarar

Q.6 IRA" gEud & HeY § Frifed syl W AR Sife:

1. 6 TR B YU HA g W A YRR T & guld GRA” & e BT STER0T fman
2. 9% WiSiae 158 &T YT UT|

3. R’ B gERT JSUId B BT TRG YT 8, FHST AATH oRTd & TP MeX & A1 U= @7 747 B
4. YRT A Ug Ui SATIT I @aT ATl

SR 2T U HY= A A FH-91 YT L 87872
Ans X 1.%dd BYT3 3R 4

X 2 i we g
X 3. BYT1 3R 2
o 4. BYT2

Q7 PEAEPIgEET ¥ maifoe fFar sar 21
Ans X 1.3ffgUew

2. BlcdH

X 3. da

X 4. @ Ag

Q8 gATEeS 371 WIS NUId 2023 (Wad [TwTH o) & AdY & HYA1 R faar &¥-

1. T &Y 2 °c | HH MR JFAFE: 1.5 °C T T FA & NG U F A B RT B3 $ o Wt y=rea FeAm)
2. 2021 B gaTT A 2022 H AP TR W Sfa=a S99 co, I | 1% P
3. SFTaRY-5[ 2023 F YRS A SiaT=H 44 COo, IS § 0.8% Pt 3R gfS gid 71

SWR 3T 1T Hy & & -1 FYF TE /2
Ans 1 HUT1 3R 2

X 2. FYT3 3R 4

X 3. FY2 3R 4

X 4. FYT13R3

Q9  TEEY 2023 TP, YR § YW YRd WA IR s i dtden Rl
Ans 11299

o 2.1.6 T
X 317
X 427




Q.10

Ans

yRetg wfayfa wd fafma 1S (seBI) A wrdwe frfal § TRl @) Yllas o1 ot graEfy § { ggayul wetdl Pt
oy 11 (S8t T frfe &) gareE fafy 8)

1 T+HEHT+3
X2 T+4q T+2"
X3 T+8 A T+4"
X4 T+2mqT

Q.11

Ans

Frafafea & @ fFaa W MR wwrs 2023 # i MR REeR- Sgaees T sitdr?
X 1. SRiE $URME 6™

X 2. RgBad

X 3. At s

& 4. e fean

Q.12
Ans

TR & TP HAHBRI FATER & gl 2023 # ust off ftar ur
o 1. A T R

X 2. ot feemme g

X 3. 41 W AR

X 4. 91 DU <9 G

Q.13

Ans

AT AT T & Uty Arureff s g2

A) 9IR T AT fa|
B) faRlv ¥U A HHER TSI g (PVTG) & Hew! &) uryfiwar frasf
C) T IT VAT TRBRI AT - IR R HHART |

X 1.AC
X 2.A,B,C
X 3.BC
 4.AB

Q.14

Ans

fFrafafaa & @ $19 91 2023 & YR T 9T WD e 82
K 1.d

X 2. 3EHAIEIG

X 3. TR

o 4.56R

Q.15

Ans

THed §R sead fYuld 2023 & Tay # fA=ifea w1 w R #ifve:

1. HRd 125 M A F 113 " W

2. f¥uré & garfaew yRa ¥ a= @Y ARET YT (wasting rate) faza & Taifis g1
3. THgd §R §399-2023 H URd BT T 34.6% &

4. YR ¥ 3eUUIYUI B & 24.7% g1

SWR 3T TC Hy= & A -1 FYA TE 82
X 1. FY1, 23R 4
X 2.FY2,33R 4
& 3. FUT1 3R 2

X 4 R




18 Tt 1 iR gt 2 B AR PN IR = 2y T B B U FRG TEl IR BTG I

SEESE
(@R (3ude)

A. PSLV- 1. EOS-06
C57

B. PSLV- 2. TeLEOQS-2
C56

C. PSLV- 3. DS-SAR
C55

D. PSLV- 4. Aditya-L1
C54

Ans « 1.A-4 B-3 C-2 D-1
< 2.A-2 B-3 C-4 D-1
2 3.A-4B-2C-1D-3
2 4.A-2B-3C-1D-4

Q.17 |cc Yo fhde fay #u 2023 & Hay & fA=iferd 3= R AR Fifsm:

1. faRTe Figd! @t gafte &1 gday f@ardt g=m ma
2. HigwIg XM gAtHe d a9 WeT fdde a1 ard Hgar @1
3. 39 gHAlHe Ft Aorar-t gfdror snptet 3 &

SR feu T HYE # A FH-914 FYF TG 3/8?
Ans X 1.%ad HY2

X 2. ud g
X 3. Had HY 3
o 4. FYT1 3R 2

Q.18 qeR 2023 F FTAR 3T Seare A ghar &1 ST qed TeTdw
Ans £ 1. USA

2. URd
X 3. UEds
X 4. 5@

Q.19 @19 TRATS Jal # 3000m Tueaw § wWof yge siaq 9 Tgd URdAT 739 947
Ans X 1. TTet I

X 2. TR $ER

X 3.7e Rig

o 4. ST i

Q.20 YR AT & Tay A fAifed U= R foar Fifv:

1. YRR AT 7 TR 2023 B U afdwpd fds e=1a (vWT) &1 Sgure faar g1
2. U8 JUT HRAIY 1 F ugell afidwpa fas aa (vwT) 1
3. 9 G &7 IGUTe HRTY $ WA B o7 e (SFTS) # fvar mam

SR T T Hy= & A SR FY 0 2782
Ans X 1. @it ud e
& 2. FUT1 3R 2
X 3. PYT3 3R 4
X 4. FU2

Section : General Studies




Q1

Ans

frafafad sy ) far Fifv:

1. UTTHA STaT AST1-UTT (PMAY-G) &1 Imeior &3t & 2021 99 9t & fore Smary W &34 &) WReR & ufdagd &
ST AR fomam T AT

2. dFeaTd ey aeI- greftor SrefifaeT = (DAY-NRLM) &7 3837 fafay iR emueR) WRISHIR &Y 9gra1 3H
greftor fefar & F9 HAT R

3. ivIq TSR ITH TISHT (SAGY) TGl HI Aisd 7id fAwRyd w3 & g menfed sl 31

4. $-vurgd uRaern ¢x1 @1 it vemaal ¥ fefedtiewur, urelRiar 8k Swrefia e & fore v wga 31

IWRIF | A P HYF TE 82

X 1.1,2,33R4

X 2.%ad1,2, 3R 3
X 3.%ad1,3, 3R 4
& 4. 502, 3, 3R 4

Q.2

Ans

fFrafafEa o & v ora= &) Jam a1 & 9 | o S S 82
F SEASIFRICCR

X 2. facoh TR

o 3. HHJS Ioa

X 4. JUAD ISa

Q.3

Ans

frafifla & @ B @ e Tt § o 7o g8 7@ Tedt § ok Y § gw g ol @2
o 1. &0

X 2. gTeRas

X 3.3

X 4. Fead

Q.4

Ans

frgfafaa & @ #19 9 gfta #ifd & TeRTES TyE 3

A) &3 & dtar e sRyaTTar ® gfS )
B) &4 Uy dcdl &Y HHT|
C) YSTd WX $T HH g
D) HaT &7 Hifa® 3R Imaf=e &Rl

« 1.A,B,C,D
X 2.%ddA, B, C
X 3.%ddA, C,D
X 4.%ddB,C,D

Q.5

Ans

FafeRad Uil & I Jeifdd Iear 9 gAferd SIS, 3R el & i fau 1Y Se/fasel 1 IR Hdb el
IR B 94 ST

-1 (@O | -1 @)
A ®isar | ) s

B. gfedl | (if) Ufg® §re
C. BN | (i) P

D. URIEY | (iv) ORI

25 1. A-ii B-iii C-i D-iv
25 2. A-i B-iv C-ii D-iii
¥ 3. A-iv B-ii C-iii D-i
25 4. Aiii B C-iv D-ii




Q.6

Ans

frafafad wy= R R Fifv:

1. gdf e 3R ufddt gre afift veifeal w firea 81

2. YR BT 7w, fazd &1 gad gt S arar 7 g

3. Ueds I yataa ydaurer, gdf furera &1 umr §1

4. JagsT ydauTar, ferr ¥ e UeR) @1 U yaar A fAffa 3, ot oivd 9us 9@ ¥ U 300-400 m & i @ FHas W B
IWIed A | HIH-Y HY T 82

o 1.Haq1,2 3R 3
X 2.%ad1,2 3R 4
X 3.%ad 1,3 3R 4
X 4.%ad2, 3 3R 4

Q.7

Ans

Fruafafad FyE R faar i

1. 51 Rara, WisR Gewig & w1 3R SRl &1 sifiaa B
2. qWIaTe Us IgXard! 3w} faarurT 8 R 47 & 1y yeuer saferaira srgyd &1 WAy far sirar g1
3. XA & Ui YR GO & forg sifvard a oM arat gat &k 7
%m%wg,swmaﬁwmqqﬁmaﬁ(aﬁ@)ﬁﬁw%,Wwﬁmﬁm%mﬁ%wwﬁ%ﬁw
[
SWRITd | A B3 Y & 82
X 1.1,2,3, 3R4
X 2.%dd1, 3, 3R 4
X 3.%ad2, 3, 3R 4

o 4.FHaq1, 2, 3R 3

Q.8

Ans

Frafafad Fy= R faar i

1) fafewr shufrafdre sl gRT a1d TeR faee Y YR 3r=1ifd BT S AT SraT ATl

2) TETHTE RIS B HIRA & IS 3ies A9 & =9 # ST ST AT, 3R § WRd 3t 3T B MUET HA aTed Uga afad Al
3) YR BT ST F AHLAE UG | WRTUF ¢ F 91§ GUTY 9% T4 3 YR | (INA) T 39

4) YTd g YRA & 9ad $H 1Y & WaAdl 941 3, 3R ffgwar aifae THIRITIA & Wew |

IR § A PIH-A HYT &l 872

X 1.1,2,3R3
& 2.1,2,3 3R4
2 3.1,3, 3R 4
X 4.2,3, 3R 4

Q.9

Ans

Frafafad sy w faar a3
A) 3T T T9e & ue ifuf~aw grT wifud fe o §1
B) Hautfe e et mifekat wfaur & ure #wd 81

X 1.ITANMRITBITR

& 2. ARBIANTT

X 3. FATATIZ

X 4. FaTBII ]

Q.10

Ans

2011 F FTUAT & AR FHaferf@a & A fra wsu A Ringura g9 $9 82
X 1.9

X 2. 3nfs=m
X 3. TS
4. fIeIRY

Q.11

Ans

YR wfae A, Fx gR1 5T & Teaural ot FAgfat fea A IR A S 72
X 1. s fosH

o 2. FIET

& 3.3

X 4. %™




Q.12
Ans

e AT & ST gend B g fHeA P2
X 1. DiTsH

o 2. T

X 3. P Hehag

X 4. 9I¥sH

Q.13

Ans

2011 Ft FTHIUFT & SR f5a I A A9 =i $1 ufowra "affie 82
X 1. fawt

X 2. ToRTd

o 3. HERTY

X 4. ISR

Q.14

Ans

frafafad wy= ) far Fifv:

1. 733 HauTfe T=NYA AW A et Wit Aer @1 G gut ver fFan

2. TaTad (SR &3 99 ) siftif gy, R T & Saerda 85 a9 varadl & wraurl 31 favar war g1
3. HRd ¥ ¥ 9T 24 35 1 AP GATdell 11 feaw A1 o1 g1

SWRIF & I BIF-A1 FYT TG 87872

X 1. %ad 1
& 2. $Hdd3
X 3. %ad 3 3R 4
X 4. %ad 2

Q.15

Ans

fafafad sy R far i

1. T 320 & S AR 3R e Jga &t gerar 37 & forw gfémr vlkrrs goa sauR &= (SAFTA) TuEia W gwier fau
M|

2. YR 3R Uifar & i fguela amur siia-fixiaR 2022 F R Teov 1.35 faferamT ARt sTer 81 mar 8, wiafe Q¥ 2021-
22 # gg 516.36 fufera s star uTl

3. SIS YT, f&0T TR § HRd &1 9ad 981 ATue HTfleR 21

SWRITd & & BIF-8 YT gl 82

X 1. %aa23R3
& 2.1,23R3

X 3. %ad 13k 3
X 4. %ad1 3R 2

Q.16
Ans

Rigy a1t Tvzrar &1 gswn =« GRT GIST TT AT
X 1. 3R, L. Feif

X 2. T S HHER
X 3. W I A=i|
o 4. T TIGR T W AT

Q17

Ans

Consider the following statements:

1. The Constitution of India designates Hindi in Devanagari script as the official language of the Government of India.
2. English was also an associate official language for a period of 10 years only from the date of commencement of the
Constitution.

3. Marathi and Tamil are among the languages that are also used for official purposes in the Union.

Which of the statements above is/are correct?

« 1. 1only
& 2.1and 3only

& 3.2and 3only
& 4.1and 2 only




Q.18 frufafad Fy= R faar Fifvm:

1. wRuRve, IfiR® U d deayr & ufa SaRerh gt 31
2. iy & gy afga Gl o1 o J@, AT F Jel B o G- & 9 ufara S $ifte T ghft
3. wifvise A fafla sraxiar ura 3 & a1¢ 8 Agufa §RTIPTT STUTadTer $Y GO Bt S Wbt g1
4. ifRve ® T9e & o) TeAl $ Il g 91Tl
SRIFT & A BIF-J HYT AL 82
Ans .z 1 Had1 k3
X 2. Fad2 3R 4
X 3.%ad1,23R 3

X 4.1,2,33R4

Q.19 e fafafy & frw @ ¥ siafa ufkae= 3R HsRUT 3maT 82
Ans X 1. qarea

X 2. i &

o 3. &ax

X 4. fodas &=

Q.20 fHfafRd FY R faar Fifve:

1. IR-GHAHHT TR @A a1t SR R P e 7 1564 § TG &< faam _

2. MRS 3R A= SiftraTival 1 siiger FufRa #31 & fiw wagaer wonehl, Wmewel gR1 O &1 7
3. 3RS SifoH TRa YiTe TYTe YT 3R IS AT W I AT BT Ia- e 8 T

ST | A HI-8 Y & 82

Ans g1 Fad 133
X 21,2 9R3
X 3.%dd 1 3R 2
X 4. Faq2 3R 3

Section : Numerical Aptitude

Q1 ofy srer e v @ wRfE gar §, ar 230,000 Fr wfFr or 3 It F v 49T wiy e frew @
Tgle A AT
Ans X 1. 33856.25
v 2.33745.92
A 3. 34525.65
X 4.33525.88

A2 Y SR I 7 I ETH W 960 m Tl G5 SIS BT B 64T e TaTg g & avrar |

e fa Mg ot 7 & Bi-T1/4 7 i Foprer o g v § @) & T o1 dors 1 2 Hm AW &
THY 3oitg, G & RIS 21 T 22

FYT 1: AT, AGHT & Srol & B Y 5 Ydhs Ugd ale Y& |
S 2: Ad 8 m/s P ITd T STl
HY 3: TWG 10 m/s DI I1d W G117

A X1 BYT 1 2R 3 T 91y o R Wi B
X 2. gyl Al Y U 1Y O R 9gId ¢ |
X3 YT 2 HR 3 UH 9y o R G4 ¢ |
v+ gHl dF BT T 1Y o R HI 93| e €




Q.3

Ans

U GHMaER M YBHR DI arel BHRE: 3132, T160 AR 192 Uld kg W TRIGd & AR I 9:2: 1 & U
feyarrert § | A areil o1 id kg ifdbd e 2238 FuffR fasan 11 €, GHIaR Sifdhd e W 2 ge G g ok
052+t 409 T TIH U H1 8| n BT A {1 RI?

X1 7

X2 4

36

X445

Q.4

Ans

U SIfeT 83 &1 99 3% ¥0 ¥ fAfd wedr e iR died o T & 91y 413 &9 ¥ ufkafdd giar wedr
21 80 HISY €M W Uiy safad wid Are fovam @y grme

SWRIF U, TUT 1 3T U ol & Yaiy | FufeRad 7 9 S19-11 [dhed 98l 32
&Y 1: YD SIS Uid A8 $780 T YA Sl & |

HY 2: 50 d1SR g IR Ui SAfd Ufd /1 $108 BT A Bl 8|

HY 3: 60 TS giH TR Ui Al Uid HIE $128 BT AH BT 2|

X 9 YA U 1Y o R H Uit AiET E )

X 2. HYF 1 3R IYH Y 2 & YA H Y Dl U o TR U4 g
X 5 HYF 2 3R HYF 3 TS 1Y T | 791 2
v 4 Tl By U 91y O R UG g

Q.5

Ans

gl I 3T B p%, I BI A & q% & aRI6R ¢ | Tl a6l bl HG IYD! A Y Ty HH gldl AR U B 31
DT AT Y 2z AT BI, 1 St B 31 3R U BT 34T BT UM m < n 1| SHT 1 aRafad Tgad 1T 3x
gl

SURIE WY, quT <1 13U U ol o ey | Fgfeiagd § 9 $19-91 981 82
HYT1:p, , ¥,z M, n 3R x & T HH: 40, 56, 3200, 2000, 6, 5 3R 67200 g
HYT2:p, q, ¥, z M, n AR x B AF HA: 20, 32, 1200, 5500, 4, 3 3R 83200 T
v 1 Gl Y HHA €|

X 2 G H F BIg HIl B HT el g

X 5. had HYT 2 JHT B

X 4 Dhad HYUF 1 Y1 g

Q.6

Ans

TH TE] I 25600 H d9 W TARFT I 21600 FT 70 AT g1 S S T 82

v 40 wfaera
X 2 35 gfaera
X 3 45 gfaera
X 4 30 gfoera




Q7

Ans

OF ¥ B gY T A &F H AR I o1l IfE 10 9 A1g gW 40 I F g AT & HF g7 H 7Y
fraer &7

v 112 9§
X213 I
X311 3y
X414 3%

Q.8

Ans

TEW & qpT 7 32 glawa # gfx A T F gor # 28%fRa Fr FA F T 7 HR 180 B
TE AT L

X 1. 280

<2 260

x 3320

+ 4 300

Q.9

Ans

TE TIATH TEA AT F o 567201 F s Sew =ifgw, aifR AT 9 ¥ o e an
X18
X2 5
X3 4
4 6

Q.10

Ans

U AT H, 3FAEIR M Fr 679faea Aa B4, 3 3FEaR N @ 339fae #a e ot w7 A9
10,000 2, gF Ycder IFHCAR & 9o A4l $hr FE&IT H 3T AT H

v 1. 3400
X 24200
A 33000
< 4. 3500

Q.11

Ans

364 HreT FEr TH LEETET 26 TS H Th @H & IR Har & Yeemsr & iy #@e] 9fg @6 § 799
FI|

X111 FreyasE

X2 15 Heyas=

X3 13 Freyass

v 414 HAedEs




Q.12

Ans

U {321y fae, S+, Usfa ofR Gl | U Udd = SAU1-3{UH bl ¥ diF UHR & U9 ad | ST 3R usfaa =
UbR A o U FHH T § &, Sdfds BeiH A 41 3R TS Y gRI & MU UbR A & U &l SR Tl
ThR A & U §1d | S+, TSfa 3R HelH §RI 59 7Y UHR B S UHT BT TS BT AU HHTE 3 : 52 2 Ul el
A A UBR ¢ & U T I | & | A1 [dehdrelt § Udd UHR & UF &I Uid gHT Sfell-3/ SHiHal 1)
EEIl

HUBYT (A) TR THI g [P STNAUBPRA T UAG U 1 32 & OH I, UBR B & Udd U9 &l 31 DI gIH I
AR YHR C & Ui U Bl 312 Bl gl IR &1 AR Ha 2125 &1 A HIoid [aT; TSa R A & Yl U
132 & A W, UFHR B & Ui U Bl 36 B g1+ IR 3R YBHR C o Wl U &l 36 & arH R 991 AR Hd
2110 B ATH HoId (BT AR FPEHAUBPRA D YIS U P31 H AH IR, PR B S YD U4 I 31 b A |
AR UBHR C & U U Bl 23 BI g1 TR a1 HR P 2210 I @l foid b

HRUT (R): T GHTIT WP THISH 99 AR 80 H3 W g4 U & g6 v 3ifgdia gayH faar g
X 1.

3MfYHU (A) 3R BRUT (R) ST T & 3R DRI (R) ATHHUT (A) T Tl WHIHT B |
v 2 AYFHUT (A) A § 3R HRUT (R) TA ¢

X 3. 3fUPHYT (A) TA € AR IR (R) T ¢
X 4.

UHYT (A) 3R BRI (R) SHI T € Afch SRUT (R) MUY (A) BT ! WP B 781 B |

Q.13

Ans

U W H gae &I Ulell SR Giug &I urell H faential &t w1 a1 13 : 9 4l ' [dential & gag &l
OTel W GUeR $I dTell § o & §1G, 3dd 01T 19 : 14 81 11 3 153 714 et =1 e o gawy femn,
3R Y e HH: 6 - 11 & 3FUd H Y8 AR YR &I urell H =MiHe §UI 3ie U ya & §1a e H Yag
@ U 3R aI9gR @ e # faenfiiat o T &1 Surd 24 : 19 81 T8l O 'n' &1 AF I1d Piferd |

X 1. 24

X2 36

V3 27

X4 30

Q.14

Ans

U Tl Bl &l UIgdl H 8 U & gRT 52 e 1 SR g8 UISU & GRT 60 [HFE T 4RT O 9l ¢ | aFl Uyl &l
U (IYd 999 & [T Teb A1y Wiel 741, Wi f9R19 U U 3qEg g & HRU Ued Uy o UMl &1 Ol 951

1 HAT 2 oI YR B © SR G UI5Y Y U 1 G HEA1 BT haw 2 WRT Falied €Il § 1 8oy, $© w5

m&mﬁmﬁmﬂwﬁwﬁmﬂm%mﬁﬁwg e # W1 75| U1y fdhaH ffHe
d® &G 87

1

X 1. 17-
5

2

X2 17-
5

w3 172
5

4

X4 17-
5




Q.15

Ans

qi=r GEATHT T 3tET 87.8 ¥ 9ger r FwEanat Fr tEa 81.5 ¥ 3y 3ifaw & gwamat v atma 93.5
g1 drEdr g w4 g

X1 88
X2 93
%3 90
4 89

Q.16

Ans

vE AT # sewEd AR G 4 0 7 & 3A A g1 S SHA IoHES § 9wl AU 9T g, o
st & ol $r A A= w

v 121 dex
X2 20 &reT
X318 Biex
X4 24 HreT

Q.17

Ans

449Tera TN TTUROT 0T W &5 g0y foraa aut & &7 F7 12 =7 g Sreehr?

X130 g
X2 35 ¥
X320 a¥
V4 25 9§

Q.18

Ans

THE R UM & U [degH, oRIH 7.5% FHSE 6, &I B 22.50 Uld @ie 8 | F7SE 2R UMl & U 2= [dad,
fOTrTH 17.5% THS &, & S1Fd 3z Ufd dice ¢ | Gfe 7He 3R UFl & aRE wick f[aaa, forH 22.5% TH® ¢, o
ST 7450 &, Al z BT AF F1d DIfoT|

A 13450
¥ 2. 32.50
A3 31.50
< 4 30.60

Q.19

Ans

e x = 7 4 72 + 73 @ & 19 20 U et § Q -9 981 22

v 1ox?—21x*+126x—252=0
K2 x*—21x2—-126x+252=0
K3 x3 +21x2—126x—252=0
K4 x3 +21x2—126x+252=0




2 s uufe S T B 12, (22,32), (42,52,6%),... (.., 2102) b &Y H qiffepd fhar T g1
Uy 3R HUAl & ey I FufiRed § 9 &H-91 96 el 82
FY 1: SifcH T H UGl BT IRTHd 804660 B

FYT 2: A 20 T B

FY 3: Uh THE & SIS AdH T GH! Ual &l IRTHd 2304415 B
A v P 2 3R 3 SFT Il B, e By 1 T B

X 2 Had $YF 2 e g

X 3 Gl U el B

X 4 DU 1 3R 2 ST &I 8, WfchT HU 3 T g

Section : Reasoning and Logical Aptitude

A1 o FfEd g U H, SALT &1 25 & T # ferar oIl 8, 3R 'GAIT Bl 73" & &0 # forar o g1 <1 7 e
W & IR Fefefad & 8 eF-a1 98! ffam g7

P $c
(i) TOMB | (W) 28

(i) BEAT | (X) 96

(iii) ZOOM | (Y) 05

Ans X 1.%Hadi-Y , ii-W, iii-X
o 2. PIA Y, ii-X
X 3.%4ad i-Y, ii-W
X 4. Fad iii-X

Q2 ‘A@B HTAfEF A BB USRI
A=B BTASZH A BBFTUEEI'
‘A#B HTAS A BHTTTRI
'A&B BT IS F A BIHTOATRI
'A+B P13 g F A BF AETRI

IWRIFd PRI F STYR R, T HITE {6 3T T Y=Y # F Hi9-91 fAyiferd sifieya @1/% SRl 8l ol 8@ d €, afe a8
femmmifF P=Fac@m#L gl
SfYSHYT: T, R BT 3IET 272
PRUA:L@T

PRUB:G+R

Ans o 1. 3(fiEYT F O A 3R B EHI BRUT T
X 2. 3wy % NS Had B BRUT B
X 3. 3BT F TS Had APRU B
X 4. 3AEA F PF T AN AR TE B BRI




Q3 ggﬁr@a%%awﬁwﬁﬁmﬁwﬁﬁmwﬁmm%aﬁvwwwmmaﬁﬁ-wéﬂifﬁf‘lmww
Heifira T8 82

L J

Ans

e | p—y
| O

NN | 2

Q.4 ?ﬁ=r$u=r1%qn1z%'ﬁlﬂ%aﬁa‘rﬁwcfamﬁ:—cnaﬁ?uﬁqnq%’|mﬁﬁwm@,ﬁﬁﬁ%ﬁqmwmw
A HYT BT FHAIU BT (P4) 2

FY | it it e B
BT I1: GHI IS ISP AN B 1
FY III: Tt TepuTaT Hax g1

e 1: oo T R B
e 1 @t e TR €1

Ans \./ 3 T-"
X 2. Fad B |1 SIER0T Bl §
X 3. Ad e | oR T E 11 SR FHRaT §
X 4. Fad FpY | STHRUT AT §

Q5 I YUY BT 999 BT e Temd 3t ueR weafta & oy ver fRufiafaa g=a 9t St w&lta g

(Fite: TEmse 3t 391 i siwl | aig fam, guf Jemaei wr wftrarg #) st arfee| Serevur & forg 13 e - 13 w
mﬂ%ﬁ;ﬁﬁmmmﬁwwaﬁmﬂmﬁ%l 13 P 1 3R 3 A A 3R ISP UYTd 1 3R 3 W AfHaTe H31 o1
3rgafd )

(17, 9, 132)
(24, 8, 136)

Ans X 1.(18,10, 160)
X 2.(28, 12, 144)
o
X 4.(16,7, 118)




Q.6

Ans

P,Q,R, S, T, U 3R VAT ITd faenf, ¥g ot sik i@ sl th g & uRa: I3 I STH A UAS A e T 1 | 7 9P AeT-
ST ¥ T A B U, wzaﬁﬁmﬁ%a@aﬁvﬁﬂmwélT%ﬁﬁﬁﬁ%?ﬂéaﬁwﬂ%ww%lQ3$2tmzr
FATAVH SIP IE MR IBTEIS, RP TS M AN AR IBTIEIP, VP T8 IR TR VA R 1 QA IP-6 T B &1 S
ﬁifa?q%ugrgﬁ%lR&ﬁ?U%d’ﬁéﬁﬁ@ﬁﬂTﬁ%ﬂ%lW1aﬁviﬁz%ﬁaﬂﬁ%d’ﬁaﬁawﬁmvﬁ%&%luﬁiﬁs
T I

& T T F YR W PafiEd 3§ @ S99 22

1. ¥-7 WTed =1 arat faeneff, ¥6-5 ured A I faemdf & a1 ok g WM W SBT R
I1. T, ¥&-2 YT =+ aTdt Afed & 31 gT3 3R 937 3|

. U A ¥%-4 U 1 § 3R 98 P & St a1 3R 93T B

& 1. 5ad | 3R 11l 981 §
X 2.%ad Il 3R 11l g §
X 3.9t R I E
X 4.%aq | MR T

Q.7

Ans

fFrafafaa vy &, sierf &1 v ayg fRar mar g 9 1, 2, 3, 4 3R 5 A FHHIPd 31 TR F I WA BT T94 B AP dGIIR
FAfRIT fPT T 31&R TP A1 Weg a1 WP |

EUJGD
12345

X 1.35214
X 2.42315
o 3.3.2,54,1
X 4.32514

Q.8

Ans

K, L, M, N, O 3R P 910 & ©g fQanfsal @ darg srevr-ore 21 3 o8 fafta Qe srufa ravs, uiet, 2f, giel, fvde ok
mﬁﬁww@ﬂ@aﬁﬁlﬁ?ﬁ%maﬂm T & R @ i 21 M frdbe Qa1 21 K, Ppedard gl Qadr g1
N 3 a1 0 A 3ifte g1 3Tl & TSt Ft dars, T & I A if¥e 81 Beara & f[ars! 3t dars, fhde F R_a I
FU RN K B Fa1E, Faa 9 o FRenfea) @ e 21 Mat F ) 3t daré daa a4 o fIanfeal @ $9 ¥1 p &t @6 K
F 3t g1 0 B dars A & e L A aifre 21

3 TE SR F YR R Fuferfad § ¥ #19-91 9 872
I. P P 1S, M 34t g1 M P @ars, NS FH g
I1. A F TS B @9, Peara & (Farst A 4w Afe vie & RSt A A 3|

& 1.7 SRAG
X 2. 18R g

X 3. %bad |

X 4.%adll




Q.9

Ans

& a1 T T TEr EUT BfF F TIS HL A9 90T MN F HFS F g HR @ Fen g

Q.10

Ans

& T SHeRTPI YT W e UG BT IY B
L11, 022, R44, U44, X55

2 1.X55

" 2. R44

X 3.022

X 4.U44

Q.11

Ans

Frafafea Jen g § Ted ug &1 aaq oY
9, 10, 19, 44, 93, 175

X 1.10

% 2.93

o 3.175

X 4.44




Q.12

Ans

fAfEd dP & YR TR FORTUNE, T [HfEd UHR T GILUVMF § Fafdd 81 PLINTHS 38T HhR MROKHSG I
T 1 THF db 1 9Tad Bl gU MEfafad § § $H-91 9el fHa g2

i. MUSICAL | (W) GIVKMRZ
ii. FURIOUS | (X) HFLRIGV

iii. PERTAIN | (Y) ILGHWVN
iv. STORMED | (Z) RHFNOZX

X 1.5ad i-Z, ii-X, iv-Y
& 2. 5ad i-Z, ii-W, iv-Y
X 3.%ad i-Z, iii-Y
X 4.Bad ii-W, iv-Y

Q.13

Ans

140 BT B TP P& A, 80 BTH! B TG TS @, 88 B fIg w=ig 7, 30 B 41 fawy g 1 37 faenRiaY &) e 3rd a3 =t
1 oY TIfT a1 fAg Ui ®Rd g

X 1.135
X 2.130
o 3.138
X 4.120

Q.14

few e gifterur #) 9E a9 F fore 51 3 faesl & R sgaH anfee?

24+2=20-4%x6+8

Ans r.4 1_-\3-ﬁ1+
X 2.+ 3R x
7 3. x 3R+
o 4. =and +
Q15 fFEfiad THeR B AFYd® Tl 3R IqP ae AT 7T vy o1 SwR e

Ans

YR # T GuRY A Igievr, ifaf = ok ae-iiet wifa S &3 Iur e §1 HR 86T IwyE, saee e bs
TER 3R fEfrea Yarar yurmeht senfe menfiet-warfea ugal & oA | faxha gz &t gerar frer ok veras gerar o
JUR g3l

fFrafafad # @ $I9 39 96 & FHSIR S fF URd § 961 yommedt ver Sriem yomelt 99 718 82

X 1. TeTageEd YRR & GHIY § doll @ 3R agelt dF A YR S & g R-Feres uReuiigl % ge R HeH IS¢ U B
X 2. YT yonferdt 3R 3 difeh T Tarelt & fawra & fere fadia denfiest oik fefiied arar &t sro=m mar g1

X 3. 4= e AR AfAfFEH (PMLA) 7 3220 Rl s 31, A1 Bt RUIE B 3R UTeh! B Uga JeTid B b forg
Jat 3R fofta TR R R AR IS U= e Bt AU HAT 51

& 4. T & o AT F dird ol &1 fid 7 B gU, $ fed aFf dw o Yareit o gau s H & g feu T §|

Q.16
Ans

TR 3eR-T9E T feu e €, o ¥ i et i aid @ g § ok ve e 81 faww srer-wqg g &1 999 331
X 1.LT: MU

o 2.0S:PQ
X 3.UE:VF
X 4.CG:DH

Q.17

Ans

ASHI P TP Ufew |, afe Qe o ardfl iR | 133 WH W g, 3R W ot g ©R A 68 RIM W, 31 I 9¢d dd 8, al
JfEe Y 3k | 233 T W 8 5 81 Ufe A fpaq aso 82

X 1.21
X 2.27
X 3.18
o 4.28




Q.18

Ans

TS U 3R 3P a1 & HU (1) 3R (1) fAw 78 &1 3muep) a5 FMufva 3= 8 5 du=i & Rar mar Ser gy 13w A & fag
JgTed/TaRaed § 3Yal T8l | gl PYU-l P ufeT R ITF uyTd I S<R FHuia Fifem

uy: B¢ faemdf A, B, €, D, E, F 3R G IR fo=m 7 iR 4@ #3% uop Weht ufea A 93 &1 D, B F 1€ 3R IR W W ISTRI E,
C & 18 3R JI R W W 33T 21 B P 31 a18 3R B4 93182
() D 3R E BRI W 33 &l
() A, F & 9T 3R IR RIH R 33181

X 1. 3hd B 11 H e TaT ST U BT IR o1 > e gaf B, Safe 3pa U | H o mar Se Uy 1 STk 34 & forg yai et
gl

X 2. 3pd HYT | H a1 T ST UY BT IR a1 P o Uaid §, Safep b U 11 H faam T Se1 Uy o1 IR 34 & e g Taf
g

o 3. UY BT IR & & oW gFf Sy 1 SR 11 H o T ST sa=a e g |

X 4. U9 BT IR 4 P e S Syt | 3R 1 H e mor Ser yafw 7Y 21

Q.19

Ans

U 1 i 3T T 3HR MN TR 38 oF &1 Rufa 8, Feifed onafa & 98t edu wfafds & 99 $ifon|
M

4fGmW25

N
~dSWWDHIA
e SWmoth

~QEC¢WmMmDtA
~dSWmoivr
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Ans O
> 1. .ﬁ
O
x2| |am
X3 A
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Section : English

Q.1 Select the correct conclusion based on the meaning of the underlined word:

Statement: She is a philatelist who can boast of a rare collection.
Conclusion:

i. She has a huge collection of stamps from all over the world.

ii. She is a lover of books and possesses a fine collection.

iii. It is her hobby to collect and study coins and medals.

iv. Her collection of antiques is unique and very valuable.

Ans 2 1. Only iii is correct
X 2. Both iii and iv are correct
" 3. Only i is correct

25 4.Bothiand iv are correct

Q.2 Select the correct conclusion based on the meaning of the underlined idiom:

The whole agitation against the new regulations was a storm in a tea cup.

i. The agitation was so profound that it spread to all parts of the country.

ii. The disagreement over the crucial policy garnered universal support.

iii. The protest died down quickly as it was an unnecessary fuss over a trivial matter.

iv. The agitation was joined by thousands of people despite the adverse weather conditions.

Ans & 1. Only ii is correct
25 2. Both ii and iv are correct
" 3. Only iii is correct

25 4.Bothiand iv are correct




Q.3

Ans

Match the following groups of words with the correct one-word substitutions.

one-word substitution phrase
A. turncoat 1. one who is unable to pay debts

B. insolvent 2. To increase the importance, positiol
C. abnegate 3. one who switches to an opposing party
D. aggrandize 4. to refuse or deny oneself

/< 1.A-1,B-4,C-3,D-2
o 2.A-3,B-1,C4,D-2
& 3.A-4,B-3,C-2, D-1
& 4.A-2,B-3,C-1,D4

Q.4

Ans

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option ‘No Error'.

Start to relax a hour/ before bedtime with a/ hot bath or your favourite music.
/5 1. hot bath or your favourite music.

25 2. No error
25 3. before bedtime with a

" 4. Start to relax a hour

Q.5

Ans

In the following passage there are blanks, each of which has been numbered. Select the correct option to fill in the blanks.

The seemingly ___ 1 hummingbird is one of the toughest beasts in the animal kingdom. Some 330 species

2 in diverse and often brutal environments. Mysteriously, the birds are found only in North and South America.
‘They’re living ____ 3__ the edge of what’s possible for vertebrates, and they’re mastering it,’ says Karl Schuchmann, a
German 4 , who studied a captive hummer that lived 17 years. ‘imagine the 5 of an organism of only
five or six grams to live that long,’ he says.

& 1. 1-delicate, 2- survive, 3- in, 4- geologist,5- persistence
& 2. 1-robust, 2- sustain, 3- by, 4- antiquarian,5- stamina
5 3. 1-vulnerable, 2- endure, 3- on, 4- opthalmologist,5- durability

o 4. 1-fragile, 2- thrive, 3- at, 4- ornithologist,5- endurance

Q.6

Ans

Select the most appropriate meaning of the given idiom

It’s a small world

5 1. A competition where the outcome is difficult to judge or predict
& 2. You frequently see the same people in different places
25 3. Make all possible efforts

/5 4. An aggressive and bold confrontation

Q.7

Ans

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error'.

Chasing the white stag through the/ forests, never catching it, of/ course, for it is a creature of legend.
< 1. forests, never catching it, of
«" 2. No error
#< 3. course, for it is a creature of legend.

#5 4. Chasing the white stag through the




Q.8

Ans

Select the correct conclusion based on the meaning of the underlined word:

Statement: These days he is working on a monograph which is very important for him.
i. He is writing a memoire of his father who was a successful poet.

ii. His work on a specialized subject is an important resource for scholars.

iii. He is rehearsing his lines for the play to be performed at the annual function.

iv. He is creating an architectural masterpiece out of a single piece of stone.

#$ 1. Only i is correct

/< 2. Only iv is correct
" 3. Only ii is correct
#5 4. Only iii is correct

Q.9

Ans

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct
sequence in which these parts can be rearranged to form a meaningful and grammatically correct sentence. Opening and
Closing sentence indicate the start of the paragraph and end of the sentence paragraph.

Opening Sentence: The immediate context of the Dunkirk evacuation was Germany’s invasion of the Low Countries and
northern France in May 1940.

P. The Dutch defenders fell back westward, and by noon on May 12 German tanks were on the outskirts of Rotterdam.

Q. The Dutch Queen Wilhelmina and her government left the country for England on May 13, and the next day the Dutch
army surrendered to the Germans.

R. On May 10 the German blitzkrieg attack on the Netherlands began with the capture by parachutists of key bridges deep
within the country, with the aim of opening the way for mobile ground forces.

S. The invasion of Belgium also began on May 10, when German airborne troops landed on the fortress of Eben Emael,
immediately opposite Maastricht, and on bridges over the Albert Canal.

Closing Sentence: On May 11 the Belgian front was broken, and German tanks ran on westward while Belgian, French, and
British divisions fell back to a line between Antwerp and Namur.

X 1.QPRS
X 2.PSRQ
X 3.RPSQ
o 4. RPQS

Q.10

Ans

Select the most appropriate meaning of the given proverb from the options

Knowledge is power

" 1. The more you know, the more powerful you can be in different areas of your life
725 2. Said when a son is similar to his father; also, “Like mother, like daughter”
#5 3. No one is truly capable of living alone. We need human connection to be healthy

/5 4. When you're in a difficult situation, laughing can make it easier to get through that situation

Q.11

Ans

Four sentences are given below. Find the odd sentence out.

A. Subsequent generations of kings hid their tombs in the Valley of the Kings in an attempt to elude the robbers.

B. The most imposing tombs are the famous pyramids, shaped like the sacred mound where the gods first appeared in the
creation story.

C. The ongoing deciphering of hieroglyphic writings and research on the life of the peasants is answering several questions
on Egyptian culture.

D. The gigantic pyramids were conspicuous targets for tomb robbers, whose plundering jeopardizes the hope for eternal
life.

" 1. Sentence C
< 2.Sentence B
725 3.Sentence D
75 4.Sentence A




Q.12 Which of the following statements correctly uses the idiom 'red rag to a bull’ by substituting the underlined words?
A. The poor subordinates are made scapegoats for the misdeeds of their superiors.
B. For me, a person playing a double game is someone who specially provokes me.
C. Since your boss is well disposed towards you, you must act promptly and ask for a promotion.
D. The huge loss to our factory due to the floods was a totally unexpected disaster.
Ans 25 1. Statement A
X 2. Statement C
< 3. Statement D
" 4. Statement B
Q.13 Arrange the given sentences (A-F) in the correct order to form a coherent paragraph.
A. Nature writing encompasses a wide variety of works.
B. Nature writing often draws heavily on scientific information and facts about the natural world.
C. At the same time, it is frequently written in the first person and incorporates personal observations and philosophical
reflections upon nature.
D. Nature writing is nonfiction or fiction prose or poetry about the natural environment.
E. These include natural history essays, poetry, essays of solitude or escape, as well as travel and adventure writing.
F. These works range from those that place primary emphasis on natural history facts to those in which philosophical
interpretation predominates.
Ans «" 1. DAFEBC
/< 2.ACFDBE
/< 3. BFECAD
/< 4. DBFAEC
Q.14 Select the word that is closest in meaning (SYNONYM) to the word given below
Exemplary
Ans «" 1. Impeccable
/5 2. Deplorable
5 3. Unworthy
2< 4. Substandard
Q.15 Match the following groups of words with the correct one-word substitutions.
phrase one-word substitution
A_ a short, pithy statement expressing a general truth or rule of conduct. | 1. gibberish
B. outrageous and disgraceful 2. ensemble
C. unintelligible speech 3. maxim
D. a group of dancers, actors or performers 4. egregious
Ans «" 1.A-3,B-4,C-1,D-2
& 2.A-1,B-4,C-2,D-3
5 3.A-4,B-1,C-3,D-2
& 4.A-2,B-3,C-1,D-4
Q.16 The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error'.
If he had been entered a fatstock/ competition, | am sure his story would/ have been one of unrivalled success.
Ans 25 1. No error

«" 2. If he had been entered a fatstock
75 3. competition, | am sure his story would

75 4. have been one of unrivalled success.




Q17

Ans

Select the word that is opposite in meaning (ANTONYM) to the word given below.

Sardonic
25 1. Eternal

5 2. Podgy

25 3. Lengthy
" 4. Gracious

Q.18

Ans

Select the word that is closest in meaning (SYNONYM) to the word given below

Inertia
«” 1. ldleness
25 2. Ardour
< 3. Stamina
X 4. Zeal

Q.19

Ans

There is a sentence that is missing in the paragraph below. Look at the paragraph and decide in which blank (1, 2, 3, or 4)
the following sentence would best fit.

Sentence: As a result, they held a trial and sentenced Socrates to death.

Socrates had many disciples and the greatest of these was Plato. Plato wrote several books which have come down to us.

1 It is through these books that we know a great deal of his teacher, Socrates. The Athenian government-just
after the time of Pericles- did not like the methods of Socrates._ 2 They told him that if he promised to give up his
discussions with common people and changed his ways, they would pardon him and let himoff.___ 3_ But Socrates
refused to do so and preferred to drink the cup of poison which brought about his death, to giving up what he considered to
be his duty. 4

«" 1. Blank 2

< 2.Blank 4
/< 3.Blank 3
< 4.Blank 1

Q.20

Ans

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error'.

| wrote to Giordano this morning,/ and when we return to Paris/ all will have been being arranged.
25 1. No error

25 2. | wrote to Giordano this morning,
" 3. all will have been being arranged.

25 4. and when we return to Paris
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Q.1 PAALAN 1000 &T Uq®E $g & g

Ans X 1.10 ¥ I BH Y S FH! BT YA [P
X 2.8 T Y HH Y F T BT D fAHT
o 3.2 T Y B A & Tl DT GIAITED [AH
X 4.5 T8 Y B Y F T BT TS [AHT

Q.2 33T AT TIoT F Ura arHTf B 181 §2

A)TAT T QG TRBRY AT 31ef- IR HHar |
B) STUSR STl
C) YR T ATATRY Afa |

Ans X 1.AC
X 2.BC
« 3.A B
X 4.AB C

Q.3  Bwr fay Jsfiies STl 2023 & Ty A F=iferd Y=l R AR Fifvme:

1. YR e} Tae Worg 3 [39 U d 9 § T9d U ST
2. AT 39 TS &1 AeraT ST UTI
3. g ST BT 10aT HEHT UTI

SR 3T TT HY & T SI-A1R FY T 8182
Ans 1 fiTEd E
X 2. Had HY 3
X 3. Had HY 1
X 4. FYT2 3R 3

Q4  HiEpfas ARG R ST 3™ (CFG) & dgd Ya f&ar o aran fidan sge=__ &1
Ans X 1.10 GG 3UT fRY srpTeRor ufkfRyfadt 20 TRa T Sgra o Tl |
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Q5 i Ifcafed dats &1 98l e g g PSCV-C55 gRT @i d far am u1?

A. TeLEOS-2
B. POEM-2

C. LUMILITE-4
D. EOS-07

Ans X 1.B,C3RD
X 2.A,C3RD
 3.AB3RC
X 4.AB3RD

Q.6 J3mafie yu Wl Faearor Rl 2022-23 F Jay A fA=ifrd FUE! R IR FivT:

1. 39 Afge Ud 919 faeT ey g1 fae i fear mar g1

2. 32 ® Afgen g7 fe HrieRt @R # 4.2 BT I@IE-1a YUR g1 3|
3. 2023 # 321 ¥ Aigen yv widd yriierd) & 32.8% 21

4. 2021-22 B ¢ & 3 & 97 907 RS o= 28.6% &1

SR 3T 7T Hy & & SH-91R FY7 TE /82
Ans X 1. %HYT1 3R 3
X 2. Y2 3R 4
o 3. FUT1 3R 2
X 4. FYT3 3R 4

Q7 dex 2023 # @i fHT MY "gle pas WA & dey A FAifed syl W faar st

1. TG TISHT IR Y PR GRT & B TE ¢
2. Tg TS 6 T 15 a9 Y ¥ & W = 91 7 7
3. Tg WA Wi 3R S urd e faenaal & fig 3= &t 71s 81
4. 39 IS 1 IR W & GOIAA! §RT URY fowar man g1
SR 2T U HY= H A H-1A YT L 8782
Ans X 1. %HId HYF 1
X 2. %Y1, 23R 3
o 3. U1 3R 4

X 4. BYT2 3R 3

Q8 yrd ¥ fFafifEa # A wsg A 98 A Ridaw 2023 79 T9 $iftre @va Mg F gemsi 1 fad &2
Ans X 1. RAmEawew

2. T U

X 3. f3Er

X 4. WU

Q9 fRHEY 2023 9% & IR, FEfEd # @ #19-3ft URd & seuiEr®! | Heftrd gieHT 82

1. 98 I8
2. Hrat 3R wHTSN

3. 34lq
4. YT T

Ans X 1.1,33R4
X 2.2,33R4
& 3.1,23R3
X 4.1,23R4




Q.10 FHIfdda grelt A R B 5T TWey § AUF HTE BT FRMAT?
Ans X 1. ffes gad

X 2. R Yeu Taw

X 3.0 Tavs

o 4. FIRADH S

Q11 IR o F ey # F=ifera Y wR faar #ifvm:

1. AT JoIT B YR deed gd gRT mford fabar
2. 39 18 f¥daR, 2023 1 Uit qe wR smaifra fvar ma U
3. Ug SATUYIH &1 HATY A Hafdd gl

SR T T Hy= | A HIH-91 FY 9 8782
Ans 1 fiEElE

X 2.FYT2 3R 3

X 3. Had HYT 3

X 4. 5ad HYT 1

Q12 2023 AIRA TR IME RIPR___ A STl
Ans =" 13@132‘—?[

X 2. forgenT Rig wgoH

X 3. vt =re

o 4. TSE Tl

Q13  fmfifad & & B9 WdadT & 91¢ STAIEIG A HRHIT IEMENT BT Aqed $ arelt ugelt Afgen 82
Ans X 1.9 & gym

o 2. Mt Sfarda
X 3. gRd 9H1 §d

X 4. 3T IFYERA

Q.14 Sielt o YT F Hey A Fifea Sy w AR s

1. TR 2023 TP F IR, TE TRMAT B T el G 71
2. U8 10 B4 el G 3|
3. g aEE@ A fRE I

SR T T Y= & A -1 HUF TE 282
Ans  p 1 HYT13R3

X 2. @i wEE

X 3. FYT2 3R 3

X 4. FYT13R 2

Q.15 ddav 2023 ® & fHT TT Amplifi 2.0 TET & Jay 7 Fifrd $YAT R R Fife:

1. 39 HE JMaTH 3R XS ST HATTd gRT fAp R fFar g1
2. Amplifi 2.0 TICT THA WBH TR HRAHT e BT 3RNTUT ST U Ha1 gl
3. Amplifi BT GRT ATH Assessment and Monitoring Platform for Liveable Inclusive and Future-ready urban India (Gmﬁ?ﬂ?:'
AT Wit iH Bk frded safa T WaR-vSt 3= i) &1
SR T T Hy= & A SR FY 9 8782
Ans 1 fiEElE
X 2. A HY 3
X 3. %ad HYT 1

X 4. DYT2 3R 3




Q.16 fAgfifad & A fT AT H UNESCO & TaATHS XER Acad gRT JIec & e & = § W-gar &t 78 82
Ans 25 1. ATl

X 2.4%

X 3. Bradal

o 4. DD

Q.17 WIgeed 2023" & ey # FAHAiIfPT Y= ) AR Fifve:

1. 98 YRAHT AT & AT TR 3R TWeRNHR0T (NII0) AR $T g1 Wb AT
2. WA E 2023' B 04 TSR 2023 H 05 TR 2023 T AT fHaT 74T AT
3. 39 O, HERTY § Smaford fasar m
4. 71 2023 ¥ gu w7 fRiT Ugd & T U & U A WIE-U/THTATHS F g 75 gHifoal 3t gesmd
SR T T Hy= & A HH-91R FY 9 8782
Ans X 1.FYT3 R4
X 2. Y2 3R 4
X 3. PYT23R3

& 4. FUT1 3R 2

Q.18  Tfdrdiy fagm & fagm= ok Wit & g ify @ Yer TR REsR 2022 J Sita
Ans o 1. 308l 'R

X 2. g e

X 3. STYLS TRAIT

X 4 e

Q.19 coP-28 ¥ Heay § fFr=ifFd Y= W AR Fifm:

1. FUTHA % WIS 7 1 fRiaR 2023 FY cop-28 W U |
2. COP-28 BT 3T 3T & Hferwifiar # far mar u
3. g St fasraxita 3= & fore wiearyg fag &) siftre Iuesy, Jau iR frwradt T  wr Siga url
4. T3 & RM, Adrei A 7 AP Seary faa FoEr W ST 3R fRTa giyu #Y g
W oU TT HY= A F S-G9 YT TE) 282
Ans £ 1. U1, 3,4
X 2. ®Y2, 3 3R 4
X 3. o uEt g

X 4.BYT1,23R 3

Q20 FHfFaPieT IR F IR & RL gl
Ans o 1. DD AR v BT aad

X 2. 3 3R AIBH Bt Ad
X 3. Hed, IR BIeH &I ad
X 4. X9 P Ad

Section : General Studies

Q1 fufafd sy w® AR &9

A) T8t FierT B fawerdar o 3 & sragedH (Fafa &) ggrar 37 & fi) & wry-ary gerwifa 1 1 & sror e vaadfa
ST ) IR S U7
B) Uradl vaadfy a1 & wF R @1 aiffe giee 3= a1 1)

Ans 1. FITATIR
X 2. ARBIA TAE
X 3. FaaBII ]
X 49T AMRAEBIT®




Q.2

Ans

yRd & fFrafaf@a & ¥ 5 woa A wiarge #1999 e Wsr 32
X 1. fewm=d ue=

2. 3fifsm

X 3. oI

X 4. TERTY

Q.3

Ans

fafefad sy = fER 3

A) HIRT ¥ e e wue & ue ifufay grRT 39 o &1
B) Afau # e el &1 Seaka T8l 31

& 1.AMRBITN TR

X 29T ANMRAEIBIT®

X 3. $FaaBII®

X 4. PITATIR

Q.4
Ans

fftce  duffeuu g
X 1. fEgait

X 2.5

X 3. Rt

o 4. 9G

Q.5

Ans

Frafafad Fy= R faar i

1. HRd ¥ A TERM W 3T FarsHe IS (NAPCC) § ad faerd MiedTied $31 & <49 & 1Y 316 e i g1
2. YR ® 2022 # qdtewvoita Swif gfx A 9.83% @) Taifte aiffe gf =it w51

3. WG 3N TS TS (PAT) TISHI, AT M Bk T2 Tsil THIRIgt & siaifd us uga 81

IR A | PH-A HYT T &2

X 1. %ad23R3
o 2.1,23R3

X 3.%dd 1 3R 2
X 4. %ad 133

Q.6

Ans

frafafad sy ) far i

1. AAFE FATeHt A EHaR T A UIRATUSt B b & T gist & gFH Bt GhT YUT B IR Dt
2. e fom gras &1 Ty 3 Rt & Qaarare Rk $37 & g s s 31

3. B A0 B ASgd B & (¢ gaa GRT ST YOITEH $I HHIG S {91 T AT

SR § | HIH-Y HU Tl 82

X 1. %ad 133
X 2. %ad2 3R 3
& 3. Fad 1 3R 2
X 4.1,23R3

Q.7

Ans

fuafafad sy R AR il

1. faur oftwel #f ugem & R Midiara A SR W3R, I/ gRT 1925 & SR W wavret urdf &1 w8+ faar mar 41|
2. 1920 ® SHFANT AiGIA Y= B FT TP HE@YUl BRI IAde Tae AT

3. 1927 ¥ IS AIFAA FHIA BT YR AP SN R RIS 377 WRA Iei-ifae gal A afgwp & umi
4. TG f§E WIS A1 WRTHT APV 1 BT 1943 & gfaror gd whrar & YuTY 9% 919 gR1 gAifsd & wmr uni

SR ¥ A B8 HY AL 82

X 1.1,2 33
X 2.1,3, 3R 4
X 3.1,2,33R4
o 4.2,3 3R 4




Q.8

Ans

frafafad wy= R R Fifv:

1. YR ¥ fF & a1g delt gudt ga9 waret Sl 9 arelt UTeT g1

2 az;(‘m TP & | Tdftd B iR 3 wifecy A i ga=1 w1ar =nfdra 21
g 1%, % 31 gRT A Ria ey R 1 IuahT 33 & SRor usrel, YR yrarsit & sifgdta 21
ﬁﬁaﬁﬂ-ﬁﬁmmﬁéo

X 1. %ad1 3R 2
X 2. %ad 23R 3
& 3.1,23R3

X 4.%ad 133

Q.9

Ans

fufafad sy R far i

1. YR ARG B Sfror-ufdm ARy ofk SwR-ud argH # faurfra fsar man 21
2. diedT g3 UG STd &1 Wret § Tehdrd! Sra-u1 & a7 S "afid g1

3. f3dt fagiy, fRumerdt g & abart &1 wia sRoT 1

4. 3@ I BT URa § ARG auf 9@ aTel yHTa 9T ST g

SWIF § | HH-A HY el 82

X 1.1,2,33R4

X 2.%dd1,3 3R 4
X 3.%ad 2, 3 3R 4
o 4. HIA1, 23R 3

Q.10

Ans

frafafad wy= ) far Fifv:

Qe SR P WS F FAR, HRA g1 ST TaH TS1 GG SAUGP o 3, 3R 19 IdTGA H g VM W 3
2. mﬁ?ﬁamﬁr%ma@wﬁm gRATuN 3R IR UeRT H g & Sre ¥ Seaa-d gig g5 |

3. ®re g gt off g1 oIt ], FURT B et F T qad Iugad gt 31

mﬁﬁaﬁ-—rﬁﬁmmﬁéo

X 1. %aa23R3
X 2. %ad 13k 3
X 3. %ada 1 3R 2
& 4.1,23R3

Q.11

Ans

YR T iU & U= 14T Y12
o 1.26 AR, 1949

X 2,571, 1951
' 3. 26 SFaRI 1950
X 4. 15 3T, 1948

Q.12

Ans

a8 AfRIpan Iuass g g o fHalt =1 gRT avg st ik Aarail &) Tud W F=mar 3R W fHar o gHar g1
o 1. TS I 3

X 2.8 e

X 3. 9 AP YA 31

X 4. G YA o

Q.13

Ans

fufafad sy R R i

1. IR 3 T dt o 1 Hefia Rygeia T

2. Ay § 3T B SR RT3 & SAfRId B AP R 21

3. HETA g AT A 91T B SR WRed B

4. Pfdigu=t we uifer gy & R wRedta gt wmares fifere ok gy A= & i Warg ool 21
IWIF § | HH-A HY Tl 82

o 1.H3q1, 2,3 3R 4
X 2.%dd1,2 3R 3
X 3.%ad 1,3 3R 4
X 4.%ad 2,3 3R 4




Q.14

Ans

TS IaR 1 3id e d & fa wmae gr fear man a2
1. TR

X 2. Sdd-3e-a bR Raersit

X 3. fae-3e-EH eid

X 4. DY9-3-EH 5%

Q.15

Ans

Frafafad sy R far i

1. 2024 % UIféHae e (PM) TGHUT BT 10-15% TP HH BT, HRA b A T TIR AT (NCAP) BT AT B
2. 9 Sita- =M, 2024 9% Al TR T8 FARME & AT A RIY 3R vaie Tusa Suasy HM R Higd g1
%.ﬁwgﬁ%ﬁﬁ%ﬁﬁmm(NEMMP)WH@M&MWM@WW@%&H%R&HWW
|
4. %Y (FAME) 3f&u1 W (BTeex TeT®M €S AR[hamiiT 3Tt safdes o), Ad safaes Mfafrd e we
(NEMMP) &1 T& YRT ¢ 3R 39& 3iaiid safaes arg-l & e qferst ueq &1 Sl 31
IR # A PIH-A HYT e 82
o 1.$aq2, 3 3R 4
X 2.%dd 1,3 3R 4
X 3.%dq 1,233

X 4.1,2,33R4

Q.16

Ans

HRA ¥ WY F g 3 Gay # Frafif@d sy w REr $if:

1. TS, B gRT fhelt I A fosdt & & gyd B3, a1 &1 a1 3 A 31w =4l a1 14l & YR B Srgd a1 bt &8 &Y
for=it 3T & TP YRT A SSHR TP 741 I%Y I APl ¢

2. TG, P §RT el I BT &F 7 T Pl 21

3. T, BT gRT faredt Irew Ft Wwarsit & ufvada #= qadt 21

4. TG, BT §RT fril I BT A0 95d Tbat gl

IR # A PIH-A HYF JET 82

X 1.%dd1,23R4
X 2.%ad 2, 3 3R 4
o 3.1,2,33R4

X 4.Fad1,3 3R 4

Q17

Ans

W5 IRgea B Fafifaa ¥ | e Teamn o1 IuanT figst ¥ g & far & wu § frar wmar 82
X 1.94TE

X 2. =

X 3%

o 4. fER

Q.18
Ans

gdRmeE_ gwi R man A
X 1. 9TOTHE

X 2. fazraeq

o 3. DI

X 4 TR

Q.19

Ans

frafafad sy ) far i

1. A H T B W FAT 3N 319 AR Yeeq § YR HAT W3 YR =M 371 A7 71

2. TT¢ F4d form o <1e’l & RiE Uep srgeeuiia Afsd a1 & fore Taa ok Jwmash fae R Hfga 21

3. 3fed =M B RYAA3H T8 Sd giawIHRE (AMRUT) 2.0 TISTT 01 3agaR 2022 &Y 05 99 @1 3fafy, st faxita adf 2022-
23 3 fasiig af 2026-27 9% & I = @1 7 A

SWIFd | A HIF-J Y & 82

X 1.%ad1 3R 3
X 2. Faq2 3R 3
& 3. Fad 1 3R 2
X 4.%ad1,23R 3




Q.20 2011 B TFVAT & FFIR URA A QU S oliaayeam=m 3|
Ans X 1. YRd H gigarsil &t ga & $fie

X 2. yRa ¥ Afgarsft &1 ga § &t w7 df st sifde

X 3. HRd ¥ Afgersil & R

o 4. HRA H Aigarsi Bt g § oA

G ppaRCAL 7 15 ourd H SRS A b I AISIa] 31| 4 HIE €18 A 31U %1 T el 62.5%

el fear ale WIsierl @1 eI U 12 H1E & 1 S AIH 138584 1 8l Al A DI @M & 38 HRT & =4 H

T (< H) freivme
Ans X 1. 50874

X 2. 50884

X 3. 50844

4 50864

2 v gEmr # 57 9T ¥ SO 9 942 9T 2T ¥ TEm AT FY

Ans x 1. 500
%2700
%3 800
v 4 600

A% e AR fa, e, o R TREH A A TEE 3 - g A i FHR & U S| QIR SR 4
AYBR A S U GHF A1 F &1, Safd BIeH A S 3R 547 Udd GRI 99 T YHR A & U DI GREAT
GBI H USR A D U S| G111, $U 3R B8 gRI 99 7T YR B & Ul bl TAT 6T 3741

DU 314 1 1Y, 3R 54 3R BIEH U U YD - UBR C & U GHH G § o1, ofdfcs =1 - 34 3R
TR UA® gRI 89 T YHR C & U I diF 1 T H UHR C & U o | o1 fdsbarei - e UhR &
U &1 Wi gFie Sa-sfa Siadl i) &=

A (A): T8 THT & [ T 7 UDR A T TS U7 Bl 32 BT 81 R, USR B & TS U Dl 34 & aTH
IR AR UDR C & Fdd U DI 35 B GI TR &9 3R P 3144 BT ATH 3Hfoid 6T 587 A TDHR A D TS
U &I 35 & AT W, UPR B & Yedd U1 @l T1 @1 I+ IR R UBR C & U U Bl 77 & aTH TR odl HR
G 313 BT ATH HOd BT 3R B - ThR A & Ui U1 Bl 33 & A4 I, YR B & UdD U Hl 34
& dIH W1 3R YbR C b U UF Bl 26 B 1 R 811 3R el 2240 BT Al Afoid fbar|

HRUT (R): T THIIT RGP THIHRU I 3R 8 B3 R 8H 1G] {36 g U sifgaiia ST foerdr g

Ans X 1.

3MfYHU (A) 3R BRUT (R) ST T & 3R DRI (R) UG (A) T Gel WHIHU B |

~ 2.

UBHYT (A) AR BRUT (R) SHT TH & Wfch] BRUT (R) AYHYUT (A) BT TT W10 el 8|
X 3. AfYHYT (A) T T 3R RO (R) T ¢
v 4 AYDHUA (A) 3T 8 3R BRUT (R) A g |




Q.4

Ans

U GHMER A A1 HBR BI I HHRE 399, 3120 3R 3144 Ul kg B X Y @G AR I 9:2: 1P U o
forf% foapan | Sifdhd Tt & U §¢ Be & SRISR BC & & 914 yo% ATH 2Hfoid - & [ag Ui kg Ffsia i &
3iferd ged 2178.50 MR fdar a1 y &1 9 faae grm?

X1 35
v 2 AQ
X3 36
X4 45

Q.5

Ans

ST 7 T gAU 14 Sioed FURT 9 9T AR 3T @ aF i 20 Jioud BTURoT S5 9T ar aut
¥ BT suR & I 38 FF = 2 9520 T, & FedE AAA H IUN & A qANA AT H

x 1. 215,000
v 2.214,000
X 3. 316,000
x 4.%13,000

Q.6

Ans

R[4 2R IGT 3 ¢ UR 960 m Tal &I5 IS &1 bydl [ahdl S| ddls alg & sxreR i
i U U S B Q@ SH-a1/4 ge ey Rarad & e uaf 2(@) 6 Usia 10 my/s @1 91a 9 SreT o

HY 1: (G 7, AT & Gl Y& B U 5 Yohs Ugdl Gre-l & (dhaT|

FYF 2: A 8 m UG s F I@ g 31T

FUT 3: T I TS B2 HIT AN 5 &5 THY I7i1a, AT o SRS 3T 1471

v 1 Tl By T 91y o R H 9g T 18T
X2 YT 2 AR 3 Uh 91y - R G4 ¢ |

X 3. T Y U 91y o IR 991w €|

X4 YT 1 3R 3 U 1Y o1 IR 9gIE 5

Q7

Ans

ar WE-3ET=T HEAHT FT 0B 1073 §l 3T Tgcad THATEGH AT Hi |

X129
X2 37
X3 1

v 4 1073




Q.8

Ans

(x, y) YT QUIiehl b1 Ueb 71 59 UBR 8 b HCF (x, y) + LCM (x, y) = 187 8, 3R x > y B |
SWRIGd WY, TUT i QU 7T Dol & ety # FgfiRad H 9 $1H-91 [dbed 9al 82
HYT 1: HCF (x, y) P oI GHTfad 99 |

HUT 2: (x + y) BT GATH HH 37 B

HUT3: (x, y) B 7 T © Sl & TS 2al ! I g

v G HUT T g

X2 Y1 Y g Ulch HYF 2 3R 3 G G|

X3 HY 1 AR 3 U € dichd HYT 2 AT ¢ |
X4 Had HYT 1 3R 2 T gl

Q.9

Ans

ofe FF & 7 22 # 25 FEQV WS AN W FEge 22 Fr @ & 2 25 F A9 &, A 35F wgEAd
amet gfeerd A i

X 1. 215 gfaeE
X2 205 gfaeE
X3 30.2 gfaea
74 29 19faea

Q.10

Ans

35 TOY 3R 49 AT U 1Y &1 S 5, U & &l 84 a1 & B Wbl & Taidh 48 T 3R 84 Higamy
U U1 S Hd gU, U B Bl 56 &A1 H B Uhd g1 30 T2N R 21 ARG Uh WY H1 Hh 341 H1d
! foa &A1 7 o1 2 uahd &2

X 1. 1202
13
X2 120%
13
w3 1202
13

X4 120~
13




Q.11

Ans

A 14 km Wfd 91T HH A eH &I Ul 7 e mifed S99 O S off T+ arel 3TH! i AT ad T 144
fryffed g1

JIRIgd Uy, 741 - 13U T8 Syt & I8y 7 Ffafad § 9 -1 e ugl 82

HY 1: fam1 fdl 7 & AIBAIfea 39 50 km Ufd U< &1 91d 9 90 Gl o

S 2: AIBHICT DI e 39 AR b HH 81 olld! & ofl 3T 5fs avHl DI T & HiHd & HJUR gRafda
gidl &1

@Y 3: 16 Ol & 1Y SHP! I 38 km Wid 92T 8|

v 1 Tl %Y U 1Y o IR UG 5

X 2. Gl Y T 91y o1 IR o 9t 21 B
X3 HYT 1 AR HYT 3 T 91y O TR UG €|
X4 YT 2 AR HYF 3 U 91y O TR UG |

Q.12

Ans

ST AT 3T F FAW 177,000 R 284,000 F T FF v aw@a % FaAnl 2 99 A st
ST FT TR AR FART F A FAT: B g # Tnlea G sreem?

K11 :7
V21112
X312 11
K412 :7

Q.13

Ans

THE 3R UHl & U fGaaH, f5aH 12.5% T9& ©, Bl HiHd 222 Uid diek 81 THS 3R Ul & Ud 3 faagy,
foTTH 27.5% TA® €, &I BT 7 38.50 Ul e 81 707G 2R Ul & fohaqr diex fdaay, forad 309% 79 &,
3165 H WIal 9 Uhdl 87

X1 45
X2 35

3 4
X4 5

Q.14

Ans

TH FIA AN TF g F FFT 1911 F 3G F §| FH B FAT A H FAT 7 2 160 30 g
FIH & FHET FaT 8?7

X 1.3340
« 2. 2380
A 3.2360
< 42400

Q.15

Ans

92 — 2446 — 4y2 FT YFTHS TIA F1d BT
X1 6—2v2
X2 8— 442
V5 64 242
X4 8— 242




Q.16

Ans

ar TEATHT & FIAT 1 AT 545 § A 3AF AT F I 1 | A TEAHT F UGS AT

X 1282
X2 286
X 3. 256
4 272

Q17

Ans

U] 3R SIHT = GHIM Hed TR Ueh-Udbs G WRIG! | 3101 4 U a%] IR b b8 Hed H p% 3 3ifchd

fepan SiR U Sifehd Hed IR q% I Fe WRAIad 311 Sfdeh! = Ul 9% Bl 39 Y Hed o y% HH W 6l &

ToTT T T, Tfae AR oIC BT VRaTiad 4ol &1 2% e St UHR & &9 | Siigl| Add: GFi = 3o avqd
AN 1T ged W o |

IS U, TUT A ST 0 SYA1 & oy 7 FEfifad 7 € oH-11 e el 82

HYT1: p, q, y AR z S AF HH: 25, 8, 20 3R 43.75 8

FYF 2: p, q, v AR z & AF HAE: 35, 20, 10 AR 20 B
X1 GFH I BIg i HYT 4T T8 g

X 2 PHad HY 2 HI g

v ¢ Gl YT ¥HI ¢ |

X 4 Had HYT 1 YHI g

Q.18

Ans

TA THgiE O W T A ar 9 a1g 2 8640 AR = a¥ a1g 212,441.6 & F1r &1 TR AT H|
« 1. 25000
< 2. 35800
¥ 2 6000
X 436300

Q.19

Ans

fasma &g 1 oigaw, a@ i ifa 152 e 31 3R fasme fog wfem, 72 114 Resfvaer 31 =@ 9fy
¢ fraer fee T 87

X114 fi=e
X2 9 fA=e
X310 e
v 15 e

Q.20

Ans

gu AT 9 % 60 Frex s H, 9 @ A 40 gfaed g1 9 B A 60 gfave % g & o
feretet oleT 9=t fermar S =mige?

X115 &ex
X2 20 #reT
X 3 25 #eT
v 4 30 @ex

Section : Reasoning and Logical Aptitude




Q1

Ans

Tk & OTd T = 3rerET-3verET ufaar = & g g1 13 F Bude ug g 79 #:1

X 1.15
o 2.14
X 3.16
X 4.1

Q.2

Ans

3 713 SreRTHIY Yaar | Ted UG BT TUq B
Y17, A34,C51 ,F68 , G85

X 1.A34

" 2. F68

< 3.C51

X 4.Y17

Q.3

Frafafaa Ten yeen & Tad ug 1 99 H3:

3,4,12, 40, 103, 228

Ans " 1.40
X 2.12
X 3.228
X 4.103
Q.4 R, S, T, U 3R v A& uTd aafa gop Hteft ufda &, 7l SR 1 8iR st g 99 &1 37 @ uds wra Rt ureaswat

P TS MR TR WIF W 81 1.3 B aTel AR R b 918 3R TR I WR g1 8.3 H aran sAfed frdi SRR aIs s
Bt 18 3T 3071 B | TH.THHL. 3R .30 H1 a1d Aafed fApean usiil €1 .53t iR &t.end #31 ara afdd Fideaw
TSR §1V, U S a18 3R A ™A R g1 S, 1. TR &7 3reag=T 7Y +3 81 81 1.0, H3A arelr safed P & a7 3R I RIH W)

21 TH.3P HI aTalT o, TH.THH! $R4 aTdl Safedd & oTg 3R DY WM R 1

& 7 a1 ¥ YR W Fafafad § § S9-ard 99 2R

1. §t. P10 A 9TaT TR, TH.3P P 91 e & 918 3R TR M R g1
Il. Q 3R R & §9 A Paa fiF fda 93 g1

1. .3 A are Afdd T & 9T 3R GO W TR 967 21

P, Q,

e, fom, o, 2w, §.ond, TR 3R TH.Aw. # T UH-UH $T AUy FI W81 Q, R P 918 3R NY ™A R g1
S, P

¥

Ans X 1.3%qd Il 3R 111 TETE
X 2. %ad | R IIEE T
X 3.9t R I E
o 4. HIA | 3R 11 T 8
Q5

Ans

gm il B g-fa1 8, N U ®1 g2 8, 0 "geTa &I g=ifar 8, 3R P 'URT &) gxifar 3, &Y Fafafaa awfie?or &1 a= @

55N2M27016P4="2
X 1.166
X 2.143
< 3.152
o 4.133




Q.6

Ans

gUur &1 A 3T T SFUR MN TR 39 oTF & fRufa 3, Fwifed snefa & 9l <du ufafde o1 999 S
M

f
.54

>
<

& 2.

sEy| (ol |om
oft™ uefﬂ od

>

"
oY

Q.7

Ans

Frafafed Ser I wyde ufeu 3R SUF yTd fT ¢ wy &1 3w AR st Y # < € Il a1l F I A g
3R FRuffea w1 8 1% F-a1R fFrepd @iffe oA sgaRor swar 3@ B

itha SHAET, Y8 TTaTard, ST 3NR fFwfor & Tqry, e sniféa U J IRged W g 81 R, WeR & Faial & sridiy
1 U U9 Wl 3| WG TR 81 367 arat Al & Sita= &1 qorat o THTfAd Beal o1 399 W@ 3 4R ok fdeifere
gifar off Bt €1 =R g A sagur= sTerar @ e TR 991d a1 €, YT gl 8, 99T IR & I9EafAe dgad J
IRadH a1 81 R T ATHTHS USRI oA {6 Tormar, Terran iR Jfa § gwaay sar gl

3 1S SR | Fafafa & ¥ - frsed ferar s aear g2

A. AT &7 71 wR e Y1, sl Uguur &1 g1 $RUT B SR @ v wraf R e Tua 9 & ¢ urd B

B. 3T YUl Frae 31 et &l & WY gl I A § 3R w1 & i vl & SR @ i I | T U 7

C. TR &1 "ay fig &) - urawr @ 7, o ¥, 91a iR o= i ufvad=t it sy aoang 3aua gt €1

D. @Y UguUT & SR Had g & § gaur T giar §; @ F o vt ff 3u wunfaa g1 €1

o 1. $IAC IR D
X 2. FadB 3ARD
X 3.%ddB, C 3R D
X 4.FIAA BHRC




Q.8

Ans

A, B, C, D, E 3R F ATH® ©% dsfhal A T Ute § SrerT-3raT 3id uted frw| B A D | 3if¥ep 3i ur f$u| D 3R E & 3l &
o &7 3UTd HH: 5: 881 F A, AW 5 3@ 34w urw fHw1 ¢ A E J 34w i e fHw1 B A ¢ A 30 iy fHTi D SR E
ERT TS fT T 3l T ATEHS 130 31 A 3R D & 3Pl & S HT SFUTd HHT: 11 : 10 B

& 71E TERI F YR W FAuffE & ¥ oA 9w 372
I. F 3 60 3f® uTw fpu|
Il. C 3 Ja 3ife 3% Ut fpu|

X 1. %bad |

X 2.adasiRAag
o 3.1 3R 11t
X 4. padll

Q.9

: aafea R, o, faat, 941, {61 ok gvd U o wforar saRd # ¥ed 81 Yad 1 A HUifed 8, 3P 316 SW I afra2d
HHIfPd g, AR M aE Tad FURL TRTa 9 WBT 6 A HHifhd ¢ | gt iR gtid & &t Faa &= a1 3gd &1 fovor au wemn
qreft ftre wR TEdt B1 g, 390 & Sl SR Tt 31 et oik g & dfiw 9k =l wga &1 f6von, o9 & Sl Sur Tt 21
faaat & St SR B TEAT R?

Ans X 1. TG
o 2. T
X 3. T
X 4.gHd
Q.10  IY JYY P 94 HIFL Forad @t 3t yopR Taftra & fory woR fuferfea aq=g @) gt wefta €1

Ans

(FiYe: Iemai Ht 371 fufure it A ate fam, yof semsit wr wfthart ot st @ifge )l Ierevor & forg 13 @i - 13 w®
mjgvﬁﬁmmmwﬁwwaﬁwm%l 13 B 1 3R 3 H A 3R ISP U 1 3R 3 W AHATE H BT
rgAfd ?)

(12, 21, 162)
(14, 26, 288)

X 1.(17, 30, 278)
X 2.(15, 29, 142)
X 3.(16, 26, 220)
o 4. (18,29, 242)




Q.1

Ans

3F Hpfa &1 79w A rataiad smpfa gmer & goa fea (?) & sfarwfa wEh

P M O P MIX O P+ X O
O X + m|S P
X + ] + M ?
+ s t|s * 1
S 4+ X
i O
o 1. b
M
Y + O
xo2|S X
P
M
51"+
X
3.
X O
M P
S 4+ O
4 X
< 4. P
M

Q.12

Ans

TP UY 3R ISP 91E & HYA (1) 3R () few 78 g1 enuw! g Fuffva wvn & i sy A fRar mr SeT uy #1133 & o
qgied/ATaRa D § 3yar Tl | gl HY P ufer 3R ITF uyTd e S<R Huifa Fifcm

TY: AMFARER faiia o1 9@ fra fezm & @2

() R ¥ I &1 @ IaR-gd @1 3R o1, fibw 9% 135 oi=r gfgumad fa=m & g wa, fibw a7 45 oizr qrumad fa=n & g mam fr
I 3 § 90 37 IMT =1 | 3 B U o= faviy 7 SR o= g@ & feram|

() IRy B fafia &1 g IR Y 3R o7, fhR 98 90 301 g3 T 3R Iqd 91 135 3R TS W4T fihv 3T ofd W 45 3R g B
T fe=m faRiy &Y 3R era=r g &< fermi

X 1. Y BT IR & & forg S Sy 1 3R 11 H feam am SeT 3oy B

X 2. 3 HYF NI H fear 7T T U BT IR <1 > e gaf B, Safer e wu | H o mar Se Uy &1 IR 34 & forg v et
|

X 3. UY BT IR 1 & T S SyAr | 3R 1 H far mar Ser vaiw 98 B

o 4. 3B HYF | F e T 2T Uy T SR &7 I e vl €, Safdh siovat e 1 B foram T Se Uy & IR o & fore uafed et
gl

Q.13

Ans

Trea! Bt A1 aifhe wH B FafRd & 3R IR SgwH &1 aa- B3
1. 99
2.
o e
4. ot
o 1.1423
X 2.2431

< 3.1243
< 4.4123




Q.14 'A% B BT fF A BT HES BI'
'A@B PTASEH A BETRAATRI
‘A=B BT IS EH'A BB TABI'
‘AB PTASEF A B AR

IR AFPRI b YR R, ITd PIoE 6 Y e Fy=f # | #19-a1 fAgifea sifieya s1d SRl g Iodr 8/aed €, afe g
R M%uK=z@L%cC' gl

Ans

P YT: H BT A K 82
PRUTA:C&H
PRUB:N@H
X 1. NPT F NI TN A MR TE B FRUI G

o 2. SMHYT & U Had A BRU g
X 3. 3fBYT & D A 3R B GHI HRUI B
X 4. 3fiHYT S TS Had B PRI

Q.15

Ans

frafafad ar snepfa gl & | A7 fdt FAf¥a yoR 3 e § iR 59 UPR U TUg 9411 8 | HI9-9T Thfa 31 39 T4g
q wafta T8 82

wal

K>

G

¥

X

L o[ ot e o B s

Q.16

Ans

B & TH TYE |, 147 Pedid Tad §, 155 19! Tad 7, 160 fhdbe Wad §, 36 Peard 3R giat Wad &, 44 Peard iR fbdbe
WA &, 25 g1 3R fordbe Wad €, 3R 15 A1 Va Wad &1 T ¥ O 3 $a W= 7 B

o 1.372

X 2.350

X 3.366

< 4.345




Q7 Rf3d b & SR U PAUSED, fbddl F8d UobR & USPEDA I T&fid 81 ZENITH I TR ZTNIHE I Tafid
B THM 0% &1 UTed &ed g¢ Mafifed & ¥ -1 98 e 82

i. TINGLE [(W)ACEMLS
ii. MORSEL | (X) UTLIFE
iii. CAMELS | (Y) SROMLE
iv. FUTILE | (Z) ELGNIT

Ans X 1.%adi-W, ii-Y, iv-X
o 2. BAA ii-Y, iv-X
X 3. Had i-W, iv-X
X 4. Fadii-Y, iii-Z, iv-X

Q18 g e e HINTH, FAST Bl '7-39' S ©U H forar ol 8, 2R LINE' 1 '21-19' & w0 8 forar wirar 21 6 8
BT YN & IR FEfRad 4 8 SH-u1 92 e g2

sq ®C
(i) DOME | (W) 15-27

(ii) FISH (X) 18-15
(iii) COMB | (Y) 19-18

Ans 1.5 i-Y , ii-W, iii-X
X 2. %ad iii-X
X 3.%ad i-W, iii-X
X 4.Had iy | iii-X

Q19 9wy i U & foF a1 ) fead shwifesa | 3R 11 3w e §1 Hu= #) T A g, ol o fs w an fred arfée =u
Y HYA BT SFHIUT BT (FId) 8

DY O AT 1A B
Il TR Fa s F
FUTI: FO X W

s 1: $o @ W 7
st 11 $5 AT@ R B

Ans X 1. Fqc Y | STERUN HRAT §
X 2.7 e | 3R T &) 11 3R HRaT §
& 3. Fad (T5BY || S{FERI Rl §
X 4. B | 3R 11 ST SFERUT R §

Q.20 TR &R TE T MY 7, Rrd A i vt Fifda a8 @ qwr= € ok vop i @1 Riww 3iaR g &1 9a4 91
Ans X 1.QRS

X 2.HU
o 3. LKN

X 4.UVW

Section : English




Q1

Arrange the given sentences (1-6) in the correct order to form a coherent paragraph.

1. And, since there were no enemies, it nested on the ground in complete safety.

2. The goats ate the undergrowth which provided the dodo with cover; dogs and cats hunted and troubled the old bird.
3. Dodo, the size of a goose, securely inhabited the island of Mauritius.

4. The pigs and rats were not far behind who devoured the eggs and young ones, finishing off the feast.

5.This bird had lost its power of flight since there were no enemies in the island to fly from.

6. Then man discovered the dodos’ paradise in around 1507 and with him came his familiars- dogs, cats, pigs, goats and
rats.

Ans & 1.362451
o 2. 351624
& 3.312564
& 4.356241
Q2 Match the following groups of words with the correct one-word substitutions.
phrase one-word substitution
L. to pay money to use a product or service regularly a. ascribe
2. to order treatment for someone b. subscribe
3. to put thoughts into written or printed form c. prescribe
4. to attribute a cause or characteristic to something d. transcribe
Ans X 1.1, 2-a, 3-b, 4-c
o 2.1-b, 2-c, 3-d, 4-a
X 3.1-c, 2-d, 3-a, 4-b
X 4.1-a, 2-b, 3-c, 4-d
Q.3 Four sentences are given below. Find the odd sentence out.
A. The webs of spiders provide the most vivid examples of animal structures built entirely in tension.
B. Man has long used suspension bridges made of ropes of steel and concrete, which bear loads in tension.
C. Animals and birds are great builders, using simple materials but employing sound engineering principles.
D. Beavers are natural engineers that use tree branches to construct dams, the divided end being pressed into the walls.
Ans " 1. sentence B
25 2. sentence A
25 3.sentence C
25 4.sentence D
Q.4 Select the correct conclusion based on the meaning of the underlined word:
Statement: His false accusations caused indignation all around.
i. The indigenous population has suffered profound injustice.
ii. It has become a common practice to level allegations against the opposition parties.
iii. The unjust treatment meted out to soldiers caused shock and anger.
iv. He has fallen into the debt trap and is going through a phase of depression.
Ans 2< 1.Both i and iv are correct
25 2. Only ii is correct
¥ 3. Only iii is correct
2< 4.Both i and iii are correct
Q.5 The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option ‘No Error'.
She decided to take a break/ from work, while she needed/ some time to recharge and rejuvenate.
Ans " 1. from work, while she needed

/5 2. some time to recharge and rejuvenate.
25 3. She decided to take a break
25 4. No error




Q.6

Ans

Select the most appropriate meaning of the given proverb from the options
People who live in glass houses should not throw stones

5 1. The more you do something, the better you will become at it

«" 2. Don’t criticize someone if you're not perfect either; don’t be a hypocrite

25 3. If someone whom | don't like doesn’t like someone else whom | don't like, we can act like friends and unite against the other
person (common in war)

/5 4. People who wake up early or who get to places early have a better chance of success

Q7

Ans

Select the word that is closest in meaning (SYNONYM) to the word given below
Malign

25 1. Insurgent

25 2. Nihilistic

/5 3. Radical

o 4. Evil

Q.8

Ans

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error'.

He had been led to his squad of commandos/ towards the target of a group of houses/ when he spotted enemy soldiers
hiding in the houses.

2< 1. No error
/5 2. when he spotted enemy soldiers hiding in the houses.
/5 3. towards the target of a group of houses

" 4. He had been led to his squad of commandos

Q.9

Ans

Select the most appropriate meaning of the given idiom

Make no bones about
" 1. To state a fact so there are no doubts or objections

25 2. Eventually, after a long period of time
/5 3. Someone who is unpredictable and can cause damage if not kept in check

#5 4. Not willing to accept the ideas of others

Q.10

Ans

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct
sequence in which these parts can be rearranged to form a meaningful and grammatically correct paragraph. Opening and
Closing sentence indicate the start of the paragraph and end of the sentence paragraph.

Opening Sentence: Jane Goodall, a renowned primatologist and conservationist, was born on April 3, 1934, in London,

England.

P. She spent several years living among chimpanzees, observing their behaviour and documenting social structures.

Q. Inspired by Goodall's work, many conservationists today continue to advocate for the protection of endangered species
and their habitats.

R. Goodall's groundbreaking research on chimpanzees in Gombe Stream National Park, Tanzania, challenged existing
scientific norms and expanded our understanding of primates.

S. In 1977, Goodall established the Jane Goodall Institute, dedicated to wildlife research, conservation, and community

development.

Closing Sentence: Jane Goodall's contributions to primatology have left a lasting impact on the scientific community and
conservation efforts worldwide.

« 1. PRSQ
2 2. RQSP
X 3.RSPQ
X 4.SPQR




Q.11

Select the correct conclusion based on the meaning of the underlined idiom:
It should be one’s avowed policy to keep the flatterers at arm’s length.

Conclusion:

1. The farther a person stays from flatterers, the better it is.

2. Having flatterers around boosts one’s self-confidence.

3. Flatterers are not true well-wishers and should be kept at bay.

Ans 25 1. Both 2 and 3 are correct
#5 2. Only 2 is correct
" 3. Both 1 and 3 are correct
75 4. 0Only 3 is correct
Q.12 In the following passage there are blanks, each of which has been numbered. Select the correct option to fill in the blanks.
Like all other good things in this world, leisure too can be used properly or ___ 1 thoroughly. Most people do not know
how to use their leisure simply because they get it so 2 . Some people keep wondering what to do, but by the time
they 3 to do something, it has already vanished. Others 4 around smoking, gossiping, backbiting and
tearing reputations to the tiniest bits possible. Still others engage in 5 activities as window-shopping, watching
senseless movies, playing computer games or chatting on mobile phones.
Ans < 1. 1-withered, 2-barely, 3-determine, 4-saunter, 5-noxious
X 2. 1-wasted, 2- readily, 3-decide, 4-loiter, 5-harmful
25 3. 1-famished, 2-seldom, 3-propose, 4-dawdle, 5-baleful
" 4. 1-abused, 2-rarely, 3-resolve, 4-lounge, 5-baneful
Q.13 Select the correct conclusion based on the meaning of the underlined word:
Statement: The shopkeeper’s gambit was to ask double the price.
Conclusion:
i. The shopkeeper was fined for selling inferior quality goods at half the price.
ii. Giving discounts on elevated prices is a clever plan intended to increase sales.
iii. Consumers complained against the shopkeeper for selling adulterated foodstuff at exorbitant prices.
iv. The announcement of an assured prize in the lucky draw was a risky action plan to gain advantage.
Ans 25 1. Only ii is correct
25 2. Only iii is correct
25 3.Bothiand iv are correct
" 4. Both ii and iv are correct
Q.14 Select the word that is closest in meaning (SYNONYM) to the word given below
Glib
Ans 25 1. Implausible
o 2. Easy
25 3. Inarticulate
< 4. Lethargy
Q.15 Select the word that is opposite in meaning (ANTONYM) to the word given below.
Incantation
Ans 25 1. Succession

< 2. Liberal
" 3. Reality
< 4. Abundant




Q.16

Which of the following statements correctly uses the idiom ' kicked up a row’ by substituting the underlined words?

A. Even if we are not able to help our friends, we should not treat them coldly and formally.

B. The machine operator created a big fuss when he was admonished for not following the instructions correctly.
C. Success is important but not by resorting to unfair means.

D. The brothers have been running around ever since they had a dispute over their land.

Ans 25 1. Statement A
«” 2. Statement B
< 3. Statement D
X 4. Statement C
Q.17 The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option ‘No Error'.
A graduate of the University of Cincinnati, Stewart holds/ a bachelor's degree in German studies and/ a MBA in finance and
international business.
Ans 25 1. No error
#5 2. A graduate of the University of Cincinnati, Stewart holds
" 3. a MBAin finance and international business.
/5 4. abachelor's degree in German studies and
Q18 Match the following groups of words with the correct one-word substitutions.
phrase one-word substitution
1. a person who deliberately sets fire to a building a. altruist
2. one who devotes one’s life to the welfare of other people | b. bigot
3. one who does not believe in the existence of God C. arsonist
4. one who has narrow and prejudiced religious views d. atheist
Ans 25 1.1-b, 2-d, 3-a, 4-c
o 2.1-c, 2-a,3-d, 4-b
< 3. 1-a, 2-c, 3-b, 4-d
& 4.1-d, 2-b, 3-c, 4-a
Q.19 The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error'.
He will have been being disheartened/ by the telephone opinion/ poll published yesterday.
Ans £ 1. by the telephone opinion
25 2. No error
" 3. He will have been being disheartened
/5 4. poll published yesterday.
Q.20 There is a sentence that is missing in the paragraph below. Look at the paragraph and decide in which blank (1, 2, 3, or 4)
the following sentence would best fit.
Sentence: It is also necessary to consider more meaningful aspects of literacy if we are to complete the transition we are in.
Literacy has traditionally been described as the ability to read and write. 1 UNESCO defines literacy as the ability
to identify, understand, interpret, create, communicate, compute and use printed and written materials associated with
varying contexts. 2 . Literacy involves enabling individuals to achieve their goals, to develop their knowledge and
potential, and to participate fully in their community and wider society. 3 . It is no longer sufficient to consider
whether a student can ‘read’ and ‘write’. 4
Ans < 1.Blank 1
& 2.Blank 3
" 3. Blank 4

5 4.Blank 2
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Q1 9ER 2023 ¥ TYHM HRA WA 3R oAV S5l HTAM IGABT [T S|
Ans X 1. 3T 3R Hg

& 2. ST 3R AR

X 3. T WY FR& Frei

X 4. T G S SRR Ao

Q2 YR TS PR YUiHd IAHH (NCAP) WS & »9 ara gl gl & fiw arg 81
Ans X 1. 109

o 2.8

X 3,44

X 4.6

Q.3 ﬁ?‘l)ﬂ ﬁqaﬁgmmﬁﬁﬂﬁﬁqaﬁ?%mW@ﬁw Fh el IR Dl Ig Bifog|

Ol 1 Raergh) | gt 2 (@da
A. 3fTd gurd 1. A&t
B. AT AR | 2. Hadhdloll
C. 3 UH1 U | 3. IAdRETS
D. HaT- &d 4. dSfted

Ans 25 1.A-2 B-3 C-4 D-1

o 2.A-2B-1C-4D-3
25 3.A-3B-2 C-4 D-1
/< 4.A-2B-3C-1D-4

Q4 YR P ol &= A Fraferfad # & fFa Isa A S=ad A Ridar 2023 9% A A9 919 A1 @1 Ia 3ifire @ & &1 12
Ans X 1. ®lCH

& 2. B
X 3. daH
X 4. @ Ag
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Q.5

Ans

feaR 2023 ® Y= B1 T U SR (Green Rising) Tg@ & a1} | fFafafad $y=i w* far sifg:

1. 39 U &1 Y qaiaRur, 99 3R Jerarg uRad= wareg 3 g1

2. AR (UNICEF) PT S-S 3FfIMIES (Generation Unlimited) ¥t 39 Ugd # Tganrft 81
3. Ug Ugd A% facelt # Y= @1 S 4t

IWRIF | A P HYF TE 82

& 1. FUT1 3R 2
X 2.FYT1 3R 3
X 3. Wi T

X 4. FYT23R3

Q.6
Ans

TAHEAG AISAT o0 gRT YR B TE 2
X 1. 9REsS

& 2. ORI

X 3. fawit

X 4. Ufgw &

Q7

Ans

Rydar 2023 § YR ¥ URY TSTIS (Android) Y& AdTa-it Yord! & 9 | fFaffaa sy w R it

1. 39 URA ¥ T (Google) TRT TSTIS (Android) ¥ 1T wga fpar mar g1

2. 39 yuITel! # $HYP (Facebook) i T[TA (Google) BT URAGR B

3. g UUTTelt WRd d WWWWWW(NDMA)aﬁ?w@uwﬁﬁﬂ%ﬁ:msq%ﬁmﬂﬁmmﬁﬁ%l

4. Ug qYad® YUTTe, P TRIAR IR B YHuard & T # ITGRT HI$ TSIIS (Android) BIF B DI YU GgTD! A
gfafda s 3t 31

SWIF § | HH-Y HY T 82

X 1. FYT1, 23R 3
X 2. 3R a1
X 3. %Y 2,33k 4
o 4. TUT1,3,4

Q.8

Ans

fewaR 2023 A aFTERU FY 7 Rrash weR™ F1 ufawr & IR # Fufafed sy w R Fifw:

1. guHA ot g A A Fufa Rrarsh gerRm 91 ufawr &1 sM@maRr fear
2. B RraTeh AER™ $1 ufadT Iedie fPa A g1

3. BAUfd Rrarsh AR @1 ufawr e Isa A g1

4. Rraroft HERTS WR16T I A

IR & A PIH-A HU &I 872

o 1. FUT1, 23R 4
X 2.BYT1,2 3R 3
X 3. PYT2, 3 3R 4

X 4. 3 T g

Q.9

Ans

2023 SeX IINE 91 33 & IR A fRuferfRag sy R far #ifve:

1. U8 GIHd gUASIUY (UNDP) gRT fae e farar am 31

2. 39 gadie U Afw F8En $T 60 ufa=ra UwT fire far man

3. 39 GASIP | UdT Iadl @ 1 10 ¥ | a4 9 T3 3R wfgany ufgensi & ufar snuraya yabe @q €1

4. FYule F 3gER, faza & @y e @ &1 71T @ 6 g, nigensit &t ga-r § dgar e Aar a9 g1
mﬁéﬁ-ﬁﬁmw%?

X 1. 942,33k 4
X 2. R ud

X 3. %Y1, 23R 3
& 4. FYT1,3 3R 4




Q.10

Ans

25 feiaR 2023 &Y TSI & fFur=aUT &= F 3 TG F TR | FufrfEd sy ) R sife:

1. Ig gAT9 199 el W garl

2. YR oar uref 112 el w faifaa g2

3 HRHT AP F1U 69 Hiel R Faffaa g3
g 9aT et 1 He w fHaifaa ggi

mﬁﬁaﬁqﬁawm&%v

o 1. FU13R 3
X 2. FY1 3R 2
X 3. FYT2 3R 3
X 4. R TRT

Q.11

Ans

TENINR (MAHASAGAR) & IR ¥ fAafefad 4 & faar Fifse:

1. U8 R I $ TP Ugd B

2. I WY T3 Se¥aR UERITR (MAHASAGAR) &1 UGHT HHRUT 29 HaaR 2023 HT rafora fasar mar Tl

3. MAHASAGAR T QT 9TH Maritime Heads for Active Security And Growth for All in the Region (ﬁm %@Tﬁ? T{%&'
TS 1Y BIR 3 3 ¢ §5) g1

4. T AT BT AT B Bt 3=  wrgfee angie RS 3ud sevaR ot Aig ot

SWRITd & | HIF-8 YT TE 82

o 1.2 38R 4
X 2. i TR
X 3.FY1,3,4
X 4.FY1,29R3

Q.12

Ans

To-Rrsr IR e #Y gerar 37 & e st e & orgeR,
X 1. T T F & H 1 TR SR 3ifiman 20 Rr=)
X 2. Tfidwd T F & H 1 TR &R sifiman 8 R
o 3. Td TE T F & F 1 T3 SR 3ifiway 10 R
X 4. T TE T F & H 1 T3 SR 3ifiwman 15 R

Q.13
Ans

fFrafafEa & & fram 2023 A gersh oftar 3ik a8 TusTH Hor # fugar @ ara U vy ayfua REeR 82
o 1. 1 UHSiia S

X 2. gt Segarers s

X 3. ot yruTS faawT

X 4. 9 g T TRaTHI

Q.14

Ans

NATPOLREX-IX & R ¥ fRuferRad sy wR faar #ifse:

1. oY AR AT UTegRH R THRRATSS 3RA 2023 H URAI 9eXe® ad gRT Taiford &1 8 4t
2. 98 HERTY Isd | Smifora 1 18 4t
3 NATPOLREX IX 9 fafir e TRt & dia gdaarival o au=aa & R &1 uienr s | Wafta orva 3T &) @I
mﬁﬁaﬁ-—r-ﬁﬁmﬂtﬁ%‘?

& 1. HIA HY 3

X 2. Had Y 1

X 3. g g g

X 4. BYT2 3R 3




Q.15 Ev 3= fA= (Deep Ocean Mission) ¥ IR ® fRafef@d sy w faar Fifvme:

1. g FRm et fagmt varera @ wEfta 3

2. g 9% ¥ 3aur & fore wWenfiiferal oiir ermarsif &1 faery 1 39 ulRaeHT &1 LA B

3. "0 6000 (MATSYA 6000)' ATHS aTeT | i< SR ®1 6000 e &Y T8RS a@ W1 wgsa ™M 13837 81
IRIE A | $H-Q HYF T &2

Ans X 1.%dd HYT 3
X 2. BYT2 3R 3
X 3. %Hdd HY 1

& 4. TN TR g

Q.16 Fofifld ¥ & B9 sadt 2023 & Frge adaM SU IHT FRaT TACHR 82
Ans X 1. 3ffSrd ST

o 2. Uhvl $AR g
X 3. 3roig TeT
X 4. g9 Hey

Q17  fmfafed & 3 fFd gurey dxmedt JErg IR § Asurex a7
Ans  # 1 THUH SR dIRE Jaay

X 2. Ufersirey arget

2 3. 3frem firgf

X 4. g

Q.18  fmfafad & & fraa g URife! ws 2023 § R Neife! RER (@) sidar?
Ans X 1. 3TfSATHIS CoHar fafies

X 2. JASMRTH QST Trgde faftes
X 3. I nfeeas urgae fafies
o 4. AT s Siegeiy mrgae fifies

Q.19 "¢ YR & forg 73 A& (New Education for New India)" M & IR & fFafafea 3=t w far Fifsre:

1. HRd & 1PUFd 7 ATE 2023 H §H SRIHH I YemarTd B

2. Ig AR NS & JaaqR & IR fovar mar AT

3. gt o FaopfRid = iR dgar guTe & e ol @) Sa1 31 a1 & e 59 Sifima 3t uReear &Y 18 81
SWRIF & I BIF-8 YT gl 32

Ans 1 FUT2 3R 3
X 2. i T gl
X 3.%dd HY 3
X 4. Fad Y 1

Q.20 ASEAN U1 URIECH 1A% BRH (AIGIF) 2023 HT 4T HEHRUT o smaifora far war ar
Ans g1 TR

X 2. SmuH
X 3. R

X 4. URd

Section : General Studies

Q1 FSWHWATHIZSW____ Tdt & de W fRya Tl
Ans o 1. 3@

X 2. Ry

X 3.7

X 4. e




Q.2

Ans

frafafad sy R far #3

A) PSR} frepr Faune ik R-Jufre Bl
B) duTf® ey R-Tawnfe R 7

X 1LAMAARTEBIAT
X 2. FIAATIR

X 3.AIRBEA TAE

o 4. FIABIAE

Q.3

Ans

fFrafafad sy R faar i

1. UG 915 3R ST 3r%p! &1 Y& F1atas g

2. TSR & @S dfeT &7, HRd A U Fe@yul did1 Saes® &7 2

3. URd BT RIS U Idred, Sa o) Widt & uadia &= | gar gl
4. TSR § SR B @, 3199 ST 3R a1 HeR) & e uliig g1
mﬁﬁﬁﬂ-ﬁﬁwwi??

X 1. %ad 1 3R 4
X 2.%dq2, 334
& 3. Fad 1,2 3R 4
X 4. FHaq2 3R 4

Q.4

Ans

frufafad v w® faar a3

A) U TIIUT 3 RaTa-T IR Wheu U memied A
B) URH TAUT B URaTa=T1 o1 22 FaT 1947 Y TfAUTT TUT GIRT S(U=TET 747 AT

X 1. FIAATIR

o 2.ASRBTI TI &

X 3AMAARAEBIAT
X 4 FIABIAIE

Q.5

Ans

fFrafafag sy w far $ifv:

1.%ma-m;;r;ggm(2009)%a@hmﬁﬁﬁaqmmeﬁafﬁmm?ﬂuwﬁﬂv-mwmwmw-ﬁa
Ugd e |

2. 1949 ¥ HRd TPR (Gol) 3N YT B! AUTE! INPR (RGoB) F F4 A W gxa1eR 811 & 918 ¥ YR 3R Yo & &l & §i=
o ATUR 3R a1fored /T 81

3. HRd TPR A AUTd 3R Y™ THd TSI 30 & 1Y 378 & AR P& a1 fear 81

4. zfeqor 3R ufym wikrn ¥ &t Ag fAfifa =7 & D ard BIMSTEC (@ 3iTw da s-iRefed Bk at-AQee ke fFea ts
TPHHIHD PITRIAE) YR Gfferd g1

IR # A PIH-A HYT TET 82

o 1.5aq1,2 3R 3
X 2.%ad2, 3 3R 4
X 3.%ad1,2 3R 4
X 4.1,233R4

Q.6

Ans

Frafafad sy R faar i

1. TR BT AFHERT TR 7 AU ST & Ufd yeiwifer & =9 & g=armn AT
2. AF-U-ZAE TP TP IR UH, e gRT U= fhar T Tl

3. TENTR P TR fFa § "SHP FI SieiR” RITfId $1 & e S S g1
IR d | PH-A HYT T &2

X 1.%dd3
o 2. HIA2 3R 3
X 3. %ad 1
X 4.%dd2




Q7

Ans

fareToit TSTa & HRITIS B UT 2
o 1. SIATA-3G-g 1 fOhRIeT et
X 2. TRR-IG-E M GERa 6
X 3. 3T-Ia-EH fEersit
X 4. $JI-Ia-EH JIRS B

Q.8

Ans

iofoar & R R ﬁ‘drid: ARG ¥ GHTeId BT R gl & -id f&U U ge/fdaedl &1
JUNT HReh Hel SR Bl TG+

-l @A) | -1 @)

A. 3R Hedl | (i) SRR DI b Uaradl I SRA1311 Bl
affa GauTH® =9 T T, W& 3R IReq
HaH @ 9 9l

B.GIAlD. @ | (i) g foan fop R TReR 3l
feifa AU i fGa1 o =gy

C. uaud. udt | (i) fewa<ra d=mgdt o1 oIyl & Ydid
it fapar|

D. &1l (iv) Gemadl 3R TR Tifeid13ii & SHEe
ST & gay 1 AGUH & PHSBS Bf THIEN
Gl

25 1. A-ii B-i C-iii D-iv
25 2. A-iv B-iii C-ii D-i
" 3. A-iii B-iv C-i D-ii
25 4. A-i B-ii C-iv D-iii

Q.9

Y rdemd ¥ wdfta gl syt w far #3:
A) Ve Ul A fRR e
B) WaTe Upfa & Tfersfier 31

Ans X 1.TMARALBITR
& 2. AIRBITITE
X 3. PITATIE
X 4. PIABIAR

Q.10 fHfafRd Fy= R faar Fifve:

1. 1858 BT HRd WSR U, 1857 & Uy fasiz 1 ufafsrar At 3R 1858 & HRA WeR Sfufraw & 916 $% i3
Hut Bt Wt wxfe wfdmar @ it 78, ok 3ut uRdig SuRiat SR aRRd 94, w1 & JHhE g

2. 1907 ¥ HRd ufvue fufram (@id-fiet siftfeam) 3 ura & guauri & g srem fFafas &= 9t goema ot

3.1919 & T ARIGIS FYRI A Uil TRHRI T g4 AT YUITet Bt FH3MTd Bt |

4. 1935 & YRd PR FTUFTH ¥ v e URdG T &) RITG1 1 yraur= fomar ar 3R uidia Tarawdr &1 e8imd i 1S
SWIF § | $H-3 HY 9l 82

Ans Q;;:?1.1,3,3?R4
X 2.1,2, 3, 3R 4
X 3.1,2, 3R3
X 4.2,3,3R4
Q.11 fafafad # 9 $19 I ea ifd & PRI yHTE 2

Ans




Q.12

Ans

frafafad wy= ) R Fifv:

1. amuﬁémﬁqsméﬂmﬁres:ﬁmﬁa(omnaﬁvagaawgﬁmwﬁwnmagsnmﬁﬁmm(mpnaﬁ

2008 ¥ Ry Rra Rar mar o1 3R sHPT SUAT TaSaTE (HDI) ¥ ATy Rear W 21

2. TUdies (MPI) & SR, YRd ¥ gg3mandt fd=ar & a1y shaares 4 ard @i @1 99 98t wen fagr § urg ardt 31
3. AT ST YESi® (GlI), TISI3Ts (HDI) R &1 Te YT 8, St fi57 Smars - yor—+1 TRy, JRifaieor 3R 49 aeiR &

%ﬁmmmmm%

IR § A PIH-A FY &I 872

& 1. a2 3R 3
X 2. %ad 13k 3
X 3.1,23R3

X 4.%HIq1 3R 2

Q.13

Ans

YRd & Ifau™ & Ga9 # Fufiafad sy wR faar i

%. 86d WRNYH 3ifAfSaw, 2002 GRT TS 21A B SFST 4T UT 3R T8 6 A 14 9¢ F Mg & F= B e F71 AfUSR U™ Har
|

2. 3¢ 32 AAYTH ITARI BT FUBR Y HaT & Wil ANRS! B Hifers AReRI I dfra g ot Rufa & e <y
P IR A T FT ARGR AT 81

3. 3G 242 W ATV 242-0 TP, TATFd] | Yafd 7, St YR & 3P 713 3R FTHGTS & T T Fu@T e $3d 8

4. IREAY AT B! qa-ged faRIe ST F AGRG A9 T 1 141 7, 5 529 A=Y AR, 1985 FRT SST T4T AT, 3R
TN Td-9ed @ MYUR W, [Haffa et &t srivaar & wrau Fuffya fee me g

SWRIad & A BIF-J Y g 82

X 1. 5da3 R4
X 2. FdA2 3R 4
X 3. %dd1 3R 4
o 4. HIA1 3R 2

Q.14
Ans

Jfgrad_ wfa gl
& 1.15 J&idb
X 2.1 Q&
X 3.9Y%d
X 4.137%d

Q.15
Ans

T R wer Fafafae & & e ud &Y =t 82
o 1. Tsud

X 2. fegud

X 3w o

X 4 5o

Q.16

Ans

fFrafafad Fy= R faar i

1. aftraTg A PeTHan TR St WU AU RITIT &HaT & SMYR W URA BT G99 951 URATY Sl 3% o

2. YR IR el A, A9 Sier feE & frarags afed yRa # 9k Sl & e & e Screrd 31

3. HIRT 3 IR gHeia & ufa o=t ufdagdrsii & siatfd 2022 9% 275 GW TdiHoNg FHelf &MHdT UTW $1 BT 987 7@ 2|
IWad § A PIH-A FY &I 872

X 1.1,23R3

X 2. %ad 13k 3
& 3. P 1 3R 2
X 4. Fad 23R 3




Q17  fFufafaa &  $19 @ Ffat ufm 3 ik g8 areht Afeai §2

A) Tt
B)"Har

C) I
D)

Ans & 1.A,B,C
« 2.AB
X 3.A,C
X 4.B,C,D

Q18 2011 B} THIVHT & TR o o9 | T30 AIERAT o3 T i 82
Ans X 1. degy

o 2.3

X 3.Tar

X 4. eR|

Q.19 fgfafad $y=1 R foar Fifv:

1. FAfte®, dis wal & forg uRuRv® 2sg 81

2. STqe, MaH g & qau-Hl @1 ST BT T fa=me Tug 21

3. A Sifa F2IR & Hsaad A gars T3 R 39 IRUTHEEY J9 § ygar faurs= gaiml
4. TR JUTE 3RNF A BT Bt ASTS P q1G dlg YH SUATAT 3R 39 YR B e o1
SWIad | A HIF-8 YT & 82

Ans X 1. %ad33R4
X 2. Fad 1 3R 4
X 3. Pad 13k 3
& 4. Faq 2 3R 4

Q20 fmfafad Y=l w faar Fifv:

1. URg |3 o1 smadl T, YRd &1 SgfIa HTuTs & FU § Arar Uit 22 Wi @) gelas fhar man g
2. Tpa fig o, i e oiR o e Y enfifer wron ], SR smadl s ¥ geflas 22 wrwrei & 3 uw g1

3. URd & adta &3 H Fielt 9 aTell Hiwvit Bt WiAUT & 713 TRNU gRT Tadl SR & SieT M|

SWRIF | I B8 YT g 82

Ans X 1.%ad1 3R 2
X 2. %ad 1
o 3.1,23R3
X 4. Fad2 3R 3

Section : Numerical Aptitude




Q1

Ans

U AR {1 g1 =1, SU 3R B 1 U U A 3U-1-3{0 ghHI 9 i UhR & U9 ad | GIF=T 3R S9
A PR A & U4 THH 8T § 94, odfd e 2R 3y A fdae UeRr A a6 fords 99 99 4, g A

DT GO H 2 T UbR A D U S| I, ST 3R TRe™ GRT 99 T IDR B & U1 Sl U BT 3UTd
HHT: 4: 3 1 YT, 3R SR 3R BIEH o Y YD - UhR C P U G ST H o1, Safcs QU 3R B
T H U GRT 99 T DR C P U1 gerl & S 21 UBR C P U7 9| i fasharsil 3 g UbR &
U1 @1 Wid G[+1T S{eT-3erT HiHdl U &4

2AHHYUT (A): T8 THT ¢ b MY A UHPR A & TS UF DI 21 Bl 81N U, TSR B & UdP U Hl 5 & ArH
R 3R YHR C & U U4 DI 73 Bl 81 UR &1 3R e 2114 &1 A1 ASId T, 911 TbR A & TP
U &1 34 & TH W, UHR B P U U Bl 33 Bl 811 T AR UDR C b U U Bl 5 & a4 W &1 3R
H 3267 H1 MY Hoid fbdn; 2R BREM - UHR A & Ui U Bl 28 P ATH I, YR B & Udd U Pl 35
& @I TR 3R YHR C & UdD U DI 37 B S1H TR =1 3R Fel 60 HI 1Y 3ifoid fhan

SRUI (R): <IF GHITAd e GHIHIU §H 2R 8@ H31 IR gH Il fob gH U 3ifg i THIY fHddr g1

& 1.
3YHYUT (A) 3R BRI (R) ST T & 2R BRUT (R) AHSHUT (A) BT T TWHIHR 2|

X 2. 3fUGYT (A) ST ¢ AR BRI (R) T 31
3.

3UFHUT (A) 3R FRUT (R) SFI T € Wich DRI (R) HFHYT (A) BT el TP IH0 el 2|
X 4 JHUHYT (A) A § 3R HRUI (R) T ¢ |

Q.2

Ans

P 3R Q U &/ &l 90 &A1 H B Tdbd €, Q 3R R T 112.5 &1 H B Tebd €, widid P 3R R 5 150 faAf
o H Febdl g1 P DI o H X, UiE T SR &, Q B garl 7 Y, &I-fdgs $I@ 8, IR B g H Z, 2.5

T SR g1 TS X, Y 3R 7 Uh WY BRI Hd ¢ dl 39 BRI Pl G dH o [0 HG=AD [S-1 & T 1
Fifom|
x1.31=
29
v2 31=
29
x3 302
29

x4 312
29

Q.3

Ans

328,000 W 20 wfed 9fF a¥ Fr X ¥, 1 ¥ F Bv yd-afds 77 ¥ wrfy o T3l == 3k
TTIROT =0T & &1 397 79 1

A 13250
X2 3270
x3.2300
v 4 3280




Q.4

Ans

11 FEarsT & 3tET 44.5 &1 ofg 989 o gt #r g 42.5 § 3k 30 o gt #+v see
45 §, & AT HEAT AT HY

X 1335
X2 295
3 3.5
x4 385

Q.5

Ans

207 — 54+/6 + 42 BT YD A J1d BT
X1.9-243
X2 9-343
3 9-32
X4 9_242

Q.6

Ans

g?laaﬁaﬁqa?aamﬂaﬁﬂﬁé?mmrﬁwl 8, AR w, 3R w, HHI L, 3R 1, dE34] a elel & HR
(3 ML =) + (7305 = 1) + (730 — 1) = 01

ST U, 71 =i fSU U A1 & dee H Fafeiad # 9 SH-91 [dbed 93 82

HYF 1: T WIell o8Il &I HR SISl @i oidls & 1 o SFUR URad-id eidl ¢

HYT 2: SgTol & BRI Dl HR, TEIS Bl dalg & 99 & TR YRad-1d gidl g |

Y 3: BRI Higd FIele &1 HR, Tels &1 ¢alg $I °9Id B8 & HT9R URGd-14 gidl ¢

X 1. T Y U Iy o R U1

X2 BYT 1 3R HYT 3 Ub Y A+ W UG €|

X3 DY 2 3R HYH 3 U 1Y o+ IR 91w €|

v 4 DY 1 SR BYF 2 T 1Y W+ IR G ¢ |

Q7

Ans

867 M TEAW o Tk 9T W, Ugel y AT TR [Aeprell 718 3T 38 U=l ¥ gfaenfya fFar @ wus sfawaas
¥ ag I F AT R Ol F Aaw 9 F wFd w9 a - b €1 59 Br ¥ y e ferer il 3w we
o 9Tt fHemaT T gEy sfare & @g 9 # asa A 9@ @ eean w9 7 caed sgaa 169 1 120 g

(y + a + b) F AW 7T HifST)

1221

X2 224

23220

x4 222




Q.8

Ans

(x, y) YT QUlch| &1 Udh T S8 UHR 8 b LCM (x, y) - HCF (x, y) = 143 8, 3R x > y B
SURIG Uy, YT i fQU MU Syl & dde # Fofafad 9 9 sH-ar 99 g2

HYT 1: HCF (x, y) & A9 9HIad A ¢

HUT 2: (x - y) DT GAGH AF 7 B

HUF 3: (x, y) B 6 g ol &1 T8 Tl I I Hd g

X1 YT 1 3R 3 A § UfchT DY 2 A G

X2 Had HYT 1 AR 2 A |

v 3 JFl PYT Id gl
X 4 HYT 1 AT g Tfchd HYUF 2 3R 3 T ¢

Q.9

Ans

g1 N Y 3HF T W 5 AT §| OF a9 TG 3T Y FHT AT 72 W RN G F [F H TAAS 371
FT 87

X1 5 g%
X213 a9
X3 8 g%
V410 99

Q.10

Ans

U A A, 3FACAR A HT 27 ferid #d e, 3R 3FieEar B #5173 gfaea 79 e 3y 3as
Hal FT 3T 1380 o1, o Fof HAl H T AT F

A 12500

722900

73 3700

v 4 3000

Q.11

Ans

71640 Fr R el T a&g 15 Ffaed g o &= o7 @r g1 Ife Fra @ 3w 40 wfoea & &
forar S 7, ar e Hqmw w1 &

v 1.2836.4

# 2. 7756.2

X 3. 2665.8

#4.21073.2




Q.12

Ans

Mg 3R IO = Y Th W 960 m Vel ST S5 BT hya 6l f5ue! Tars grg & R i)
A & T SE-91/4 Sy 98 Mehy MdTad & O gt g T IWid 10 my/s &1 91d O GIeT UT?
Sy 1: 3fd, T9i1d T 80 m AT 4 ISl

FHY 2: T 8 m Ul Ubs &1 I1d 9 leTl

FUT 3: P PI Tl P12 HITT IV G & THY X[oild, AT & SRR 1 7|

X1 YT 2 HR 3 U 1Y o R G4 ¢ |

X 2. Tl Y U 91y o IR 991w €|

v 2 AHl Sy U 91 o R 4 9aTe 781
X4 HYT1 HR 3 Th 91y o R GG €|

Q.13

Ans

ar qoT FEmnsHt # AuEEe 1083 § AR e Fgca® FANESH 19 g1 Ageasd AT A HY

x1.19
X2 38
¢ 3 57
X 41083

Q.14

Ans

el A fG@er & FA 217,500 3 235,000 F ar % vF swa % G av & 3T A g
T 7 9900 am| e & ffwar 79 #

A 1. 75600
A 2.36000
v 3. 36600
< 4. 35500

Q.15

Ans

U GHMGR - - Wb &I alet HHRE: 3132, T160 3R Ty Wid kg P & T WS AR 3T 9:2: 1 UG o

ot e fAfsr @Ietl 1 Wid kg ifeba e 2238 iR 801 T, GPrar Hifed gea & 1 & SR ge ol
g 3R TR U 40% BT AT ST Bl &1y BT HF (a1 sil?

« 1. 192
X2 184
X 3200
X 4. 196

Q.16

Ans

348 #rex o<t v YerEr 36 faHiEer #r wfar & T W ¥ 9§ oF I F 50 ks H IR A g1 I
& wars e 87

X 1. 146 #Frex
X2 176 #Hrex
v 152 #rex
X 4103 #Frex




QT ofy Tt gea $ Biswr 15 giaeE @ & & A ¥ o F 896 A i ¥ wF @ S 82

Ans X1 2525 gfaeE
X 2 355 gfaerEa
v 5 27.75 wfaeE
X 4 20.5 gfaerE

M o RARTT TR 0 s TR AT IS A T I W T T
e X118 gferE

v 2 16 giaeg

X3 15 gigerd

X4 17 giderg

A 1o fomiy TG B S RS SHMER A < HES Fe 5U TSR URAad &1 & HiRm & e o gud g,
Tgell Fe T Had df ¥ 1| 3fE oI g, axg P 3fdhd T BT p% A, Tl Haa Tgdl Fe A I & 9%
I DI fashd g 2y Ul 3R 9 P1 sifchd Ged 3x oI

JWRIad U, 9T -1 U T SyHl & Hay # FHgfafad # 9 oH-11 fdeeg aa g7

FUT 1:n, p, y 3R x & HAHE HHTE: 3, 15.52, 8900 3R 10000

HUF 2: n, p, y 3R x B HHE HHIE 4, 21.69, 12730 3R 15500 B

Ans

X1 GHl HYT I B

X2 Had HYT 1 GHI g

X 3 Had HUF 2 GHI B

v T AU DI ot B GUT T 3

@20 A Bk CaF2:IE ¥y F 3w TRy & wry agEd #) 4 A a5 A F 3 R

a:ramrp%a-c_.rrﬁ'qnaﬁa@aﬁ#agmnaﬁumé:mzwwzmssm;gmﬁ,r—frAafr
T F 3T AT & FT H 350864 Hem &, a p 1 AF fhgaw @I

Ans X 1. 67.5
X2 60
3 625
X4 75

Section : Reasoning and Logical Aptitude




Q1

Ans

I Y=Y BT 799 ST e Temd 3wt yer wafta 8 forg ver fafafad ay=g @) St J&fta g1

(FYe: Temai Ht 371 fufore siwt A ae fam, yof semnsit wr wfhart @1 st =@ifgel Ierevur & forg 13 dfvm - 13 w®
maﬁﬁﬁﬁmrgvnmﬁnwaﬂmm%l 13 B1 1 3T 3 A s 3R TP U 1 3R 3 W AfHAT H1 F1

gafa T8 )
(25, 75, 200)
(36, 24, 240)

% 1.(35, 45, 185)
o 2. (49, 50, 393)
X 3.(64, 55, 457)
X 4.(16, 18, 98)

Q.2

Ans

39 9TH FT 94T w1 AT &7 75 fiE FT AT 9T FAer g7 FehdT

1"
15
13




Q.3

Ans

fafaf@a SRt B aryde ufer ok 9% a1e AT 7T uy %1 3w dfvml

FYT - 33! TU & T P T1AN[G ¢/-A B W I g HH 3| TUIY T I H1 5 GG Je™ 3t oevd ¢ fb ave oy
T w1l B 9 FHaw & fore goa farar o W | g8t 9 @ 0 Sdee uRkaufRial SR Sudiedar e axgsit eiv |
1fe & Fraw 2 72 ¥ divgl 9t srqeiansl & ouR, afd 3w-A 3 ReRa a9 €, dt i, ﬁﬁﬁmm@vm‘faﬁm
IATeH MRIF AHSRI &1 A it fFrawr fan s =anfee)

AMUH! HYT B &Y 75 Wt a1l B 7 A1 ] 3R U A &) S e & sy W Hyfia wen @ 1 aifhe wu @ few
PRIGTE BT TAR0T fHar o= Tfged

A. SRI-A B TgH a1dt AT Bt ST Fad 31 U 8 WA & g et 9 A1 iR 39 e wwa o 3% fonsdt oft fawr fawew
TR HIT g1 BT AT

B. 3=M-A ¥ &N &1 fafira frawr faseal & ank & winre s fasan s anfde arfes @ 91 adtel | = & 9 o Sifte Iaure® 8f
IR s yfowd ye™ H¥l

c. faius &t =il & SER, @ &t By, fafrator a1 Jar &7 I &= & srom Faz FA A gt far s @ifdul
D. ¥ Iy ¥ vid N (a7 F10t &4 3, @) fhll bR & weger fadzht fawr 1t srgufa 7t <& st =nfea

1. 5aqB

X 2.%ddA, C3RD
X 3. FIAB 3R C
X 4.%ddD

Q.4

Ans

3 SeRTFIT YT | TAd Ug T 99q Y|
H25U, 130T, J35S, K40R, L45P

X 1. K40R

X 2.130T

 3.H25U

o 4. L45P




Q.5

%ﬂﬁw&@%mwﬁmﬁmﬁwmmm”m$mﬁ%ﬁg%@ﬁaﬁ&@qﬁﬁ
|

(.
N\E
=
(X)
Ans
X 1.
4. h
Q6 THURGRAK,L, M, N, O 3R P ATHS B¢ UG & | N T} 31, L F1 3mg F1 7 T 21 0 Tt 3y, L 3R M Ft Fat 3G F TRTaR

Ans

21 P B 3T, K 3R N B $1 g & IR 81 K 3G, M &1 g A 3neht 81 P, 0 A TP af 78T 71 K 3R M Ft 31g &1 a1l
4599 1 N 3R L Y 31g &1 IRTwa 32 99 g1

3 7S SERY F YR W FAuff@d & ¥ s 9w 32
. P &Y Mg 41 ay g1
1.0, K& 21 ¥ TST 81

o 1.ATISRATN
X 2. pad i

X 3. 18R g

X 4. bad |

Q.7
Ans

TS 3T #, 5471 1 ¥ 843 W R § Tafd H&1 A 85 TSPl € | HUR A ST BT RITH T 82
X 1.5

X 2.3

& 3.2

X 4.4




Q.8

Ans

Q.9

Ans

gA'Gﬁs'aﬁmfaT%, B "T[UIT" &Y SRITdT &, C "IeTa &Y SRITdT 8, MR D "HIT HI gxitar 3, af Fruferfaa awftezor &1 «n

37A2B70C189D7="?
X 1.110

X 2.140

o 3. 150

X 4.130

fFrafafa ar smepfa gl & @ @9 fft Af¥a yoR | teaur § ok 39 UoR U g 9491 8 | I9-97 Thfa 79 39 91g
q Yafta T8 872

ﬂﬁ.ﬁb

X 1. O ﬁ
A oo ®lm o
A . o P T

o 2. ﬁ . tI:J
© 0 A A

N

| 4] o () ®

X 3 :1} . B
® O 0 o
w o+ 3 =

X 4. A o

&
™= U.-ﬁ'A

Q.10 wuaeﬁvwﬂ;maéiﬁzl)aﬁ?(ll)mw%lanqﬁugﬁnfﬁam%ﬁ?a?ﬁﬁ%mwéawwwéﬁ%ﬁq

Ans

JOied/TaRae § 3Yal g1 | gl PYU-l P ufey R ITd uyTd Ifa I<R FHuiia Fifem

UY: Ut &1 e A o7 Hay 872
(1) Iefiep Y TR P 3R Wdbd Hd 5T, AR A FeT, a8 A wran o & ufa qraq & fUar S vl IR w1 I
() e 31 TR Y 3R Wb B g, IRT A He1, T8 A qTaT $ T B Ul 3 1 W, IR ST YA 7

o 1. 3B U | T o T ST Uy HT IR S & N Tuid 8, Siaih Sidhd Hu 11 H o T SeT Uy &1 SR 3 & fore yaf g
Bl

X 2. 9% BT ITR & & forg S o= 1 3R 11 H fam ar Set 3awas B

% 3. 3(pd HYF || H foar mar ST Uy BT IR o1 & T Tui B, e 3t Hu | H faar T Se1 Uy 1 SR 34 & eyl Y
|

X 4. UY BT IR 7 S faw S =T | 3R 1 H o mr Ser vafe 78 21




Q.11

Ans

T wy= faw U & R a1g 3 Ao wwifdd 1 307 1 i e § | Fy= &) 9o 9 ge, Ha & 3 rre: g at &
wdta 819 &Y, fvla & % @19 a1 fased arf$e 0 & Sy &1 SgaRor war (@39) 81

FU |: Tt 9719 g B
BYT II: B 3T THIET T8I &
FU IIl: $S THIC TSR gl

e | o THTeR TeR Ad
ey 11: $5 3 eueR B
X 1. Fad FsHY 1| SITR1 Rl §

X 2. %ad fIepe | SR HRaT 7
o 3. T | SR A€ Il SR HRaT B
X 4. Frme | 3R 11 AT SRR R §

Q.12

Ans

‘A=B' P 3qf g F A BF AETRI
A@B PTASEF A BHTUE I
'‘A%B BT IS fF A BIBTUCRI
‘A&B PTAEF A BIHTRATRI

IWIFd PRI F YR R, T HIE fF 2T T Y= # § S9-91 fAHifed sifieyT ®1/% SRT 8 ol 89 d €, afe a8
femmmifFveap%R=c@N Bl

SfHFHYT: W B ATdT, D F HTS B Tail 82

PRUIA:V %L

PRUB:W@T

X 1. 3fFHY & Ui Fad B g HRUT§

o 2. EF F NS TAAMNR T B FRUE
X 3. 3fHYT & Ui A 3R B Sl HRUT §

X 4. 3fAFHYT & U1 Fad A FRU

Q.13

Ans

TTeal Bt A1 aifdh e wH B afRid &3 3R IR SrgwH &1 7a- B3:

1. 99U

2. OBl
3. QRTATaRIT
4. AT

5. ggraT
X 1.31452

X 2.34152
X 3.34125
o 4.31425

Q.14

Ans

fAf3d T & YR TR MISTER-8, U (fEd TR & UHWVLP--88 T Tafd 81 FIXING-16 3T UHR JQLALI-272
Y ST g | GHM A ol Ule BRd gY FRliRad H H BH-31 Jl 9 g2

i. CEMENT-10 (W) KWQLOT-360
ii. PLINTH-18 (X) QHGUDI-210
iii. GARDEN-20 | (Y) WHFXDI-696
iv. FAUCET-24 | (Z) WQHPHG-150

X 1. Bad ii-W, iv-Y
X 2. bad ii-X, iii-Y
o 3.5ad iv-Y
X 4. %ad ii-Z




Q.15 fafafea e @ & Tad ug 1 999 31

6, 12, 48, 382, 6144
Ans 51.48
X 2.6144

o 3.382
X 4.12

VI zx T FT IO FY T SEANTET FHE ST F T e (?) F ASEAAT HE)

IREE

Ans

w| X

Q.17 US HEIfdeed H, 66 BT b WA UG HId §, 62 BTF UTT I RS P §, 58 BIF Wivl T UHS HId §, 16 BTH AP 3R
U1g it Y Ui Bed €, 27 BT UTY 3NR Sl T G Ue Pd & , 3R 13 BT 9l 3R Wb Fifta Sl g #ed &1 1S off
Y Tl g B T8 HRaT © | Td Y P Pa @l FH A $H TP YR BT Hiid 13G 2 |
Ans w 1.130
X 2.120
X 3.110
X 4.140




Q.18

U 19T ¢ HINTH, "FIXTURE' &1 '42737' & ¥4 H 0181 O 8, SR TORMENT @1 '281442' & ¥4 ¥ fora
T 8 1 &1 713 BT 1IN & SNR FRfired & 3 $iF-91 98 ffam 82

s o

(i) PROGRAM | (W) 322049

(ii) JANITOR | (X) 422429

(iii) FULCRUM
(Y) 251843

Ans X 1.%Hdd jii-X
X 2. Fad i-W, ii-Y, iii-X
X 3. Fad iy, ii-W, iii-X
& 4. Had i-W, iii-X

Q19 P, Q,R,S,U 3R VIN® 88 aafet T W ufd &, Tl IR fezn 91 iR finRa giex 93 81 398 @ ud®, 98 fafi= wrgl
IS, feweh, Prawmar, 4as, Rryer ok 9Rd # A U-Ue | Yaftd g1 STl arar safed, GId ard Afed & a1 3R TR R
eI U, R I AR S B S SMRBIR, PFH TS SR G ™M W I PATS AR SHIS AR S, RF e 3R Ty ==
W 21 P, U ST Frean teieit €t 81 R Rmer & 7€ 81 Q, v & aré iR i /I R 1

& TS a1 & YR W Ffiied § § #9919 99 887?

I. I qTer Afe, R aret safed & grs 3R gk ®IF W g1
II. Q, P ¥ T8 3R gy R TR I3T B

1. feeeht aren =afe, gas o @afea & 9 iR M WA R B

2 1Tl 1SR 1 e §
& 2. 5ad 1 3R 11l 961 §
X 3. %ad | 3R 111 TG 8
X 4.%Had | 3R 11 TG E

An

7]

Q.20 4R &R Uy Ry U €, RFd & di fd FAifda a8% A w9 § ok vo e 71 fiww 3rer awe &1 99 a3
Ans K 1.dM

o 2.PT

X 3.HK
X 4.AD

Section : English

Q.1 Select the word that is closest in meaning (SYNONYM) to the word given below

Entropy
Ans 5 1. Futility

75 2. Efficiency
5 3. Ineptness
«" 4. Decay




Q.2 Four sentences are given below. Find the odd sentence out.

A. An unsettled society is antagonistic to creative liberty.

B. Creativity requires freedom to flow and express itself but it is often curtailed by politico-religious authorities.
C. Peaceful times always see proliferation in artistic and scientific works.

D. The creative individual is being controlled through fear and restriction by policing forces.

Ans 25 1.sentence D
" 2. sentence C
< 3.sentence A
< 4.sentence B

Q.3 The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has

no error, select the option ‘No Error'.

For a fortnight, toddlers at St Andrew's had been/ busy committed rhymes to memory/ in preparation for their big
performance.

Ans 25 1. No error
/& 2. For a fortnight, toddlers at St Andrew's had been
/5 3.in preparation for their big performance.

w# 4. busy committed rhymes to memory

Q4 Match the following groups of words with the correct one-word substitutions.

phrase one-word substitution
1. study of languages a. psephology

2. study of handwriting b. philology

3. study of election trends | c. theology

4. study of religion d. graphology

Ans " 1.1-b,2-d, 3-a, 4-c
X 2.1-c, 2-a, 3-b, 4-d
X 3.1-a, 2-c, 3-d, 4-b
X 4.1, 2-b, 3-c, 4-a

@5 Match the following groups of words with the correct one-word substitutions.
phrase one-word substitution
L. murder of a whole community or race | a. fratricide
2. murder of one’s brother or sister b. celibacy
3. the state of remaining unmarried C. supremacy
4. the state of being the most powerful d. genocide

Ans X 1.1-c, 2-b, 3-d, 4-a
X 2.1-b, 2-c, 3-a, 4d
X 3.1-a, 2-d, 3-c, 4-b
" 4.1-d, 2-a, 3-b, 4-c

Q.6 Select the most appropriate meaning of the given idiom

In the heat of the moment

Ans 25 1. Under firm control, well managed
25 2. Approximately, almost, somewhat, to a certain degree
" 3. Overwhelmed by what is happening in the moment

< 4. To have something secured




Q7

Ans

Select the word that is opposite in meaning (ANTONYM) to the word given below.

Recalcitrant
25 1. Impede

5 2. Halt
< 3. Supress
«" 4. Amenable

Q.8

Ans

Arrange the given sentences (1-6) in the correct order to form a coherent paragraph.

1. Porsena, the King of the Etruscans, had raised a great army and was marching toward Rome.

2. Then, one morning the army of Porsena was seen coming over the hills from the north.

3. The Romans did not have very many soldiers at that time, and they knew that they were not strong enough to meet the
Etruscans in open battle.

4. There was once, a war between the Roman people and the Etruscans who lived in the towns on the other side of the Tiber
River.

5. So they kept themselves inside their walls and set guards to watch the roads.

6. The city of Rome had never been in such great danger before.

X 1.315462
X 2.612543
& 3.461352
X 4.135624

Q.9

Ans

Select the correct conclusion based on the meaning of the underlined idiom:

The boy exulted in the success of his petty thefts but the Argus-eyed mother knew it all.

i. The boy was clever enough to take a little money at a time so that his mother never noticed it.
ii. The mother looked at her boy with such love and compassion that he regretted his actions.
iii. The mother was extremely vigilant and caught the boy red handed one day.

iv. The doting mother failed to see the faults of her boy and he became bolder in his acts.

25 1. both i and ii are correct
< 2. only ivis correct
25 3. both ii and iv are correct

" 4. only iii is correct

Q.10

Ans

Select the most appropriate meaning of the given proverb from the options

The grass is always greener on the other side

25 1. Your home is the most comfortable place in the world
" 2. People always want what they don’t have
#5 3. Nothing is free. Even the things that are free have a hidden cost

5 4. If you're trying to convince someone of something, words and ideas are stronger than using physical force (common in
politics)

Q.11

Ans

Select the correct conclusion based on the meaning of the underlined word:

Statement: He has been a somnambulist since childhood.

i.He entertains people by speaking without moving his lips as if the voice is coming from somewhere else.
ii.He walks around in his sleep, unaware of himself and his surroundings.

iii.He is an expert in soil management and field crop production.

iv.He is a reformer who works to achieve social or political change.

25 1.ivis correct
" 2. i is correct
25 3.iiiis correct

25 4.iis correct




Q.12 The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option ‘No Error'.
As both a novelist and/ an university lecturer,/ she has two strings to her bow.
Ans /5 1. she has two strings to her bow.
" 2. an university lecturer,
25 3. No error
25 4. As both a novelist and
Q.13 In the following passage there are blanks, each of which has been numbered. Select the correct option to fill in the blanks.
The volcano had been inactive for centuries. There was little warning of the coming 1 , although one account by
archaeologists 2 that a hard rain and a strong wind had disturbed the 3 calm during the preceding
night. Early the next morning, the volcano poured a huge river of 4 rock down upon Herculaneum, completely
burying the city and filling the harbor with 5 lava.
Ans " 1. 1- eruption, 2- unearthed, 3- celestial, 4- molten, 5- coagulated
< 2. 1-outbreak, 2-identified, 3-eternal, 4-smelted, 5- coherent
75 3. 1-outburst, 2-detected, 3-supernatural, 4-fused, 5- concrete
X 4. 1-explosion, 2-revealed, 3-heavenly, 4-liquid, 5-conjoined
Q.14 Select the correct conclusion based on the meaning of the underlined word:
Statement: Her last novel was published posthumously.
i. She portrayed the protagonist of her novel as a pessimistic character struggling with depression.
ii. She could not enjoy the appreciation that her novel received as it was published after her death.
iii. She was awarded the highest honour and felicitated for her great piece of writing.
iv. Her novel became a best seller and she became famous overnight.
Ans " 1.only ii is correct
5 2.onlyiis correct
2< 3.both i and iv are correct
25 4. both iii and iv are correct
Q.15 The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option ‘No Error'.
But perhaps Governor Clinton's most/ remarkable achievement will have been/ brought to an end the Reagan-Bush years.
Ans " 1. remarkable achievement will have been
< 2. No error
/5 3. But perhaps Governor Clinton's most
/5 4. brought to an end the Reagan-Bush years.
Q.16 There is a sentence that is missing in the paragraph below. Look at the paragraph and decide in which blank (1, 2, 3, or 4)
the following sentence would best fit.
Sentence: Internet addiction is a modern affliction spreading wide as our society becomes increasingly dependent on it.
The US and China have started rehabilitation centres for compulsive users of the internet and even India must consider
proactive measures with regard to this problem. 1 . It is no longer a mere medium of communication but is
evolving into a virtual reality. ___ 2 . Neuropsychiatric opinion holds that internet addiction is like substance abuse.
3 It thrives on instant gratification and can cause behavioral alterations. 4
Ans < 1.Blank 4
< 2.Blank 3
/< 3.Blank 2

«" 4. Blank 1




Q17

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option ‘No Error'.

The museum was built in 1972, although/ the chief's home and store (the museum's main attractions)/ remained closed
because for their fragility.

Ans < 1. The museum was built in 1972, although
«" 2. remained closed because for their fragility.
#< 3. the chief's home and store (the museum's main attractions)
25 4. No error
Q.18 Which of the following statements correctly uses the idiom 'at the eleventh hour’ by substituting the underlined words?
A. While organizing the event, we realized that we were running_short of time.
B. The runner in the third place overtook the ones ahead of him at the last moment and won the race.
C. She believes in planning meticulously well in advance so that there is no exigency later.
D. He disturbed me late at night to inform me of his appointment as the Commissioner.
Ans 25 1. Both Aand C are correct
«" 2. Only B is correct
& 3.Only D is correct
< 4.Both B and C are correct
Q.19 Select the word that is closest in meaning (SYNONYM) to the word given below
Infinitesimal
Ans 25 1. Gallant
" 2. Insignificant
/5 3.Bold
25 4. Unabashed
Q.20 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct
sequence in which these parts can be rearranged to form a meaningful and grammatically correct paragraph. Opening and
Closing sentence indicate the start of the paragraph and end of the sentence paragraph.
Opening Sentence: The bustling city of Tokyo is not only the capital of Japan but also a global metropolis known for its
innovation and technology.
P. Tokyo's journey into modernity is closely tied to its rise as an economic powerhouse, marked by the post-World War Il era
when the city rapidly transformed.
Q. Skyscrapers dot the skyline, reflecting the city's economic prosperity and architectural prowess.
R. In the aftermath of World War Il, Tokyo emerged as a symbol of resilience, rebuilding itself into a vibrant hub of
commerce and culture.
S. Despite the city's technological advances, traditional elements such as Shinto shrines and cherry blossoms remain
integral to Tokyo's identity.
Closing Sentence: Today, Tokyo stands as a captivating blend of tradition and modernity, drawing visitors from around the
world.
Ans X 1.RPSQ
& 2.SPQR
«" 3. PRQS

& 4.RQPS
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Ans X 1. Al e aiS, AR

X 2. TTHISSMRET (NCERT)

«” 3. T (IGNOU)

X 4. ddfius (CBSE)
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Ans X 1. Jer 1
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Q.5

Ans

2023 ¥ YR AFREA & Wy & Fafifaa § ¥ o-ar a3 a8 82
1. U 3ra Y & arasg, 2023 SfaT-uf3m ARG B 9= @ $ad 5.6 Ula=d $H qul & A1y G g5 1
I1. ATIREA 2023 BT A A FA Juf F F9 & affpa fomar mar o1, Y TR a6l & ugd aR 41

& 1.1 3R 13T

X 2. %ad Il

X 3. %bad |

X aAdIsRAN

Q.6

Ans

qdav 2023 ¥, dWASI A W "WgfOI® AT DI TH 78 USITa Pt Wil B 81 Hed 1 39 73 werta A Aenfefer #
far=ivar a8 @ % 39 R 3% Arer 31 6 WA g §

o 1. WA

X 2. %9

X 3.9UdT (USA)

X 499

Q7

Ans

fFrafafaa & @ o9 a1 Fy= 39 URd-3mRfEal & IR ¥ 9d 8 e smifve & Jaiw dafe Rpr @ awmrf=a faar
1|

1. AFEER 2023 H T URAT-SARF Fqnfret &1 orAf¥ast Agufar St a3 gRT g SR M & &= & Wiy gs! @
grTea o

2. S1. 3N M & AT Asd BIR eqIarel U 3199 A JWTf~a fbar mar|
3. BT, AT I P A A d 16 S & gwT=d foar |

4. 39 Ug® faoars 7 Uit WISl 3t § o FIR A d8 H TErar w31 & 1Y Siad & R SuaR &Y wam st 7
X 1.%dq2,33R4

& 2. Fad 1,233

X 3. %aq 3 3R 4

X 4.%ad 1 3R 4

Q.8

Ans

TS TER 7 fausasT =9 & 9ger v 5@ #1 gwon $1) 87 divor & @ey A Al # ¥ we-a
3T 7

1. T80 & FEgAA & 6 g, 2023 & O av 5@ & e & aiwor #

2. @ aT forer AT, gdldﬂ:;BﬂTWﬂﬁﬁ%l

3. &= &t &1 et 3w 57 7 g o & §@m 55 @ s gl

4. TEST & Aged TN FOE WHER & =7 F o ff FTEw 7 Il 9w gfE Fr 2

v 1.3 3 4
X223 4
X313k 3
X413k 2

Q.9

Ans

YRA & THEIAT (AstroSat) F ey # fAufifaa & ¥ #19-91 Y9 T 3782

1. 9EY 2023 ®, YA & TEIT (AstroSat) SHdRe gRa=i = 600 A 3P MHI-XY 9% (GRB) BT UdT TR 8, &l T fa=ma are
Pt g 91 eI dRI & faerg o1 udie 71

%.w@awnﬂa@aﬁﬁqﬂiﬁuﬁw%mﬁmmmﬁmmsﬁm(czn)%mmaﬁaﬁ?ﬁ
|

X 1. bad2

X 2. %ad 1

X 3aaiRAad2
o 4.1 3R 2T




Q.10

Ans

TR 2023 TF F ATAR, FERT Taddl T B 82
o 1. UdIU $AR Farda

X 2. 3 arie It

X 3. M foow AR ™

X 4. Sl IARIH G

Q.11

Ans

R fipdpe & famrel wfte dgae 3rTed 2023 # HagraT SRsod1 SR Rian & R HRdg @ oA & TP udie & &
# U 75 U} I B3| 59 e # Prafifad 4 @ - sy ad @2

1. S (ECI) dgadR 3t fi ad F 1T Aagar IFREHaT Ieigd I F I I A1Y TP THFIAT 0 W FEIER B

II. 2019 F FHHHT TGl & forg, SIS (ECI) 7 fipdex Tr.TH. Ui, Siftear otk @1 3R gadarst 73 1A $T ouA T
Tfidl & &9 | AT ATI

X 1.Ada eRAG

X 2. %ad |l

& 3.1 3R 1Al

X 4. Had|

Q.12

Ans

el R & W= ok T F Tay A Fafif@a § § $9-91R $Y 3R 38?
1. M9 aR =T 917 UguuT &1 AR 339, 3R Rreraal & qura™ $319 & e Rl wer &1 fdau $s 81
2. graifer W4 ak &0 qwd~ SRE Har § afe 24 x 7 AR feaR 2023 # = g1

3. W9 Rl diarga vz & arega & e, arg wgur 9 wefta Rerdl & ar 8% 19 ok w9 8 gfad $7 a@d §1
X 1.1,23R3

X 2.%Jd3

o 3. Had 2

X 4. %Had 1

Q.13

Ans

fawaR 2023 ® deq A F1, g FRIT YRR Tt srgaem iR Rrem ufvwg (ICFRE) &1 we1ewre fged v mar) &=
@ & wey A FufifEa & @ $i9-a1 HyF 9g 32

1. U 34, 7 U ST P 1991 99 B ATETHTH (IFS) ARSI &
I1. 39 U R HRIUYR JUTA A Ugd, 3d1 7 od IR auf 9o sngfiuwas (ICFRE) ® 3U WeifHexr® (RR1em & wu o &1 farani
X 1. %bad |
X 2. pad
X 3. AdISRAGN
& 4.1 3R 1 AT

Q.14

Ans

T H 13 GW FeohT F=1 i@ F e 3@ et FIER (GEC) =0T || - $e-Fee orafaes fawer
(ISTS) * Hew & A=fof@a # ¥ F9-0/8 FI49 38T §/2?

1. 30 TRTSAT FT 18 31FgaT 2023 F FAlr & 7% o

2. AT FuTT FE 4T T A i sremsrar § i e $ e a@fy 3 5w 9w & oah dn
3. 39 afdisar & fed 9% 2020-30 a% Tulid #= # 7e 7 &, TwH go FqAlag @ 220,773.70 05
gl

4. Ig 9IS 9§ 2050 g% IR-SEneH fua @ 500 GW T Rl &THar & o157 & 9t e § e
FEEMT

X‘lmz
X2 Faer 3 3 4
X3 Fger 1 3T 2
v 4 el 4




Q.15

Ans

fay gedt faaw 2023 ¥ way ¥ Fafafae & @ P FyF I8 32
1. fay gedt faaw 2023 1 fawy, 393 9 3/@R WHE (Invest in Our Planet) 81
I1. g2t faaw g% adf 22 3ria &t =TT AT g1

& 1.1 3R 1 g

X 2. %ad |l

X 3. %bad |

X aAdIsRAN

Q.16

Ans

s ofed FAFET F AT deiseegdr (CGWB), $5Te Auaear #1 faffa e it Jeaeea aar & e
e AR TS & sera deuur o enfae g

IRIFT Tediored & TaY § eafaad & § Si-T/8 T@r Fua 882

1. ¥a & 25 T=at % 230 e & Fo A°N F 55 & 3= 927 @ g

2. 8T & 27 AT F 469 ol F sfsrer & weiRrgs 9w T g

3. 5 A ¥fF AR FENISS F GAT TS & AU A FA oA Ufkd To AF ReaAeaw 3 A 4 fewaw 2023
& ASTHAT H AASNT &

X aer 1 3T 3
v21, 2373
X3 Fael 1

X4 aer 2 3T 3

Q17

Ans

T A HCAWRAT F AT &7 & T 20 AN, 2023 F @ AT F FeAoad # ¥ s @y ey |
gEae e

1. ¥R Soegiwed ffes (BEL), Tnfeamarg & @y & ey

2. =gFaw 3fzar ffdes (NSIL) & wry v ey

3. 9a saAfRew ffes ¥ oy o ey

4. FTEA US T F WY TH FEA

X1 Faer 3 AT 4
X2 Faer 2, 3 3T 4
v Faa 1 AR 2
X4 Faer 2 AT 3

Q.18

Ans

$ERANIT RIforaH et 2023  way A Frafifed ¥ @ o vy wd 32
%% mauﬁw(|Mo)aam&uﬁanma&mamanﬁm%m%wﬁmwmﬁmm
ST 3T

.39 atf %ﬁi%nz JMETAST (IMD) BT fawg TugTed, fRRET 3k ST (Museums, Sustainability and Well Being)' &1
& 1.1 3R 13T

X 2. @ RTg
X 3.%ad |
X 4. Fad |l




Q1 Jror & weit Feafacamerdt # arfdewr fea@dt & v @it ot it Age smF & g9y & Reaff@a d @
FIA-HIE Fad T 227
1. 3=aax e e & FAadr 2023 F 3o F T 3=9 Re7 FEE F dHaeg aifoe e & P
Al ey 3Eerer & T e Sy faa

2. aifereT et s Rreafaegren Pyat & doeia 3Fer 75 gfdes saf2ufa & amer 70 gfdera s9fewfs &
TTY 3T FATET ST F 89T oF Tehal 21

3. I A= vF deafeh frafeame snEwe RE-aadr A gur & givon &= amer gum
Rreafeares am

4. s=aaX e e 7 21 a8 ¥ 3w g F wh afoe Ref@el & Rw #fwan 60 R & miawr
3aepTer 7 o g S

At K e 1 Al 4
V2 Faa 1 AT 3
x31,2 334
X4 Fger 2 3T 3

Q.20 181%?3%20:%2,qﬁa\gﬁaﬁﬁgmﬁﬁw&rﬁrﬁﬁw%uﬁaﬁmﬂ&ﬁﬁﬁqmaﬁwﬁﬁmﬁmﬁmlu's'erq"l-m?rﬁ
q ®_agl

Ans  p 1 424
X 2.39qf
X 3.41qf
X 4. 449

U R gEY T FEe T U T & qourdr s
A X TR werEe

X 2. g

X3 HET3EIA e

v 4 AAET T=d

¥ gz @ Tl A § W 38 & A9 7= 9 ga o

Ans

v 1. 9o T geT
X 2. HTH T Ja&T
X 3. Hlel hl &7
X4.ER?1E$I'Q&T




Q.3

Ans

fr=fofla & & f58 2003 F 923 weitus sffaas garr sa & wfue & s sgaeEr 7 agqfeT ot & &
e

1) ==y
2) St
3) @RIeROTT

v FFer 1 3R 2
X2 ae |

X3 Faer 1 3T 3
X4 e 2 3T 3

Q.4

Ans

HIFd TF AT [0 Ga@ie & oY A oaiad # § $ia-A/8 99 7T0d a/a?

. TIEHTS (HDI) d=t 3t # @ 9w & AT GAdGd I 1 gIcAs AT 2

. TATELY HUTH F HHed FoH F THT a9 g & B smar g

. e 1 A 21 99 AHR EY ARF WY F TATH F The! e F vt F WUR W A ST B
. 9T TR F FEH 9y IFT e TS A9 @ AT AT g

X1 33Kk 4
X2 3R 4
v3 1 3T 3
x4 3o

B

Q.5

Ans

TS T AT & geu # Aeafefee # ¥ s s mEr i

L. 9= T HIET HT TN Y TE oTEr g S ReRdrer, i ueat & wuelw emwe @ =rer W@ 9esar #r
T =TT ¢

2. 58 A 2004 # afsa Bmam mam ar 3R =W AgcT FRET TR F T = E
3. et 2023 9% TUTY & AR 50F 3ewe A WS AN U

X1 &Fael |

X 2. &gt 2

X3 Faa 23R 3

V4 Faer 1 AT 2

Q.6

Ans

o of@d # ¥ Sia-87 9Rd &7 F& &gy a¥ g2
X1 1 7% ¥ 30 vt

V21 3% ¥ 31 A=

Xs 13 @31 A3

X4 AT & 28/29 WA




Q7 geafrefTaET F dou § Aeg § ¥ Si9-a1 FuT T8 82

|. SHFT TeheAe FIoerd = &1 |
. 385 =afas & 9F 3RafaT o e o & Fafa samr 7 § Ak stues slagg SR A mma s = A

ZITaT
Ans 4y

v2 | 3R 1l et

X3 FIa 1l

KegarldaRagll
¢ AREr FFea THEAT ¥ 1A F &8 #67 # 9% A 82
Ans oy 3o

X2 T g

X3 3cal g

v 4 3BAA AR PR @ @ g

Q.9

et 2023 7% ¥ IgER, fafEE & @ e T & Bue oRwg 82
LU el

X2 gFg

Q:?"’3-BE|T‘;|%;§'T

X 4. .

Q10 g Ffer & TUF =T & (ST 1960 F TF & HeT T 1970 & T2UF & 7L o), Aetonad ¥ ¥ g =7
F TEaRdr (HYV) @10 & 3997 35f0s g ae a% & difag o
. o=

. 3T g&ar

Ans X e I
KegarldraEr
v | AR Il et
X 4. et |

QM Y 2023 T 390y AHFH F FFAR, ARG F AT 3 F ey F mR@g F ¥ #E-and s w@d

FUa 1: 2T TR W 9RT 919 F T 37 3c96F 3R Fer =17 (black tea) FT EIRT FIF TT 3cEH ¢l
FUA 2: 3TF F 3FHF O 3R FOR & T 3EF &7 F

m;ramwaﬁ%uﬁamasr#gﬁrmwaﬂmlmmm%

V1 FFer 2 3T 3
X2 et 1 3T 2
X3 e |

X4 1233

Ans




Q.12

T ==t & &g &7 F Tt 9T omaa
1. ¥=ge T=Eer

. &Y TS
3. FoTF T
4. o=t T=ar
Ans  X'1.1,3,2,4
X2 4,3,2, 1
X3 1,2.3,4
s4 4,3, 1,2

I

A3 grpfae FamEr & goy & RFEAeRT § @ SiEar wuF @l 17
. S TETYS WHia & 9vd BT A9 § AR e 30% @iva & 39T B o €, 3 yeias gae Fged g
Il JTpfcier HETUAT & Ale diT R Adevig #R R-Ademoia garar # affga har r @sar 2

it Xigaridkadr
X2 et
73 et |
v 4 | 3T Il gt

W T 1w = 1 Bee fife

T | T ]

AT ToTehaT HeTaT 1.ane ¢feeey
B.g nfdrfee TS d @ | 2.faferaw =g
C.aaRT A AFpd proiA 3. ST SepeT

Ans s 1 A-1,B-2.C-3
X2 A-3,B-1,C-2
X3 A-2,B-3,C-1
X4 A-2,B-1,C-3




13 sz o s & wEy & RRE # @ e sua w @ i
L. FATE T & 2001 FH HIAT THOT FhAT AR
2. FaA H FHH &I AT HgFT AR & I AWgE miEd g
3.1993 # ugelr AR 3 Hfaflea smgwa fagsa o v
4. 7ET A" FYFT AN TAE HgEd HF TG T ST § AR e FwE oF a9 o, a1 3T 65 a9
T G TF.5TH F ST TFA &3 FAG 7F Al g

At XK FEe 1 a2

V2 FaeT 1,2 3R 4
X3 haer 1.33IT 4
X4 et 2 3T 3
W rfafRe Tt @ 39 AR & B ST B )W et
arer ear
1. Srsfa & A. T e
2. TreRIeT ary B. aTdr &Y
3. SIS AT C. T3er adr
4. TOTER |ER e | D. FeTedr

Ans 1 1-C,2-D, 3-B,4-A
X 2. 1-D, 2-A, 3-C, 4-B
X3 1-B,2-C.3-D, 4-A
X 4. 1-B, 2-A, 3-D, 4-C

U7 e T g & e F v etefa & ¥ e gueie & s9ger R o

. Sas Jearen gawe
TATA3TS (NNI) s

A XL Fger 1 3l 3
X2 1,233
73 gl 3
V4 Faer 1 AT 2

e o B




Q18 o & FFat F ey F lafEE § ¥ Fa-w FuT v

. 1570 # fffT 5w Away 1 RV WEpias FeeT ¢ Fie Ig ARG SIAGICAT 1 Tgoll SeAT-HepaT o]
|I.W#ﬁwaﬁﬁmmﬁmm,mmm#mﬁg%l

o Xigaridkad
X2 e |l
va | 3=t
X4.m|

Q19 g dfrue 1 REF F HGER, 7R v 0w o ¢ e P § @ Fi9- gpfa/fear §2
|. e HHY FATSERE
Il. T3] FATETEr TUTRTIeT AwdiaF TR
e X garl kTN
X2 et |
X3 | 3Tl g
-l

Q20 Sfgm Fr Tt ¥ TERT aifdE NEET # TR w9 E T 1A ghes SR & g 0 d sRafad
3% WEr 7Y ¥ e FifFw

T | =l

1.Bepavr | Age ufaw S5 W i gEsna & TR S §
29ERd | B.Hsd W @ e Rars

3fEmy | Carawe o F e & o

43Uagd | D.a= @ BT § e of A difh 9% IS & ok

Ans x4 1.B,2-A,3-D, 4-C
v 2 1-D, 2-B, 3-A, 4-C
X 3. 1-D, 2-A, 3-B. 4-C
X 4. 1-D, 2-A, 3-C, 4-B

Section : Numerical Aptitude

Q1 A B 3t C # por Anfaw 3ma 21,02,720 ¥l A, B 3R C 3e 33 & A 20%, 10% 3R 25% T99 FT &
IfE 37 Afee @ &1 39 3 0 4 1 5§ @ A 3R C Fr Afds 3w & devha (2 #) foaem §7

Ans 172,000
x 2. 56,250
x 3.60,000
x4 61,875




Q.2

Ans

TH FR F FRIFR Hqod 450000 o FX F Hed H Tode a9 3HF HRHF ToT &1 40 Forra Toae grar ¢l
2 Y I FHH TeF fhceT gAT?

«1.3184000
A 23192000
« 5 162000
A 42154000

Q.3

Ans

& FAFTE TH WEAHAT F UGS 1088 §| I WEA, TUT O FEAT F T F & fraar saw gem?

X1 768
X2 842
X3 1024
V4 990

Q.4

Ans

P &r 3ma 1 20 gfaerd, Q Fr 33 F 10 I3 & et g, 3w Q Fr 37 F7 10 gf3ed, R & 37 F 20
ferera & a0 g1 IfE R & 3m 213000 &, & P, Q 3R R & Fo 37 et gem?

1. 39000
« 2. 52000
3. 78000
4. 65000

Q.5

Ans

ar WEATH! @ e 3 ¢ 8 g1 I A wwamadt # Aeher 220 g1, @ il HEans # okl #eam dia-ar g7

X 1120
X 29290
3 B0
X4 .20

Q.6

Ans

THYE A (AH T F THgiE AT A AT WA F W TH AR 2 I FH TG H 2.89 T[T @ S ¢
I = &7 foheet 82

v 1. 70 wfaera
X2 80 wferera
X 3 40 gfaera
7 4 50 wfaera




Q7

T8 A FT FAT TG B F FAT F 40% HOF g 3R a7 B Fr AT 977 C A FAT ¥ 25% FA g1 A H
AT 20% FA Fr T & F9F B 3w C Fr FrAT FAM 24% 3R 33% e =T E

Fua | TEgAHT A, B 3R C & 3@ 78 F17d, 2B 3R C F T IRHF FAAr § 24% FA ¢

Fue 1I: A 3T 2B i g @iz Frd, A 3 B A For TR Ferd F 33-% I B
R # ¥ Fa-ad Fua 7@ T2

Ans i1 sl 11 @t
veaarl AR &I
X3 et I
X 4 et |
Q8 13100 F i Ft Wt sruTsy HEma wR fmR Fifv
Frafifea & @ FH-a18 $3= T8 282

Ans

a. 5 & &t U A v AR fordt = &1 3P 3iw 3 T 6 B
b. 5 % US| TS 3Hfep Taft T=mail 1 TRThd 215 21
c. 5 F U | TH A 3R 6 & o & W} v e el wemait &1 v 92 31
o 1.b3Rc

X 2.a3Rb

X 3. %adb

X 4.a8Rc

Q.9

Ans

T TG W 3HH FT AT W x % (0 < x <40)aﬁmn@ﬁﬁmmwﬁ|sﬁwm:1mwg%ﬁ
Qzawamm%w%mi%wmmm%ﬁﬁx FT A Tohaar 872

v 1. 30
X2 20
X3 35
X 4. 25

Q.10

Ans

et g 1 27 9faeE, 33 @& & 13 99T ¥ 56 #fUw 1 3% ¥ & A Faar gen?
< 1. 380
< 2. 360
¥ 3 400
X 4420




Q.11

Ans

T&F FeaATHR 9 o Tz 800 m gl FT AR IT0T UF § FAY W 9 W TF & g A & Fode femat F s

%mgﬁrmﬁaﬁr#amaﬁaarsmmw?r%qugaﬁ#ﬁwmm; FFs ik disr g ssF AW
qﬁaﬁﬂ:ﬁmmﬁgzﬁﬂtaﬁ'ﬁﬂsm%l

=T § ¥ Fi9-a/8 Fu9 T8 287

FUA |: ST FT T 6 m/AFT T

FUF |I1: 307 T F=r Fr =TT F I3FIS 2 2 3 F
Xtagarldkradri

X2 e |

X3 Faer ll

v 3k

Q.12

Ans

ofg Tl aqait & 75 wfdera stmer, 20 wfaerd & o ox 997 740 @1, AR AW FEgat F 20 yiowd # gflE |
ST 94T &Y, a6 Fol o1 T Al Thdar gem?

v 110 gfgeE
X212 gigera
X3 5 gigerg
X4 8 gigrera

Q.13

Ans

13 Taefiat &t v Fam F1 3d|a 997 60 kg &1 T FaTm F 42 kg 3R 48 kg 57 T 2 AU fagImdt nfAer
2 e € @ 15 it & 77 sitws To fraer geme

< 1. 59 kg
« 2 b8 kg
X3 61 kg
X 4 58.5 kg

Q.14

Ans

Te T A 3FA AR T H FFAT 5 1 7 §1 ST 9 Wl Fords e Aar § 3R T FF aE A H O3
¥ STAT AT g, A S H 3 3R A & A 9 1 7 & ST &1 IRH H qoied A oA S [Forde or?

V1. 36
X2 30
X3 24
X4 42

Q.15

Ans

A 3R B e o fafRaa &9 &1 54 Ga & U & T&d €1 7 12 & o5 & a1y F9 & g1 99 FE A,
B R C zarr feet 28 et & qu fhar amm afE B g@wr 6 G & far o & C g@anr 9 e 7 fFw aw
FT F AT T, O A v e w @ feat & o F FFar B

X 1180
V2 144
X3 108
x4 216




Q.16

T v fgar ar &, forwes 3¢ 9 Fua |, 1 3 1 fTw aw § | ge=n Aifew & Fla-and sy T #7 3]
¥ Bro g B

EECH
(a - ¢) =T AT forgar 22
FU:

. (@+b):c=8:33Ta+b+c=2772
. a:(a+c)=2:5
. a:(b+c)=34:43

A X e | R

X2 Fmaer |

X3 3R

val R nar | 3R
Q.17

Ans

17408 # 7TaTeh, W OIEr AT HEAT 2 § (17408 = 17 x 210)] 17391 &1 #=feh, T I3 3794=T T&AT &
3R FT TR haaT gem?

X18
X2 5
X3 B
4 4

Q.18

Ans

153 - 123 - 27 F AF =T gem?
v 1. 1620
X 2. 1340
X 3. 1540
X 4. 1480

Q.19

Ans

30 ey &1 = Sfaw F =@ i@y (A) 3t #ror (R) F g9 # 8527 2

HAPFAT (A) &ROT (R)
[(39*+9x13x429+11.7%(1.1)*+1331] | (a+b)? =a®*+b®+3abla+b)
[1.23 X 1.23 + 0.77(0.77 + 0.6 X 4.1)] st
& AT 31.25 &

(x +y)? = x% + y* + 2xy

T ST TR

X1 AT g 3T R 3TT T

X2 A 38T § ¥R R @7

X3 A 3R O T § 9fFT R, A FT TE TooEe0T qE
v+ A AT R 3w § 3R R, A &1 W& TEHT B




Q.20

Ans

T §F 6 km/hr FF TR Il F ToT IR FAT § AR TodS €S U T H TH ARAd gig @y g1 afe
630 km #T gl 7 FA H 38 14 U TS g, A §F H A A T "er IiF o gri?

« 1. 6 km/hr
X 2.5 km/hr
X310 km/hr
x4 5.2 km/hr

Section : Reasoning and Logical Aptitude

A CrffEa v &, @9 $o FuF U v § AR 39F 91 39 FUA F HUR W FT Ty R av #
foT 71T FUT HIHT T A £, TE § THIT: A9 I8 ¥ ¥I9T 9T 2T &l T fasepst #r
gfer R gegeEmg 7 Trenfa fifer & e ov Tt & ¥ Sia-ad oy, o o syat &0
Sk T F HTET HIA /A B
EXIEN
Lgo L, F&
Il. ¥ F, B &l
sy
. #% B, F 78" &I
Il. ¥ L, B gl
Ans X 1. e sy 1 HTEIOT T gl
X2 foews | 3R I g 3gEer R 2
v o B o sy 3rgEer 7 Far 2
X 4 aet fAsHY | HTETOT HAT B
Q.2

Ans

W O WA w A aE AR
X:729 2 13: Y

frafaf@a gear-grat #, vgeh gEm W $o AT afFard s qud ger grea # A g X AR Y @+ e
FEITHT ¥ gianiig far e mfge T o & SR 3R fr S gEmEt & ded o & gl 3R F g @

(Fre: FEHT FF 3HES TH R A s = AT qur FEmst W) S A gl seewr & w13 & ge
- 13 X Ffpae 7 & 13 F Srgavgemnen anfe & 31 wwar g1 13 F 1 v 3 F A ik o1 sk 3

X1 X=27, Y=1440
X 2. X=9, ¥Y=1320
v 3 X=9, Y=2197
x4 X=11, Y=2132




Ans

Q.4

Ans

Q.5

Ans

T=lafET Sl & awEs et dR FERRE 2T # 3R 9w JE Fud F & a5 @l aar #r
T AT 297 AT Fua F & % FEeEr F HUR W Rom o= @er & oFE-l seeEr s wm o
HHOT G FA 7

FUS- FAN FEA THE F HROT G F ATAS € W ¢ WA AEHA H UCAT, FAF H dear TR AR
qITRATST a9 H cTauT okl AT # HESH g ¢l T 9iEgs 3R FAT @Tr S8 emiEaed
Reedt @ det Afoea aRaae it FaRe Twa 39 afes som@ o, g7 w7 @Al O F wer W
Lm?-ra?-ﬁml

x 1.

o F 3w wEeldl # a4 A R 3R FEE g faeRor @5 W SR 4 ge, gH ey wwe ¥ fw
THIRd, FET Sfafdar F e gar fgw

x 2

TR F 57 FRAET F v 3f89F 3mfice o gonfeat $r cagear == & SFaenir o= =fegu
X 3.

& afEseet @t fema d gade Fer TR S SeEg 9fEds F owsmEt @ sgmesa @, e
gaftas &Y it T Aew Hr et F ofy FeeTehea # w5 w2 @l

"

Sy IiEad # w7 F H IRRUE 99 $ AgcaqyT fFe #f TgEeES A, §H 88 S W gEIRN0T 985
HIT TIETOT TITET FT THIA FA F I TG FAT T

3K fam #f 3N 7@ =F vw 9fed F I 99 @R A, T, T, 3, GAw, see i@ 9w, & s
SR F FFARX HOE-HET U H FERA Fhie, Farardr, 9w, SRR, aifeeae, seNfEaR HR s €
AT = 78 &% =@ w7 7 &

o FgTaTedTer & ST 3R T ATFT F4T 43T gl

» Rarer, 93T & &= d= & v B

* s, TAS & 3 AR FEY T W AT g

e, G I s & @ e ¥

T TF WAL § S 9Fd F T o W F g

e Th SR ¢ AR T T Tohiel gl

« oot 7 o gfew 7 3k 7 & e B

& IS TIEAT F HYUR W FATSRT § ¥ RIA-H FUT T /27

|. 37FAE, 9fFa F 90 B W AT &

II. ST, e & a8 HRY dEY T 9 AT ¢

Il. SfereT, AT & &% AW &7 T

X1 Faa | BT g

X 2 Faer Il I 7
X3 oger |, Il 3T 1 g #
v | 3R 1l @F 3T 2

s =ofea - g¥, g, 7, Ve, 3aw, Joe, S 3 Aot UF FUEHT H HS aF & Had A
HETT-3ET el R @ &1 97 1 FA 1 §, TUHF a8 & FA% 2 § AT 38 TR Taw FH a9 H
FA 8 g1 g¥ IR Tt & @19 Fae o ufad @' g T, e F &% FW A dd W @l gl
HE9, ST F &% FUT I 7 W BT g1 3RTT, ST F I @ 2 99 oF fave gE
FATF el g T BT g1 3Faa 3y Fromrst & §= 90 % o9 g @ g1 &Y 9= Jdof W BT 2
golt, a¥ & F @ g1 3REA 5w aF | @/ &2

K- g
v 2. Hqf9aa
23 e

X4 T




Q.6

WEH, =g, T, W, A HRX FTH BF T &, IohF F god Hewe-HeET 45, 56, 71, 65, 58 R 48
(@ kg #) T, AfFa ST 747 F =@ w7 7 @

* FIERT AR AN HEE ¥ ST 2

+ T FE T A § AT G T F g B

* AT FI & AT § WO ol B

» A TIY Tool AL 2

IFT FEERT F IR W AT § ¥ #9- Fu 597 27

|. I FT I3 56 kg 2l

Il. STAE S| gay ol =fEFT g

k) s gEt
vegarldra gl
X3 el |
X4 e |
Q7 o @R9T FT @ &, BRIEF' & 'SCHGF' & & & fomam =ar &, 3R 'CHART' & 'IDZUS' & &7 & fomr
ST E1 & T FE AN F HER HAad # ¥ HiA-a1 FE gAfed 82
lc: %<
. DANCE (W) SGNUO
Il. FRONT (X) JOFUI
lIl. NIGHT (Y) BEMFD
A v FEe LY, W, X
X 2 Fger |-X
X3 waer X, I1-W
X 4 Faer lII-Y, I-W
Q.8

Ans

foreT 2r =TT Fr 39E F o W, FEAehd THERRUT FT AT ‘33’ gem?
8+2-5+6x7

X1'53-ﬁT3
X2 835
V55 3T 6
?('4.73#:5




Q.9

Ans

33T IUTATT FH F YR 9 TREE Us @f¥ag vor ¥ YXLM ® #sfog g1 38 9%R, GAME, LGTM &
ﬁéﬁa%lmaﬁmwm?mﬁaﬁﬁaﬂamwgﬁﬁmﬁ?

l. RIDE (W) BUYL

Il. HOPE (X) MUWM

. WORD | (Y) WOKM

V. FIVE (Z) KOCM

X Faer | -Y

v 2 Faer 1Y, 11X, I-W, iv-Z
X 3 Faet iii-Y | i-W

X 4 Faer ii- W

Q.10

Ans

rfaf@a wea &, & 7% T A ¥ qod FEAT H AT HAT
8, 33, 133, 533, 2133, ?

v 1. 8533

A 2. 8545

< 3. 8600

< 4. 8530

Q.11

Ans

fmfof@a wed &, I/ 3R 77 U ow 81 () & % 3% & 3w, B ae/fmsmey & smm W)
() ¥ o AR F 3R ¥ wOlg §) e § ¥ 9, U & dH/FTH/EEY F HUR W THEAH 2
faw 71T Repedt & § 3gIF &1 =97 Hiiaw]

X1 RS - VO
X 2.NS - RO
3 LH - PC

X4 RX - VT




Q12 Rafafla god &, R v fesdt & ¥ 37 sgfa & 997 $ifew, S gww-few (7) 71 gfrwRe =
HFar 2

X< [P

Ans

W 2.

| [ ] <

OB Rrafefed v &, # Fo Fua e v § AR 399 91 37 FUAl F 3UR W Fo e Fo aw
feT 91T Fya HIIF T AAS g, TE T THEIS: AT TLW T HAIT IAT T &1 T Fswst
gfew 3t gemea o7 i ST & o v Teut & § Fig-and Ty, o v syat #+v
R T F HTEOT FIAT E/F
et
l. #1 E, F 78" g
I. ¥ G, F &l
ey
l. el G, E &

Il. 5 F, E &f &I

A K1 e SEY | 3RO AT B
v 2 ael fAswy |l 3FEIT HT g
X o wE o TAHY 3ERoT 7E I g
X o ey | 3R | @A 3TEOT I g




Q.14

Ans

Q.15

Ans

TH YA H, TF WA F Ti¢ & Fud () HR () g & v 37 RufE == § & Fuar F Gy mmaw g
92 T 3o & & ToIT qaieg § a1 7401 4t FyaT & gfev 34t 3R 3eaw i fifem

Q. I ===t & SifEge TR =91 F BT 37 AAaaiae wetor B ) Hla-ar == wew giEa= 22
() == A, &== B ¥ &# §f&aA= g =1 C, 5== D ¥ %A A gl
(Il) &= B, ¥=aT C ¥ %A gfeA= g 3 7==r A, 7=ar E ¥ ¥fow gfem= &

X 1. 997 FT 3cad & & fore =t suat | 3w 1| F Rar o 29T gty A87 £
x 2.

Fael FUS || F fETT 73T 32T 92T F 3K & & [T TACT g FaiF hao FU7 | H &G 7147 T 997 FT 3c]
& F T 9oTg 7%

¢ 3 99T & Fcadl &8 & ToIT gt Fuar | 3T 1| F &ar 71ar 227 H1eT 2

x 4.

el FYUA | F BIT 7197 2T 99F FT 3caT & F [T GUTST g FeTh had HUA || F OT 4T 22T 97 FT Fea]
& & T 9o 7ET 2

XEYRATE X, Y T AS T

X@Ya g X, Y& g

X&YHRHATE X Y & afx &

X %Y@ HTEX Y HFa=r g

IFT AFFERT F HUR W, A HieT &F fr v wuat § ¥ wi9-ar F= {fe v d@eyT F 9 o ar
TFT TR T F A%BE#C @D

HEF: A, E 1 9 ¢

FTOTA: D & E

FWOTB:E@ F

v FfFUT F NS SIS AL FROT E

X 2. 3fAFUT & 9T A 3T B g Fror &

X NApua F T AT A IR AT B FROTE
X 4 HfFFUT & NS Fa0 B & FROT §




A o BT @ AR R R A R e S A e 9 TE AT Ewrs gEm?

Ans




QU7 Rrifes R &, Tgeh 3l v PRTT Yoot F1 OO FS g gEl apfy ¥ wERT ¥ Reed & ¥ 3w

AP gduﬂﬂqdﬁ,ﬁmﬁaﬁﬁyﬁﬁnﬁmaﬁﬁﬁwm?mﬁﬁl

@ B @
® B ©®
Ans @ @@ @
x 1.
A ©©@ ©
@ oa ©
o 2.
A O ©
®©@ e ©
x 3.
A OO ©
@ e’ ©
X 4.
A ©I©
Q18 Iy T T ereel F AeEHT F FH F HIAR FARYT A R, T TUF T HA-AT A8 HC?
2 ey
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Q2w smer & E § A v 9T o 31 R v Rt F F 37 98 eew & wwa AT A @
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Ans X1 ZZWQ
X2 ¥YXQ
X 3. YIWQ
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Section : English

Q.1 Asentence is missing in the paragraph given below. Decide in which blank (i.e., 1, 2, 3 or 4) the following sentence would fit
best.
Sentence:
From that tradition many of our intellectuals are visibly turning away.
Paragraph:
The word ‘ancient’ emphasises the fact that intellectual freedom is a deep-rooted tradition without which our characteristic
western culture could only doubtfully exist. (1) . They have accepted the principle that a book should be published or
suppressed, praised or damned, not on its merits but according to political expediency. (2) . And others who do not
actually hold this view assent to it from sheer cowardice. But at least let us have no more nonsense about defending liberty
against Fascism. (3) . If liberty means anything at all it means the right to tell people what they do not want to hear.
(4) . The common people still vaguely subscribe to that doctrine and act on it. In our country, it is the liberals who fear
liberty and the intellectuals who want to do dirt on the intellect: it is to draw attention to that fact that | have written this
preface.

Ans #< 1.Blank 4

«" 2. Blank 1
< 3.Blank 2
< 4.Blank 3

Q.2 Select the correct conclusion based on the correct meaning of the word underlined in the following sentence.

Statement: The company received a subpoena for the next stage of the investigation.
Conclusion:

(i) The penal code needs to be amended to protect innocent victims from further humiliation.
(ii) The relevant documents were also ordered to be produced a week in advance.

(iii) It won’t be wise for the company to ignore it as it might draw judicial wrath.
Ans 5 1. Only conclusion (ii) is correct

" 2. Both conclusion (ii) and (iii) are correct
#5 3. Only conclusion (i) is correct

/& 4. Both conclusion (i) and (iii) are correct




Q.3 Select the option in which the word ‘alimony’ is used correctly.

Ans 25 1. The alimony war has been protracted since India’s independence.

#5 2. The fight for territorial alimony has been going on for a few years.

" 3. The alimony payments to his two wives have left the cruel husband nearly a pauper.

/5 4. The alimony between the two has not dwindled even after a decade.

Q4 Match the following words with their SYNONYMS.

ListI ListIT

I | Longing | A |Remission

I3

Pardon B | Denote

3 | Signify | C | Yearning

Ans x4 1-A,2-B,3-C
v2 1-C,2-A, 3-B
X 3 1-A, 2-C, 3-B
X 4 1-B,2-C.3-A

Q.5  The five sentences labelled (1, 2, 3, 4, 5) given in this question. The last sentence is fixed and others when properly sequenced, form
a coherent paragraph. Each sentence is labelled with a number. Decide on the proper order for the sentences and choose the correct

option.
1. Many might even question whether it is at all required since it is assumed that the landlord has insured his property.

2. However, this does not necessarily imply that the tenant’s belongings if damaged or stolen from within the property will also be

covered.
3. Renter’s insurance is an insurance cover not many are aware of.
4. In such a time of crisis this policy comes to help.

5. Renters insurance can also offer coverage if someone gets injured in your rental home by taking care of their medical bills and can

also protect you if the third party files a lawsuit against you for the injury.
Ans X 1. 41235
X 212543
X 3. 21345
o 4. 31245

Q6 Identify the grammatically correct form of the given sentence.
Sentence: The makers of the film didn’t wanted to talk about the fight that had took place vesterday.

I. The makers of the film refused to talk about the fight that happened yesterday.
II. The makers of the film didn’t want to talk about the fight that happened yesterday.

III. The makers of the film didn’t want to talk about the fight that took place yesterday.
Ans 1. AllL II and III are correct

# 2. Only I is correct

X 3. Only III is correct

X 4. Only II and IIT are correct




Q7 Identify the grammatically correct form of the given sentence.
Sentence: I have to read this so that I didn’t get this speech wrong.
I. I have to read this so that I didn’t got this speech wrong.

IL. I am to read this so that I didn’t got this speech wrong.

Ans 1. Neither I nor II is correct

X 2. Only I is correct
X 3. Only IT is correct
A 4 Both I and II are correct

Q.8 Select the conclusion(s) that follow(s) based on the correct meaning of the underlined segment in the given sentence.
Sentence:
There might be some issues to be sorted out, but it does not mean that we should throw the baby out with the
bathwater.Conclusion:
(i) For the sake of opposition, we should not reject a proposal outright because of our concerns over a few specifics.
(ii) The bathwater should be clean, otherwise the baby will be sick.
(iii) When a theory or an approach goes out of favour, we shift our loyalty completely towards the more fashionable one
ignoring even the good aspects of the former.

Ans #< 1. Only conclusion (i)
" 2. Only conclusion (i) and (iii)
#5 3. Only conclusion (ii)
#5 4. Only Conclusion (iii)

Q.9 Select the correct conclusion based on the meaning of the underlined word.
Statement: She threw up the sponge after watching a female double her size as her opponent.
Conclusion:
I. She forgot all her weaknesses and gave a good fight.
Il. She accepted her defeat.

lll. She abandoned the competition.
Ans " 1. Only conclusion Il and Ill are correct

< 2. Only conclusion | is correct
5 3. Only conclusion Il is correct

& 4. Only conclusion | and Il are correct

Q.10 Which of the following statements uses the given idiom correctly?
(i) It is exciting to see the kangaroo court freely moving about in the zoo.
(ii) Many villages in India still organise a kangaroo court, which is unfortunate.
(iii) Those who conduct kangaroo courts will soon find themselves hounded by the law of the land.

Ans «" 1. Only statements (ii) and (iii)
X 2. All the statements
& 3. Only statements (i) and (ii)
& 4. Only statements (i) and (iii)

Q.11 Four sentences are given as options. Choose the option that contains the odd sentence.

Ans 75 1. A 2021 study showed that 94% of teachers in the US feel open to using digital resources to enhance in-class instruction.
25 2. In the current educational context, students continue to struggle, and teachers feel burnt out.
/5 3. The answer lies in using digital resources intelligently.

" 4. Reading the newspaper daily should become a habit with students and teachers alike.




Q.12 The passage given below has numbered blanks.Choose the word that best fits Blank 1.
Over the past decade, the sunflower sea star has gone from a predator of the Pacific Ocean to nearing extinction. The
Nature Conservancy estimates that 5.75 billion sunflower sea stars died over three years, a 94% global __ (1)___. The
cause, scientists say, is largely climate change and warming waters, __ (2)___ by sea star wasting disease. Hope is slowly
on the horizon. The Birch Aquarium at Scripps Institution of Oceanography near San Diego successfully __ (3)___ three
sunflower sea stars recently, the latest success story in a sprawling collaborative effort. TBA has five sunflower stars, one
of the largest populations of sunflower stars in ___(4)____in California. But until recently it did not know their gender. To
determine the sex, researchers induced spawning. After further testing, they can determine whether the __ (5)___ could
survive disease or parasites. Once that’s done, the aquarium will be able to begin the fertilization process.
Ans 25 1. Spurt
25 2. Fallout
25 3. Increase
" 4. Decline
Q13 Identify the grammatically correct form of the given sentence.
Sentence: My father is not only intelligent. yet he also has a wide range of expertise.
I. My father is not only intelligent, but he also has a wide range of expertise.
II. My father is not intelligent only, also but he has a wide range of expertise.
III. My father is nor intelligent only, but also he has a wide range of expertise.
Ans 1. Only Iis correct
X 2. Only III is correct
X 3. Only I'and II are correct
X 4. Only II is correct
Q.14 Select the correct conclusion based on the meaning of the underlined word.
Statement: | will only share this information if you keep it under your hat.
Conclusion:
I. If you will not discuss this information publicly.
Il. If you will not use it for your own benefit.
lll. If you will buy me a hat.
Ans #5 1. Only conclusion Il is correct
" 2. Only conclusion | is correct
#5 3. Only conclusion Il and Ill are correct
#5 4. Only conclusion Ill is correct
Q.15 Select the option in which the word ‘fastidious’ is used correctly.
Ans 25 1. 1 wish he weren't as fastidious as he is made out to be as he often sidesteps the issues and digresses.

/5 2. Some teachers are so fastidious that they give high grades to almost everyone in class.
/< 3. Fastidious people are easy to please and you can get along with them with no difficulty.

¥ 4. James is a fastidious editor and wouldn’t easily approve of any copy that comes to his desk.




Q16 Match the following words with their SYNONYMS.

ListI List IT

I | Corrupt | A | Direct

I

Candid B | Profuse

3 | Copious | C | Depraved

Ans 1. 1-C,2-A.3-B
X2 1-B,2-A,3-C
X3 1-B,2-C, 3-A
X 4. 1-A, 2-B, 3-C

Q.17 Select the conclusion(s) that follow(s) based on the correct meaning of the word underlined in the following sentence.
Sentence:
Soft music has a soporific effect on human beings, according to various studies.
Conclusion:
(i) Songs should be heard at a high volume for it to have any effect on us.
(ii) Mothers sing lullabies to their children when they don’t stop crying.
(iii) Classical music is often used to calm the nerves of agitated minds.

Ans < 1. Only conclusion (ii)
#5 2. Only conclusion (i) and (iii)
" 3. Only conclusion (ii) and (iii)

#< 4. Only conclusion (i)

Q18 Match the following words with their antonyms.

ListI ListII

1 | Conflict A | Permanent

I

Transient |B | Accord

3 | Lament C | Applause

Ans 1. 1-B. 2-A. 3-C
X2 1-A, 2-B, 3-C
X3 1-C, 2-B, 3-A
X4 1-B,2-C.3-A

Q19 1dentify the grammatically correct form of the given sentence.
Sentence: His dreams were on a grand scale; such, after all, are best possessions of youth.
I. His dreams were on a grand scale; such, after all, are the best possessions of youth.
II. His dreams were on an grand scale; such, after all, are the best possessions of youth.

Ans X 1. Both I and II are correct
X 2. Only II is correct
X 3. Neither I nor II is correct
« 4. Only I is correct




Q.20 A sentence is missing in the paragraph given below. Decide in which blank (i.e., 1, 2, 3 or 4) the following sentence would fit

Ans

best.

Sentence:

When we consider the subject of style in general, we notice that there are great differences in this respect, among nations
as well as among individuals.

Paragraph:

Style refers to the choice and arrangement of words and may be defined as the peculiar manner in which thought is
expressed in language. (1) . Such differences as these may always be found. (2) . In Oriental literature great
license is allowed to the imagination; in European it is held under stricter control. In Europe itself, there are strongly marked
varieties of national taste. (3) . In every nation also, there is a distinctive style at different periods. (4) . Besides
this, we have to consider the personal peculiarities of the individual author, which are so strikingly manifested that a man’s
writings have come to be considered as much a mark of himself as his face or figure.

25 1.Blank 4
25 2.Blank 3
«" 3. Blank 1
25 4.Blank 2
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Section : Numerical Aptitude
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Ans

34 fdded & 99+ Siforg off Fafef@d ofised @) IR R0 (R) & G8Y
d9d gl

ATHDPYT (a) PRU (R)

3 9 3R 4 THN Sl HIFd AT D1 98 3R 1 JA” &t
3195 gl UlG U YU &l SITd | SITd U 3x AR 2y gl
103 GO e IRTH IS DI |3x + 4y = 195 AR
PIAT-PAGI O G, T2 T 2% (L1)x+3 X~y = 139
3R 3 THN B HIHd 2139 5
Gl g1 2 ds 3R 1 9a" &l
o $Hd 280 Bl

v 1 AGAE IR R AT B
X2 n 3RR GHIUAE 3RR, A P Hel TPV &
X3 n ARREGFAI A dibA R, AP Tel PG T8l 5

X4n AT E IRR GBI

Q.12

Ans

A e TRf¥aa # #7 36 e & U X FFaT €1 B, A §332% FF Fuw ¢ 3R C, B F 50% FH T £l
dr 7 v @ F Aw o, mAﬁmamgﬁrﬁgﬁ?mmw&maﬂTBﬁaﬁwﬁﬁﬁsﬁﬂ
qﬁmmﬁmlwm%ﬁ%ﬁﬁw

X1 28
X2 32
v 5 29
X430

Q.13

Ans

reafafae § ¥ Fia-and Fua agr ¥
(@) T n®—n) =330,n=1,2, .., 10
(b) T(m2+n) =728, n=1,2, .. ,12

(c) T (n*+3n+1) =352, n=1,2,..,8
X1 (b) AR (o)

V2 (a) 3R (b)

X3 FFT (a)

X 4 ael (b)




Q.14

Ans

et fw A Fo Rl &1 Hiwa 397 35.5 kg 81 394 § aRg facandt Seer diwa a9 37 kg B, e
BT 3o £ 3R 377 5 facamef 5= 3= 40 kg, 39.5 kg, 38.5 kg, 42 kg 3T 47.5 kg &, ¥ & onfder ar
I € 3R =0 9oR Gee # et v situa 399 300 g 9T Iar §1 IRy A, f9e & faemfiat o gwm
ordar o2

X153
X2 45
3 47
X4 49

Q.15

Ans

Teh YT 9T 6 I§ o7 HIUNOT 41T 729250 g1 9UH 2 9 & o == g7 7 giaed Irives 34T 39e 4 a9 &
T == &7 16 giaed I 21 a7 u=fr &g &2

A 1. 38300
v 2. 237500
X 3. 336600
X 4. 335400

Q.16

Ans

TF FoT fEmm ar g, Towes ag a8 e |, 1 3T 1 fE aw #| ggee SfeT & SiE-ard wud voF #5307 &
F B gatea 3

L

A ZarT gls T e F B awT (% #) B 82
EEre

l. A, B & 30 W5 & 0T ¢ 3R B, C & 60 ¥%s ¥ &1 gl
Il. A, C & 90 ¥ T F & 21

. A & =mer 3R C & =mer 7 39T B Fr = §

K] sl
A A I el [ ]
X Ek
S irall

Q17

Ans

UF FECR R TG F 3T Hkd HoT W 25% T S F9T § AR T o 35% M wmT wred Far g1 ;e
TG F1 FT Ao 10% FH g 1ar §, AT 98 38 380 3foa qo7 T 37.5% ge 3T 99 ¢, aF 3 oy
gferera g |

X 1. 30%
X2 20.5%
X3 255%
v 4 25%

Q.18

Ans

Ue g H Fol Fawear # 90 fava safea @mer § ik dv cfFa faeew §1 ofe e sofeadt # d=wr 1320
&, o =T Fr For sTTEE e 82

A 1.12000
< 2.12200
v 313200
A 4.13000




Q.19

v R o=l (2 &) F A, B 3k C & 919 37 yor Renfag e sar @ & A 3k B & fewdl &7 areora 3
18 BIRC & ffwal &1 399 5 : 3 § AR C 3w D & Rwdll &r 399 1 5 : 3 §1 i B 3k D & fewwl
& &= 7 AT 31,280 &, A A 3 C & fewul & 3w (2 ) e &2

Ans X 1. 5,600
X 26,400
v 3 4,800
X 4. 4000
Q20 7:45 am™ P 3 R & gAY & 296 km #r gff W &1 15 e ¥ a1, P 32 km/hr F =1 F R F AT Tor=A
URET AT ¢ 8:30 am. W R, 8 km/hr F Trer T P Hr AR T IR Ham g1 T fraw a=r FeEr
Ans

x 1. 2:45 pm
v 2 3:30 pm
X3 4:50 pm
X4 4:20 pm

Section : Reasoning and Logical Aptitude
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i. GOOD (Wj GIVV

ii. ZERO (X) AVIL
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X3 &gl ii-W
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Section : English




Q1

Select the conclusion(s) that follow(s) based on the correct meaning of the word underlined in the following sentence.
Sentence:

He is actually an amateur photographer but some of his wildlife photographs have received wide acclaim.
Conclusion:

(i) Magazines will give him special assignments because of his experience and expertise.

(ii) He doesn’t claim any special status among those who have photography as their career.

(iii) He often criticises the work of professionals because he is one of them.

Ans #5 1. Only conclusion (i) and (iii)
" 2. Only conclusion (ii)
#< 3. Only conclusion (i)
#5 4. Only conclusion (ii) and (iii)
Q.2 The passage given below has numbered blanks.Choose the word that best fits Blank 3.
Over the past decade, the sunflower sea star has gone from a predator of the Pacific Ocean to nearing extinction. The
Nature Conservancy estimates that 5.75 billion sunflower sea stars died over three years, a 94% global (1)___. The cause,
scientists say, is largely climate change and warming waters, (2)___ by sea star wasting disease. Hope is slowly on the
horizon. The Birch Aquarium at Scripps Institution of Oceanography near San Diego successfully (3)___ three sunflower sea
stars recently, the latest success story in a sprawling collaborative effort. TBA has five sunflower stars, one of the largest
populations of sunflower stars in (4)____in California. But until recently it did not know their gender. To determine the sex,
researchers induced spawning. After further testing, they can determine whether the (5)___ could survive disease or
parasites. Once that’s done, the aquarium will be able to begin the fertilization process.
Ans 25 1. produced
/5 2. promoted
/5 3. instigated
" 4. spawned
Q.3 Four sentences are given as options. Choose the option that contains the odd sentence.
Ans #< 1. Everyone regardless of his or her attitude to religion resents being called devoid of moral sense.
«" 2. As material civilisation advances and the supply of available goods and services increases, man’s needs also multiply.
#< 3. The world today is wanting in moral values.
#< 4. World peace cannot be established without moral foundation.
Q.4 The sentences given below are numbered 1, 2, 3, 4, and so on.
They form a coherent paragraph when sequenced properly. Choose the option that gives the proper sequence.
1. Academics need to conduct and then publish their research.
2. It also represents spent future time as they revise or resubmit their manuscript.
3. While service and teaching also play an important role in their professional lives, academic publishing is a mainstay for
tenure, promotion, and for impacting the directions of the field.
4. When this work does not reach its intended audience, the efforts of the author represent lost time that might have been
more productively directed elsewhere.
5. A prospective author typically spends months or years working on a submission to a journal.
Ans £ 1.42531

X 2.54132
o 3.13542
X 4.35124




Q.5

Select the correct conclusion based on the correct meaning of the word underlined in the following sentence.
Statement: His parents never thought that he would turn out to be a philistine.

Conclusion:

(i) A philistine as he is, he is proud of his beautiful collection of antiques.

(ii) We shouldn’t have taken him to the museum of rare paintings, for he was anxious to get out soon.

(iii) Some are so practical-minded that even a vintage car is a pure mechanical device for them.

Ans /& 1. Both conclusion (i) and (iii) are correct
/5 2. Only conclusion (i) is correct
" 3. Both conclusion (ii) and (iii) are correct
/5 4. Only conclusion (ii) is correct

Q6 Identify the grammatically correct form of the given sentence.

Sentence: My mother yelled at my father for purchasing red capsicum rather then green pepper.
I. My mother velled at my father for purchasing red capsicum rather than green pepper.
IT. My mother velled at my father because he bought red capsicum instead of green pepper.
III. My mother yelled at my father for purchasing red capsicum despite of green pepper.
Ans 1 Only Iand II are correct
X 2. Only I is correct
X 3. Only II is correct
X 4. Only III is correct
Q.7  Which of the following statements uses the given idiom correctly?
(i) When we vent our spleen we generally feel good.
(ii) Consult a doctor for controlling the damage to your system when you vent your spleen.
(iii) His latest article in the newspaper vents his spleen on bureaucracy and the prevalence of red-tapism.
Ans 25 1. Only statements (i) and (iii)
25 2. All the statements
" 3. Only statements (i) and (i)
#5 4. Only statements (i) and (ii)

Q.8  The five sentences labelled (1, 2, 3, 4, 5) given in this question. The first sentence is fixed and others when properly sequenced, form
a coherent paragraph. Each sentence is labelled with a number. Decide on the proper order for the sentences and choose the correct
option.

1. Puteketeke are water birds native to New Zealand and have been known to make strange noises like barking, growling and
clicking.
2. They are characterised by their distinctive plumage, alternating black and white feathers with colored head plumes.
3. Young piiteketeke are also capable of swimming and diving even after newly hatching.
4. The bird was almost hunted to extinction in the United Kingdom during the 19th century.
5. They are still under threat today, conservationists say.
Ans X 1. 12453
X 2. 13452
X 3. 15234

4 12345




Q.9

Select the correct conclusion based on the meaning of the underlined word.

Statement: His overnight success has taught me that you should never judge a book by its cover.

Conclusion:
I. One should be beware of false appearances.

Il. We must not underestimate anyone based on their looks.

Ans 25 1. Neither conclusion | nor Il is correct
" 2. Only conclusion Il is correct
25 3. Both conclusion | and Il are correct
5 4. Only conclusion | is correct
Q.10 Select the correct conclusion based on the meaning of the underlined word.
Statement: He got selected for this dance performance despite having so many problems with the overall idea. No doubt,
the squeaky wheel gets the grease.
Conclusion:
I. The most reliable person in your life harms you.
Il. A person with selfish motives always tries to grab everyone’s attention.
Ans 25 1. Both conclusion | and Il are correct
5 2. Only conclusion Il is correct
¥ 3. Neither conclusion | nor Il is correct
#5 4. Only conclusion | is correct
Q.11 Select the option in which the word ‘belligerent’ is used correctly.
Ans /25 1. The principal greeted the students and their awestruck, belligerent parents warmly on the reopening day.
«" 2. The belligerent litigant’s behaviour made the judge reprimand him severely.
/5 3. The belligerent kids hugged each other and danced in joy true to their nature.
& 4. She was belligerent when she heard the good news of her winning a jackpot.
Q12 Tdentify the grammatically correct form of the given sentence.
Sentence: As the pedicurist painted her nail, Simran speaks softly without looking at me.
I. As the pedicurist paints her nail, Simran spoke softly without looking at me.
II. As the pedicurist painted her nail, Simran spoke softly without looking at me.
Ans X 1. Both I and II are correct
X 2. Only I is correct
X 3. Neither I nor II is correct
« 4. Only II is correct
Q.13 Four sentences are given below as four options. Choose the option that contains the odd sentence.
Ans < 1. Employers’ values influence the selection process and their treatment of the current employees.

/< 2. Failure to absorb the new graduates into the labour market seriously affects social cohesion in the community at large.
< 3. Itis important to understand how work-based values inform behaviour in the labour market.

«" 4. Job seekers including fresh graduates and employers express values that are relevant to the workplace.




Q14 Match the following words with their antonyms.

ListI List IT

1 | Stuck A | Reticent

I

Morbid B | Cordial
3 | Talkative | C | Freed

Ans X 1 1B, 2-C, 3-A
X2 1-A,2-B,3-C
X3 1-C,2-A,3-B
¢4 1-C,2-B, 3-A

Q15 Identify the grammatically correct form of the given sentence.

Sentence: After an few more polite speeches, he found himself dismissed.

I. After a few more polite speeches, he found himself the dismissed.

II. After a few more polite speeches, he found himself dismissed.
Ans X 1. Only I is correct

A 2. Neither I nor I is correct

+ 3. Only II is correct

X 4. Both I and II are correct

Q.16 Select the option in which the word ‘ephemeral’ is used correctly.
Ans #5 1. The new desk we have bought is ephemeral and sturdy and will be stable for long.

#5 2. The cooling glasses that | wear are ephemeral — light but unbreakable.
#5 3. All things ephemeral tend to have a lasting impact on culture and civilisation.

" 4. Our life on this planet is ephemeral but the spirit is eternal.

Q.17 Select the conclusion(s) that follow(s) based on the correct meaning of the underlined segment in the given sentence.
Sentence:
Always remember that mighty oaks from little acorns grow.Conclusion:
(i) You cannot hope to grow a big plant by sowing tiny seeds.
(ii) Some of the big business empires actually started off as small ventures.
(iii) Even great men can be brought down by small scandals.

Ans #5 1. Only conclusion (i) and (iii)

" 2. Only conclusion (ii)
#5 3. Only Conclusion (i)
#5 4. Only conclusion (i)




Q.18

Identify the grammatically correct form of the given sentence.
Sentence: Rita was been cooking for me for I left my job.
I. Rita has been cooking for me since I left my job.

IL. Rita is cooking for me since I left my job.

III. Rita is been cook for me since I left my job.

Ans X 1. Only II and IIT are correct
X 2. Only III is correct
X 3. AllT II and III are correct
« 4. Only I is correct
Q19 Match the following words with their SYNONYMS.
ListI List IT
1 | Guilt A | Contrition
2 | Inactive B | Lethargic
3 | Circumvent | C | Escape
Ans 1. 1-A, 2-B. 3-C
X2 1-C,2-A 3-B
X3 1-B.2-C, 3-A
X4 1-A,2-C,3-B
Q20 Natch the following words with their SYNONYMS.
ListI List IT
1 | Hound A | Deprivation
2 | Bereavement |B | Chase
3 | Jolly C | Amused
Ans

X 1. 1-B,2-C, 3-A
X 2 1-A, 2-B, 3-C
X3 1-C,2-A,3-B
¢4 1-B,2-A, 3-C
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Q.3

Ans

FAFHE Vg AN A TNEA Faashis (CSI) & T H AR #7718 Rue & §a9 # FoaAaaa # & Hia-
T FuT T T

1. &Y, T T HsA AR AR @ wag # S ¥ 3T, 2023 aF Je Bl 3SR arAe s
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Q.4
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Q.5
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Q.6
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Q7
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Q.8
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Q.9
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Q.10
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Q.11
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Q.12

Ans
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Q.13
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Q.14
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Q.15

Ans
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Q.16

Ans

A ufET Fea AT (AR IRevr Rdve) ¥ TEy & AT & ¥ Si9-ard sy 38T 282

1. §8g & o7 dea & 20 faqey, 2023 &t 717 afka Jex sffoas (#fear smewor fdws) &t &1 ¢ &
2. A% AfFT dea HOHTH (Afger 3R fdws), 21 e 2023 w geowar # Foww & 9e7 & 215 @wEer
& Fdeld & T 9IRd fhar |

3. Tadws # TowweT & wef Wew EaRT sgAa # A R R - wa 7 215 A 93 3R s Rew w1
T o

4. 7g T s 3R Tew Ruawsmat & Afrenst #r 35 iy @ werd a<ar g

X1 Faer 3 3T 4

V2 4w

X3 Faer 1 3t 4

X4 drger 1 3T 2

Q17
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Q.18
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Q.4

Ans
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Ans
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Q.9

Ans
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Q.10

Ans
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Q.11

Ans
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Q.12

Ans
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F

. 3EreT
3. e 3R SteaiferET
4. 9IS

v 1 opael 1.2 AT 3

X2 Faer 1,3 A 4

X3 Faer 33T 4

X4 Fger 1 3T 2

—_

I

Q.14

Ans

1882 & g2T FHNE ¥ Teyw ¥ Tl § & Si9-and s @ i

L. 38 328 BET (Wood's Dispatch) & a1 et & &9 # g8 wify i walen a3 & 0 samar 1 o)

2. TEH gratHe Rew Fr Fasor G st Ferafesr et Fr graeia e I w Few S

3. FEA FEEHE AR & FeY Afger T F @R F P gwta g gam s F smavgsar w @ied
o

4. e & & & BT ugw F e @ BT

X Faer 2 AT 3
X2 e 33T 4
v31,2 3T 3

X4 e 1 3T 2

Q.15

Ans

=T & ¥ Fi9-971 Tosaeaey o # 9 ¥ 37606 Far 87

X 1. Heleehl AcISHATHCT
X2 TREY TTSHEHET
X 5 JRET ATSAEHEY
4 Ok TASHASHET




Q.16

Ans

aRa # TuEw Femt & O g anr Faefaa & @ e afafy ofsg & 19 oe
. Fead [T HeaT TR

3efter Agar wfafa

. g wfata

v apaer 1 AR 2

K 2 el 3

73 a1

X4 paer 2 3T 3

S S

Q17

Ans

Furerg H Fa@d # ¥ Si9-8r AT srer Jdar 88

Q.18

Ans

A gmeT F sfoew & wiaAnr F P sftgme & fm=fofee 7 & e d9 # saar e @2
. TR (TR AT F @WER F UF A o) F FEer, S ws F Aieg
Il e, foTF $o 0T BeEa: #ifced A1 =AU gAN =T O

X1 I 0l

X2 Faer |
Xagarldragrl
v+ | 3R 1l g&r

Q.19

Ans

freafof@a # @ o Ataw Ak SoEg #1 ac A S Ghar 272
|. AT
|I. F¥oT

X1 Fa
X2 e |

X garldsraarll
4| 3T Il g=r




O A7 uF F TuEg F T §, Bela § ¥ e 3 9l 7 w5 B
Ans iy

X2 gEATY

v 3 HEIT

X 4 39TE

Section : Numerical Aptitude

Q1 A B, C 3R D% @5 & yawiaat Renfom & e &) N oRA zmF 4 :6:3: 2 F I A
fosnfoa & 1 & iR qEl o 3 4 0 7 1 6 & T A Fenfed Fr S T gEY SRy qgelr aauhy &
ar T 81 o et g wew w3 frwwr T feem

Ans 1B
X2 C
X3 D
X4 A

Q2 uﬁ'x3+$=14ﬁﬁ',ﬁxa+$ &1 AT fohdar gRm? (x > 0)

Ans X1 48
X2 42
v 5 52
x4 50
Q.3

37 fSrew &1 TIaa ST S Feaei@a 3iffeas (A) 3t FIoT (R)
& HET H T ¢

ffwua (A) HRYT (R)

5 9, 6 3% 3N 7 Alegs | A AT x y Az FA
$r FHAT 2340 g 3T 6 9, |1 9, 1 W 3T 1

4 3R 3R 2 AegH #H sArege H HAT ¢
$IAT 7200 1 TF O, UH | 5x + By + 7z = 340 3k
SR AT 1 Aiegs i F1AT | 6x + 4y + 2z = 200
355 2l

Ans X 1. AT R RITRI
X 2.A¥T R 3R R I G
o 3. AR R I T & 3R R, A HT Te! WHEHT g |
X 4.A 3R R 3H 9A § Al R, A BT & Waor e 1




Q.4

Ans

U WAE H FO =l Fl iAd a7 45 kg &1 9 40 kg HET T F1or 10 F= WAE OIS 4 & I 50 kg A
I T 15 T WA H AR @ AT &, o S AFeT F gt #1 Hwd g9 TAS @ g 9N H, g A
Tl hr FET e H @ e & o

X 1. 45 ¥ 55
X2 35 3R 45
v 3 55 3T 65
X4 65 3T 75

Q.5
Ans

gfe 9 3kl F} T 9834x97y4, 88 A fAUTSH B, A (3x+2y) BT Sffirpaw THT U fara-r 82
x 1. 31

X2 37

3 34

x4 27

Q.6

Ans

TEA F g At @Er, 5 & gger 110000 F AR gEdr 112000 F Tl 1 3HA = Ao A=, ST & qgen
®r 10 gfera & @y 9X 3 gudr # 20 foera H g@ifar ov d=m Fo amer g B e

X 1. gifer = 21200
v 2 gifer = 21400

A3 e = 21400
X4 o = 31200

Q7

Ans

9o &7 HF, T 7 ¥T ¥ 5 gfaeg 3% g, 3T 9= Fr 3mm, #SaT Fr 3w @ 15 gfoea ww g 7T
HT, TIF T HT F (FET) Fhaey wiged FH 27

X110 gidera
v 217 gfaea
x5 7 giaerd
X 4. 3 gfgera

Q.8

Ans

T AT 9T, 8 gfeerg @ aif¥es a7 ¥ TS H1E &7 TIURUT 3T 3480 | IF w=rer o §7
X 1. 312000
X 2. 37500
< 3310500
v 4 29000

Q.9

Ans

A Tl fafeera & 1 30 el & U T @haT 71 B, A & 20% 3O Forer ¥1 C I FE F 2 4T 8 e A
T T Tl §1 A 3R B ety &1 &1 — 9T U X &1 99 F4 A 3R C g et @ o s @1 @
F fraa At & gam?

X114

X213

3 132
5

x4 142
3




Q.10

Ans

AW15%=BEH20%=CEI?F25%%3~T"ITA+B+C=5640%|Aﬁ58§%'=ﬁ'maﬁ'3n?-ﬁ§',Bﬁ'zo%ﬂ'
gfeg & arar & Hiw C & 30% Fr wA Fr ST

FUT |1 C &7 797 AT A F 7T AT ¥ 8% 3110 2
FU II: B F F47 AT A & IRI&F AT T 10% FH &
IWET A § SIS-AIT FUT Fer 28?7

X1.m|
Xegarldragr
V5 Faer |
Xa| 3T Il et

Q.11

Ans

U TET F 85 gfaerd & 18 # Siga W 9@ T 9eg g g1 39 TEIT S A fFaar gen?
v 1.120
X2 135
X3 150
X4 105

Q.12

Ans

& HEAT 8 @ 3 F HeWd H § G 37 AIHA 11 §, 3 A FEAHAT F A F7 AR R gem?

X163
x2 83
3 73
X 493

Q.13

Ans

TF A 7 am W M J F T AT ¢ AR 5 pm W WX K TF GG 1 TF 7T AT 0@ K F 4 pm
T FEITH A § R 10 pm T UET J TF GgIAr 71 T A e g () A

x 1. 4:52 pm
X2 413 pm
3 4:23 pm
X4 4:37 pm

Q.14

Ans

11 waArT vw gt & tea 37 &1 759 931 TS 3R 399 o 86 & @ HR Faer g7
X123
220
X 3 25
X 4. 21




Q.15

Ans

T g feam am B, forwes 9 9 FuA |, 1 3T 11 fTw 7w § | 9g=e AT & Fila-and Fu9 T #7 37 &
¥ o oareT B

EECN

TeF AT F 9T T T2 7 25 km = # forgar 577 (TS #) FEET?
T

| 7 @R arT & R # v WReE gl a% I F o Few Oiw 99 A TA g a% S # o w6 w o
gl

II. @ F ury #r fGer & 49 km 3R arr Fr Bl Rew & 14 km 5@ #F 6 9T TS B

I, o Ster & a7 & a1 3R Ry H T F g9 7 3 7

X 1. et | 3T N
X2 Faer Il 3
el I ]
X4 e | 3T
Y eSS e @
(a) 13 + 23 + 32 + ... F TH UGT I T TTH 3020 3T 3030 F =T &
(b)yTafE 12 + 22 + 5% + - F IF IS dF & TThoT F x ! TeT fear e, Srag
TeF T3 & AT g | x FT wge1ad AT 17 2
(€) 11% + 122 + 13% + -+ 20% = 41075 &I
Ans x 1. m (E)
V2 (a) AR (c)
X3 (a) HR (b)
X 4 Fae (b)
Q.17

Ans

HWWW%WSGWHWEWWWWW%I ahrrﬁa:ri ST 42 gfaeg =3 23X
T HOT R AT T F| Ao AW AR 18 Ffw SO &7 W KT W & 9 F A 3 99 & fw por q® |
Qe HIUOT =47 31725 @7 ar 98 g« fraar g2

x1.32200
« 2. 72300
< 332400
« 432100

Q.18

Ans

232 7 AT fhger g

0.27x0.09

X 1. 24000
X2 240
v 2400
X4 24




Q19 o wex foar am &, oS a1 9 F37 1, 1| 3% Il Ru =1v §) ggaa fifew & F9-a7d Fu9 997 7 3¢ &
¥ Bro g B

To:
A TFR F TH FHANT H ol AAGY (2 #) haer 82
FUT

. T FRES A, A, B 3 C TR F ATt T aem T aeaa 9 : 4 1 1§ 3R A, B 3R C TR & TF 45w
#r & FIgl F1 3T 8 : 5 : 3 81 A B 3R C vHR F walt afFer Fr 2o F=gdr 257,000 B

Il. B R & STt & TEar 20 2
Hl. werT C & SifEeT i §e=ar 5 8l

A X Fga | Al

X2 e |
o | 3R I ar | AR
Xa ] 0l 3o

Q20 e geiF W F HFT T W 15% AR 20% F @ FEF T g F A, TedF W F 3,944 F F=A 8
Ife ag @ &1 e 5 o & 38% #fa A5 W 99 g, dF 30 45% @ @1 9d @iar ¢l IfG 3@ ;M A
34,496 F =T g, A 3HeRT o Fiard g

Ans X 1. 15%
2 12.4%

X 3 129%
X4 156%

Section : Reasoning and Logical Aptitude

Q1 3y, s, =wor, Fifae, ﬁ?,ﬂgﬂmﬁaﬁmmﬁ,ﬁ%wmmﬁqﬂﬁ:%ﬁﬁﬁﬂ
SeAF B IOET-HOET WA Thke, Bearw, ¥sfHea, dfaw, ofee g it P @oer 9we § e S0 AE %
S FA A @ 3 ¥ TS T A Hy F AR AEgE T ar aw Fr 9% (@ F awie) wfEew
« 81 i cafed Y $ AR AEEE § S w99 o Ay 343 E
* A, Feate Qo THE L ae g, 3R F &= &7 ST 8
« HEAY, 38 AT F @ FN AW T W do1 ¢ T e 9w § AR AT #7 7w % AR g
» aifever 5 gl woe ¥ 9% T R mge F A9 F de
» e fodr ofeer weg ¥ I Ssfiied wHe e Ao WO ¥ 91 3R e B
« I O R THe § 98 WO F S ardt 3R 37
* TOT F TG F% B AR E
» g FT Trehe ToAT THE 78T £
& 7S maE & ¥R W AT # ¥ wia-ar w7 w07 282
I gfs #r &tz Tue 2
Il srre @ efew oug &, 9 & fr 3 sl
lIl. sRoT 58 S=fiiea wwe &, 3¢ $a $ 3R 3T 2

Ans

X1 Il | T B

X2 Faer |l T &l

V3 Faar lll F=T &

X4 ger |, 1 3T g7 £




Q.2

Ans

T Foa &, I/ 31BN oA RBE a0 §1 () & a8 3% & 3, R aF/fasmey # 3R W
(-) & @8 IR F e ¥ FEfua ¥ Teted § ¥ &9, w & SHFTHEET § 3R W A §
few 91T Aercar # ¥ 3T FT I ST

X1 LA -TI

X2 VK - DS
X3 BQ -Jy
« 4 El - MR

Q.3

Ans

=T YT H, Tk A F aig ar Fua (1) #R (1) 3T F v g Ruia e & & sust & Ry e gar
9T FT 3eeR & & [T 9OTeq § I FET| ST FIaT 1 9fev 3K 37T 3aax e e

Q. Tk TER & X @Fa A, B, C 3R D &1 C & A & &1 a9 2

() A, B % Tar &1 sidi=/sni=r &, 3K C, B &7 &l & afad A & o8 8T &

() C, B & Tyar &7 stiramsnisT &, 3K D, B &7 & ¥ afheT A F7 8T8 78T &

X 1. g9 & 3oa¥ &= & T gt wyat | 3 1| & 7w o 227 =T B
X 2 F957 FT 3caT &7 & fore gt st | 3 1| & far mr 2o gueg a4 &

o 3.
Fael FUT | F T 7147 22T 99T FT 3caW &7 F [T qAT & FaTeh Fao U || F I 7137 T 997 F1 3c?
& ¥ T oo 7ET g

X 4.

Faer FUS || F fETT 7197 22T 92 F 3ok & & A0 AT § F9fF Fad FUF | 7 I AT T 99T F Fc]
= ¥ v o 78

Q.4

Ans

frTof@a v A, BT a0 eedl # & 37 HPa & 994 Hiaw, J T979-REa (?) 1 giaraig &=
Hehar gl

oo [T | =2l | 2
I_II
a0
|11
” ITI




Ans

Q.6

Ans

Q.7

Ans

BE17 t= faf¥sa ai% ¥ DJ51 ¥ Ta9F g1 38 TR, GJ23 F1 Ja¢ NT69 ﬁ%lmaﬁ:mwmgﬂ
A=efEa 7 9 s 3 g T 87

(iy RUL7| (W) ZF69

(i) KNI19|(X) HN63
(i) DG2L|(Y) JP51
(iv) MP23|(Z) VBS57

X1 Fder i-Y, ii-X, ii-W

v 2 Fgel i-Y
X 3 el i-W, iv-Z2
X4 0i-Y, i-W Er)

frafafEa Fear-geat #, 9gel dear W Fo 0T WA F qEd BE 9d & 9T gl 3H WS H aaT
FfeT Swd gET 330 yFR e § o R FafeT @ & e gefea

(Fre: T FF 3HS TTH IR A ars e IR qur sEmst W) A A gl seewr & e 13 s
- 13 X Ffpae @ & 13 F Sreavgemnen anfe & 31 wwdr §1 13 # 1 3 3 F dF ok w1 sk 3
o FfoTeT WiFATE F B AT 76 ¢)

161, 23

203, 29

v 224, 32
X 2. 410, 41
X 3 320, 24
X 4. 200, 25

fr=faféa ve #, A= 3o Fuw fGw a0 § 3K 37% a1g 39 Fua & IR W Fo Ty ffw o §)
fer v Fua H9Fr T A €, 9 ¥ @A A9 a2 ¥ HET wdd g @1 Jefr Sswst @
gfer 3T geueang ug e fifew &6 e v Tl # @ #ig-ara Tsey, U @1v Fuat &
T T W AT FIAT §FS ¢

FU;

. & K, P §I

. & Z, K &l

sy

.35 Z P&l

Il. g5 K, Z &l

X 1. shaer sy | 3TEIOT HT ¢
X2 Frg o Trsed srgEvor 7 e g
X fasey | 3R 11 T 3TEROT R g
v+ e forsy || 80T HLaT gl




Q.8

Ans

T &F TETsT 7 {99 F g6aa W, Aeaeg EOT & AT ‘37 gEn?
9x7+4+1-86

vi9g3HR 6
X2 4 3R 1
X3 9 3R 4
X4 7 3R 6

Q.9

Ans

og fher M1, M2, M3, M4, M5 3k M6 Si=all & S A1lg a& st g g1 M1, Refisr gt areir
guH o1 #Hiaw frea 787 &1 M3 & M4 & &% gger 3T M5 & & &g e & s g1 M2 3k
M6 F Fr 4 fred Tl g &1 M4 & 31 9+ 1 fivee T 2+ &1 ==l & =98 fem T
i

X1 M3
X2 M2
X< 3. M5
4 M1

Q.10

Ans

TfE T VT FT W AB T @1 AT, af Feed HEpadl # ¥ HiA-G1 W, T HFHT FOEE
gfafeT gefr?

A

D)

& @@ @




AN Trifrg TR 3 IR F F A9 g7E o AR veR ¥ oA € 3R 3 TR UF g e g1 S
37 THE ¥ TarOT Fé 87

T [® ol &
© B ©
© ©le ®
©® Al®@
A ©B® ©
@ O ©
© ©lA ©
A O© ®

Q12 T a1T wreel F AHIN F FA F HFAN AFEAS FA R, TE TU T RA-AT 2leg HTTM?
1. Squire

Squib

Squeeze

Aon

Squirm

5. Squish
Ans X 1. Squirm
X 2. Squish
« 3. Squire

X 4. Squib




AV Prifra 9R g A F§ ¥ A9 ToE v PR =R @ e € HR 5§ 9eR Uw weg a9 § s
3W WA ¥ HatOa F@ g7

Ans

<
>\ B>|(®|[®

Q14 o fafema g s &, 'WSZ Fr '68' HR HTUI' Fr '58' oram ar &1 & 71 FT o1 & ¥R Feated §
F FiA-71 FE AT 87

S T
I. DANCE (W) 75
Il. XZY (X) 49
. NGHT Y) 27

Ans w1 Faer 1Y, 11I-W, 11-X

X 2. et 1Y, I-W
X3 FgeT I-X, 1I-W
X4 Faer |-X

P At g &, & T gTen F F oea G&W F A Hfw)
700, 697, 688, 661, 580, 7
Ans X 1. 338
« 2. 337
X3 340
X 4 350




Q.16

Ans

A vF Fuw T wr € Ows S ifag FRUT §410 AT | Y9 #r U ¥ U R B F & sear
FIOT, FUT H & TS TCAT/ T T/ ATFET ST AT T 2

FUS - FAA A AFTAT & fov Foag IRaaw § 87 9371 T ¢

I. Tag (Al) Stefdr A= o & wfr e &1 amuw 2

Il T35 (Al) Toeiler T ANl F Re & sgEr & T g, Sed aefeAs o geEarqet s9aT a
TR YT B T E

ll. T3$ (Al) #r AT 3T F 3 T F aEaT $Ee I sk Bve am Fr afFe & v F dfas R
831 I B

IV. g (Al) § ToIfa HAlsfel HHAISS HEAADHAT FF T bl ¢, 0T #5 @l R AR &ar sma & 2
ST

v e I, 3RV

X2 Faer | 3T

X3 maer | AT

X4 e Il T I

Q.17

Ans

6 =OTdar 9AE, g, Hgg, e, IS 3T AT F TIT F TX F TEAEd IR 96, foee g eer-
3eeT TRy ¥ 500, ¥ 300, ¥ 450, %, 350, ¥ 600 3R z 550 g, ofFad =i =gt & g &7 7 @ T9@ &=
zmfea & 98 7 300 § i ga® & F 99 gEd Few JF oy B vEe far @ gowr & owe 9w 2
450%|3ﬂﬁaﬁﬂﬂm%@ﬁﬁr?ﬁwﬁugm foaaT goar FEr 81 YAE & 98 7 500 ¥ wEE & 99
FITTOF 90T &1 TAE BaE U Fohl ¢ diehed T goarl AgT 2l

IET FAHF F FUR R e # ¥ SI9-a7 Fu9 G957 22

|. ST TEE s § R 39 9 T 550

II. Iger 3 o T 300 F

XigarldraE
X2 e |

vi | AT Il =t

X4 Fae

Q.18

Ans

U Y &1 8 g A UF 9 oed ¢1 U v Reedt # ¥ 37 W fwew & wuw ST At gmen
G FHLM
LRMC, OUPF, RXSI, UAVL, ?

v 1. XDYO
X 2. XDTO
<3 XRTS
x4 XMRO




AV Rrafefed v &, # Fo Fua R v § AR 399 91¢ 39 FUAl F 3O W Fo e Fo aw
feT 91T FUa HIIF T AAS g, TE T THIT: AT T T JAIT IAT T &1 T Fewet
gfer 3t TeTeaa a7 TuiE fIfST & e v Tt # @ S9-ar Ty, G s v Fuat #& v
e T W IFTEWT FIaT ¢/F ¢
hfet:
. 5 P, A &1 &1
Il. F5 S, A €l
s
. ®1% A, P 78T &1
I. $ S, P gl

MK fsad | #@R I e ST e E
v 2 Fael A | HTEIOT FAT B
X o @y off frswy repERor FE I g
X 4 Fael fAsHY || FTEIOT FLT gl

Q200 promuT TP, QF A E
P-Q#F 3 TgP,QHF AT E
PxQaratg P, Q#F g
P+Qa 3 gP, QF 7 ¢
IRFT FAFF F HUR W], A9 #iaw & RBU ov syar § @ #i9-ar 59 fr v 3@y & 9 #: FRor
ForagaR I & A+ B CxD gl
HfEFa: A, E &1 6118 27
FOTA: D + E
FIoT B: E-C

At X aflrrua & 9IS 9o B & FROT ¥
V2 FfFUT F IS FTT A & FROT §
Ko fApuad F AT T AT A R F & B FroT §
X 4 ST F T A 3T B I FRoT &

Section : English

Q.1 Select the conclusion(s) that follow(s) based on the correct meaning of the word underlined in the following sentence.
Sentence:
Mahatma Gandhi and Martin Luther King Jr. were altruists.
Conclusion:
(i) Such people do not desire any personal gain from their service.
(ii) They are enamoured of public acclaim and glory, though.
(iii) It is very rare to come across such selfless human beings.

Ans #5 1. Only conclusion (ii)

" 2. Only conclusion (i) and (iii)
#5 3. Only conclusion (ii) and (iii)
#5 4. Only conclusion (i)




Q.2

Match the following words with their antonyms.

ListI ListIT
1 | Witty A | Dynamic
Torpid B | Delight

I

3 | Nuisance |C |Lame

Ans X 1. 1-B, 2-C, 3-A
X2 1-A 2-B, 3-C
X3 1-B, 2-A, 3-C
4 1-C,2-A, 3-B
@3 Match the following words with their antonyms.
ListI List IT
1 | Cautious A | Reckless
2 | Gallant B | Craven
3 | Functional | C |Broken
Ans X 1. 1-C, 2-B, 3-A
X2 1-C,2-A 3-B
X3 1-B,2-C,3-A
4 1-A, 2-B, 3-C
Q4 Identify the grammatically correct form of the given sentence.
Sentence: Carbon inequality is an measure of the difference in carbon pollution across society.
I. Carbon inequality is a measure of the difference in carbon pollution across society.
II. Carbon inequality is a measure of an difference in carbon pollution across society.
Ans 1 Only 1 is correct
X 2. Only II is correct
X 3. Both I and II are correct
X 4. Neither I nor IT is correct
Q.5 Four sentences are given as options. Choose the option that contains the odd sentence.
Ans /5 1.1 have a BE degree in mechanical engineering from Anna University.

25 2. 1 would like to be considered for the post of service engineer in your company.
/25 3.1 have been working as a supervisor in a manufacturing company for four years.

" 4. | have a fair complexion, short hair and a smiling face, which my friends like about me.




Q6 Select the correct conclusion based on the meaning of the underlined word.
Statement: My parents think that my problems are small potatoes.
Conclusion:

I. His parents take him for granted.
II. His parents find his problems funny.

III. His parents think that his problems are unimportant.
Ans 1. Only conclusion III is correct

X 2. Only conclusion I and III are correct

X 3. Only conclusion I is correct

X 4. Only conclusion I and II are correct

Q.7 Select the correct conclusion based on the meaning of the underlined word.

Statement: You always feel exhausted because you put too many irons in the fire.

Conclusion:
l. You try to do too many things at the same time.

Il. You want to be the topic of every discussion.

Ans " 1. Only conclusion | is correct
25 2. Both conclusion | and Il are correct
< 3. Only conclusion Il is correct

25 4. Neither conclusion | nor Il is correct

Q8 Match the following words with their antonyms.

ListI List IT
1 | Gullible A | Protection

I

Jeopardy | B | Suspicious

3 | Teensy C | Giant

Ans x4 1-A,2-B, 3-C
X2 1-C,2-B,3-A
¢ 3 1-B,2-A, 3-C
X 4 1-B,2-C, 3-A




Q.9

The sentences given below are numbered 1, 2, 3, 4, and so on.
They form a coherent paragraph when sequenced properly. Choose the option that gives the proper sequence.

1. Collective fear stimulates herd instinct, and tends to produce ferocity toward those not regarded as members of the herd.
2. And for this reason poltroons are more prone to cruelty and superstition than brave men.

3. Fear generates impulses of cruelty, and therefore promotes such superstitious beliefs that seem to justify cruelty.

4. So it was in the French Revolution, when fear of foreign armies produced the reign of terror.

5. Neither a man nor a crowd nor a nation can be expected to act humanely or think sanely when under the influence of a
great fear.

Ans & 1.13542
K 2.15432
< 3.13245
o 4. 14352
Q.10 Select the option in which the word ‘nadir’ is used correctly.
Ans 25 1. The nadir of a man’s life comes when he feels happy about his selfless service to mankind.
«" 2. The recent court ruling sentencing the politician on criminal charges marked the nadir in his political career.
< 3. Tenzing Norgay reached the nadir of the Everest summit and created history.
#< 4. The Sahitya Academy Award was announced in recognition of the nadir in the writer’s literary achievements.
Q.11 Select the conclusion(s) that follow(s) based on the correct meaning of the word underlined in the following sentence.
Sentence:
Geriatrics has become a specialisation in most countries of the world.Conclusion:
(i) Specialists in this field are in demand as the average lifespan of humans has increased with advances in medicine.
(ii) More and more old-age homes for the destitute have sprung up in and around major cities.
(iii) Care of the elderly has become a serious problem in educated as well as affluent families.
Ans #< 1. Only conclusion (ii)
#5 2. Only conclusion (i) and (iii)
" 3. Only conclusion (i)
#5 4. Only conclusion (ii) and (iii)
Q.12 Which of the following statements uses the idiom correctly?
(i) For a very long time some of the provisions of the criminal code have remained a dead letter.
(ii) Many new schemes to benefit the poor and the marginalized are announced during election campaigns, but many of
them remain a dead letter in implementation.
(iii) The opening of the newest facility in airports was a dead letter day for the flyers.
Ans 25 1. All the statements

«” 2. Only statements (i) and (ii)
25 3. Only statements (i) and (iii)
5 4. Only statements (i) and (iii)




Q.13

Ans

The five sentences labelled (1. 2, 3. 4, 5) given in this question. The last sentence is fixed and others when properly sequenced. form
a coherent paragraph. Each sentence is labelled with a number. Decide on the proper order for the sentences and choose the correct
option.

1. Soon afterwards, a dinner was hosted in the Crystal Ballroom of the Biltmore Hotel in downtown Los Angeles.

2. The Academy of Motion Picture Arts and Science was founded in 1927,

3. The main motto of this meeting was to discuss the new organisation's aims and goals.

4. While there were numerous pints that were discussed that night. one of the prime objectives that were talked about was to provide

a way for recognising the excellent achievements in the field of motion picture production.
5. This would, in turn, become a driving force for people to achieve better levels of quality when it comes to cinema.
o 1. 21345
X 2. 34125
X 3. 43125
X 412345

Q.14 Select the option in which the word ‘connoisseur’ is used correctly.

Ans 25 1. A connoisseur and a novice can be given the same job to control law and order.
«" 2. Only a connoisseur can tell the difference between a fake painting and an original painting.
/5 3. Every thief is a connoisseur of sorts when it comes to escaping the law.
25 4. A new connoisseur was posted to the town to bring order.
Q15 Tdentify the grammatically correct form of the given sentence.
Sentence: Hardly had I clean the floor when all the children had arrived in the hall.
I. Hardly had I cleaned the floor when all the children arrived in the hall.
II. Hardly had I clean the floor than all the children arrived in the hall.
III. Hardly had I clean the floor when all the children arriving in the hall.
Ans 1 Only I is correct
X 2. Only IIT is correct
X 3. Only II and IIT are correct
X 4. Only I and II are correct
Q.16 Select the conclusion(s) that follow(s) based on the correct meaning of the underlined segment in the following sentence.
Sentence:
It is not prudent to try to keep up with the Joneses.
Conclusion:
(i) Most employees are in the good books of their employers by saying ‘Yes’ to whatever their employers say.
(ii) As a result, many middle class families are unable to live a debt-free life.
(iii) People in the community respect the Joneses for their wisdom.
Ans 5 1. Only Conclusion (iii)

#5 2. Only conclusion (i)
Z5 3. Only conclusion (i) and (iii)

" 4. Only conclusion (ii)




Q17

Ans

Identify the grammatically correct form of the given sentence.
Sentence: At tomorrow's event, I would play the role of the heroine.
I. At tomorrow's event, I will play the role of the heroine.

II. At tomorrow's event, I will be play the role of the heroine in the play.

# 1. Neither I nor II is correct
# 2. Only II is correct

X 3. Both I and II are correct
« 4. Only I is correct

Q.18

Ans

The passage given below has humbered blanks.Select the most appropriate option to fill in blank number 5.

To avoid the various foolish opinions which mankind holds, no superhuman genius is required. A few simple rules will keep
you, not from all error, but from silly error. If the matter is one that can be (1) by observation, make the observation
yourself. Aristotle could have avoided the mistake of (2) that women have fewer teeth than men, by the simple device
of asking Mrs Aristotle to keep her mouth open while he (3) . He did not do so because he thought he knew. Thinking
that you know when in fact you don't is a fatal mistake, to which we are all (4) . | believe myself that hedgehogs eat
black beetles, because | have been told that they do; but if | were writing a book on the habits of hedgehogs, | should not

(5) myself until | had seen one enjoying this unappetizing diet. Aristotle, however, was less cautious. Ancient and
medieval authors knew all about unicorns and salamanders; not one of them thought it necessary to avoid dogmatic
statements about them because he had never seen one of them.

25 1. Justify
" 2. Commit
25 3. Write
5 4. Prove

Q.19

Ans

Identify the grammatically correct form of the given sentence.
Sentence: Why are you coming off the children in my family?
I. Why you are coming for the children in my family?

II. Why are you coming after the children in my family?

III. Why are you coming after the children at family?
+ 1. Only II is correct

X 2. Only I is correct

# 3. Only I and IT are correct

X 4. Only Iand IIT are correct




Q.20 The sentences given below are numbered 1, 2, 3, 4, and so on.

Ans

They form a coherent paragraph when sequenced properly. Choose the option that gives the proper sequence.

1. In a formal relationship, on the other hand, feedback is given by an expert, usually an instructor, a more experienced
colleague, or a professional editor.

2. Having an editorial relationship is a crucial part of the writing process as it helps in getting feedback on one’s writing
regularly.

3. No serious writer should go from draft to finished text without editorial assistance.
4. In an informal editorial relationship, peers read and offer feedback to one another about their writing.

5. This is because it is often difficult for a writer to view his or her writing from the perspective of an external reader.
5 1.23415

X 2.35214
X 3.12543
o 4. 32541
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Q.4

Ans

FfcnasT AT & TAU A PR § § He-F U 77 §7

1. 3FgaY 2023 I UF Fo0@ET A 3T H, 24 Tty AT aei d5ATR FifoEas 736 7 gRar F
A9 T mSr A9AT Frordad F AT

2. FlSET FR AEEE F INRE ATS T F FRIS H AT T Sl e § 79 P Ay Gendr
Frorgd & TR Tadr gam

S.ﬂﬁmﬂﬁ'maﬂgﬁ?“ T % wad e 7 g5, Towe seeie Fer Al & gererar @ s B
X1 Faer 2 3T 3

X211 3R 3

X3 Faer 1 3T 2

va1, 23T 3

Q.5

Ans

TAET Tl 3N FE TAET oW TE & HADT T TAIAT GEw 2023 F @ FLAT W Tpd [EHRT F FEY
# Pafefae § @ sla-ard @8 Fua 787

1. Tegafy e Sdr 3 & 76 dRar REEnt & =gy &

2. TAH TWIAET Fer AT WudivE (CAPF) & &t meoaia waT anfae #

v1 1 3T 2 =t

X2 Fger 1

X3 FFeT 2
Xegartigadr2

Q.6

Ans

FeTHIeR QR 2023 WeRi- & Tay A fFAaferf@a & @ #9-91 wy= 98 82
. 39 14 ¥ 16 [, 2023 9% R, ST § maifora fvar mar o
I1. ¥R Adtevoita et faer Teiwlt (IREDA) A d1F fRawiia "Sevier qRIU 2023 weriHt & v ferm|
X 1. Hadll
& 2.1 3R 11 Sl
X 3.%ad |
X a.Fd RAG

Q.7

Ans

ST & HeTad Huer BedsE Fikegy (NDC) & ey # mafaf@a & o sla-and Fua acw 282

1. 3P 2023 #, HEec o HRA & HATA AU SCHSS FMeedd § TASES AU HHAF o2l i
FARHT TS P e Bt D o0 FH &l

2. $Id % HAisEr TS (NDC) & Tg 35ga«, W3 (COP) 26 # O "=mHa 1 Jeaic Siorarg wedr
FAERE FAT 2
3.ugma:rmmamﬁamawam@aﬁ%%vm%ﬁmﬁmaﬁraﬁwmﬁﬁwﬁwm
gl

4. FeTaa TASET (NDC) & I8N, s 37 2030 d I Fohel Wl 3¢ I 3cHated draar &I 45 gfaerd
% FH Fa F o gfaes B

X1 rger 1 3T 2
X2 Fger 3 AT 4
X3 Far 3, 2 AT 4

v4a,2 33T4




Q.8

Ans

A (105a7 W=MeM) iftfraw 2021 F Ty & Fuferf@a & Q S19-91 Fy= 98 82
1. rgafa stodt g A wfur (105at W=neE) iftfraw 2021 #Y 3o TeAla 3 G R

%.ugerﬁlﬁmnmﬂ?ﬁsﬁ'\ren%mﬁﬁ%%mﬁ(smcmﬁwaﬁ?ﬁﬁgmﬁaﬂmwﬁaﬁﬁaﬁmm
|
X 1.AdeRAG

X 2. Fad |
o 3. %ad Il
X 4.1 3R 113

Q.9

Ans

IcRTEE Al ar (AfgamT & v afas s3meon) &dTs, 2022 & gey & Te@a 7 @ si9-and Faa9 g
ee?

1. 12 3@geR 2022 F1, ScaIG@E Uo7 HIAHSS & ToF TFR 1 AFdr F Afgar JRef0r & g2 9 Hegrewr
I % T gEAEd e R 9 e At B

2. 3cRIEE @k FaT (AfFemst & e afae ameon) Fawes, 2022 # A9 2022 # U T Furawsr g@nRr
oiRa BFar amar o

3. fadues & gl wum, saey & FAWr, Sad TR F gur AR FEfas St # o gamear
ghaftas = ¥ fOw s Alshal & Afgenst #r 35 sfaerd Aewr s == & @ B o g

XlFgea 13T 3
V2 Fger 1 3T 2
X3 hael 3
X4 e 2

Q.10

Ans

g A feritwr wfdwe & weu & =fofia # @ sla-o7@ Fua v 822

1. 6 FeY, 2023 F FRES TWHN = G 1 feiw i o= B

2. "33 AR T HfEwe a9 HeR sffaws ¥ aea cFaat 3R weEEr # of T TAT 99 Sa
FT &

3. Ww,mqm,mﬁﬁm?a?q?,mﬁﬁﬁ?,mm%ﬁlﬂmﬁﬁr\ﬂa—qafl'ar
FhaIT & enfae §

4. 7g ¥ A we ae o F B T g

X Fhger 2 AT 3
X2 Faer 1 3 2
X5 Faer 3 3K 4
v, 2 33R4

Q.11

Ans

3MS3sEr (IIT) sEmerer 3R SEU (ISRO) & effushaisil gaNT AeaY 2023 # WERIT &% & Hid H THa-
YT T TS & WY A AR H ¥ FA-AUH FAF el g/e?

1. o FRIfAEw FaEE X-3 (LMC X3) U Zfammdy arT gomer § 5@d v o g 3R v o anr
2T ¥ S T F A a1, T3 AR #Ue feremw g@er g

2. TE A § oETsHeT 200,000 FehrRr A T, FANT HIFREFET H T 39998 AwrREEn A Fud g1 1971 F s&fr
TS & &g ¥, 30 Afded 3w ganr @ mar g

Xigar1dradr2
v2 1 3T 2 g=t

X3 Hae 2

K4 RTe 1




Q.12

Ans

3fyss AP F99 a1 & Tea F Ty F 799X 2023 F Hg TEHR IRT H 95 @vor F FEog
TrafefEa # ¥ FF-a FuF 3ET 227

1. Tenfg afrss arie s9a (Tt Fuius) =T, 2023, F 39 FAFAHT FT HIETFS FH HIY F o smh
S =S & F o 33 F AT TRuEEar W O T F F$ G 99 S g & 7% F

2. FEE & e (PPF) @Tat #F AU 98 i $7 AgAta 7 & & o of Pmat & wuiva B g sk
e "faew TsA Bitee (National Savings Time Deposit) TSl & 3ded FAATE @0 X &) oAt #
ofyade o §

X1 e 2
X2 a1
vigartdrad2
x4 1 32

Q13

Ans

g & F T @ (Yaya Tso) 9ifd &t & v dsfeua fgaeg dieee & g9y # el & @ Fa-w/a
FUT HET 2

1. AT a1 & 9T F ARG WER-GUAS-Sses fFF0R (Gol-UNDP-GEF SECURE) feamer distee &
AT THAFT 2T &7 H T 8@ (Yaya Tso) &7 o= & arEl =9 [afauar ey = oifte F &7 857
forami

2. 3= F=g TTeir 2 3R 3UF FreUr &7 #r A7 Bfvar ovwr wve oitg s 5 Ow e F fausr
3y T AT 999 (SECURE Himalaya Project) & &= s It & WA & a1g 17 fG@aT 2023 &r
YT 9 gEae T AT o

3. SEAIfad TraT wH@ ATICH (Yaya Tso BHS) & HeAlaa &9%a 160 sq. km. geml orwsd shar &
SATasTS & anfier gemi

v ager 3 T2
x21,23%3
73 RFe 1

74 e 2

Q.14

Ans

Qo sfear i1 W, 2023 & J9y § FFafafad # § o19-91 Fy= 98 82
1. T SFEaT =T AR 2023 BT UGAT HEHIUT 10 | 17 fETaR 2023 9% maifora fpar mam

I1. Qe SfEar 97 Y 2023 H) fEeeh =ER # 3 WM W) 7 @ fAursi (@7 fivesh, 37 vydfeew, i1 dsfies, i1 daa A9, O
graRfefee, Wt peata, T ggfem) & smanfor favar wan

X raasiRAag
o 2.1 3R 11 <l
X 3. pad ll

X 4. bad|

Q.15
Ans

fay snfife w= (WEF) & a1ffes S5 2023 &1 fawg w82
X 1. Tfsa fay & Fad (Conflict in a Fragmented World)

o 2. gfed fay o ggan (Cooperation in a Fragmented World)
X 3. Tfsa fay o ufeaef (Competition in a Fragmented World)
X 4.9f&d fay # ¥8¥EY (Correlation in a Fragmented World)

Q.16

Ans

YR =g wigar fAdas, 2023, Fafeafaa o F fea sifRiffay &1 wi am?
X 1. STRIYS gfdhar Tfgdr, (1898), 1973

X 2. YRaa ey sffafey, 1872
& 3. YR &8 Hfgdr, 1860
X 4. {ufas ufgsan dfedr, 1908




Q17 3fifEz & FufefEa & @ fea R o1 URda qRIaE Tder (Asl) Bt WREA TRS Gt § AT FIA Bt Io197 HRREAT 5
TS 2023 P DI TF?

Ans X 1. ST AR
X 2. gasR TR
o 3. PUaR dfR
X 4. TR AR

Q18 Z3 ggw 2023 (VAJRA PRAHAR) 2023 ¥ oY & T8 SU/FYaAT & Miegd HIferT?
1. 3 98R (VAJRA PRAHAR) 312TH, sIRAT A0 3R @RS J8ar & 9w st & &9 amafaa o
TgFd HeAE B
2. SHFM 1437 FEHOT 21 AT, 2023@3@3%%,%:%355%
3. AR g w1 wfafafter 3mfEdr R sat & gum Foa oF 79 (SFG) & &fFar &
4. wgFd e drsrar A afmrers wEfa SF &t # gafcasn Rftat ik srgsaEt & arem e sueE 3w 7

A X FEer 1,4 3k 3
X2 a1, 2 3R 3
v31,2 334
X4 Faer 2, 3 3T 4
Q19  gyEA off W A A 23 A, 2023 HY WRA BT 66 fI97 "WRA 66 fIo " gwardw 9} fan, o _ % WRd 31 66

TP & fEomg=, e iR uRfFRATH & srft aieM®al 9911 &1 uReeu=r &1 7€ g1
Ans «" 1.2030

25 2.2035
/< 3.2028
/< 4.2025

Q.20 AR HIUE AT 2023 & Hay § Frafefad & & H9-91 39 Tdt 82
I. SaRY 2023 ® SIS & G T TS A FAYR | ' TSI HIUC ArHe BT Sgure- fharl

II. SR = FaTd1 i THH RIFTA SRART 3R 379 FauRS| & A1y Aguiiirar & g 15 320 & Sierigy ufafiy saqR uga |
X rAaasiRAg

X 2. pad Il

X 3. %ad |

o 4.1 3R 11 g

a gAr FUTIEAT & e H, forex (FEw) F 3 F=faEa # & sia-ar 32

Ans

An

(7]

¢ 1 Foreign exchange rate (BRel TeFH=al 1T)

X 2. Foreign expenditure ratio (BT TeFmug=r Iferam)
X 3. Formal expenditure ratio (Fr&er TagUsS=T If2ram)

- ': *
X 4 Formal exchange rate (FTHe TsE=IA {€)




Q.2

Ans

T=of@a # ¥ FiF 9RT & §FS FT 397 7T 87
X 1. ety

X 2 g

w‘&ﬁﬂmqﬁﬂa

X 4 TSTHAT

Q.3

Ans

T F FHY, e A Afruar sga w7 oFf i g PefRa & @ e o @fae 9
| gr 5

Il. 3
Y

XiFarldraEril
X2 e |

X3 e ll

v | 3T aEr

Q.4

Ans

Q.5

R H gRA Fd & Hdeaaa § 51 ANGH ariad § § Sia-a1 a7?
. 58 o 3t 52 BFEEr F 7 AT 9o Fr THEAT o

Il. TIETSET (HYV) Sget o7 ofr el & g7 & @R o or 3R 5F ot & 57 gwade #1379, ek &
gHel H 316 U BHel @I FNieA & Fehal o

XKigdarl iR aEll
X2 e |l

v AR N gEr

X4 gt |

Ans

3eal 9RA # Slig ToT H QWaAlcas &9 § 3 WP @ S0n 910 g Sad 75w w9 @ AmfefEe 7 @ e
9w TER ¥ B & 587 afde 2

. YT gwx #EsTE (PGW)
II. Seadr T AfSIT JesE (NBPW)

X1 e |
Xegarldragri
X3 Fae

vl AR g=r




Q.6

Ans

T F A & we #F ratefe Fue W e Al

1. 1530 ® F9 gAY Heal & AL A S 1€ FC &5 AR gerHT H gAfFT 747 = @ o

. 3 FHIEL FET T W TF AN RER A o A gud 3R Toa & arde sEigl A A #
i FrEaT o

3. =eTaTe FHRE F IEE Sf depher T AT AR AT F FAT F onfFer @ Ao AT HARG A gAY F
TSTREYT & FAT FFTAT 1 FANS 5|

T 71T FAt F ¥ FA-and @@ 7
v Faer | 3T 2

X2 Faer 2 3T 3

X3 Faer | 3T 3

X4 et 1

2]

Q.7

Ans

TR JeI1d Jodliohd & F5 WU MR g9 & 3R 9% o1 fasa & 799 veoe & Fuifa &= & ga=
T ¥ AgeaUl g gl Aol Ol F FE FOEEG A A gateud S|

1. 9ge TS (Scoping)

2. F3Ia-freaiwuT (Impact-analysis)
3. @eT (Screening)

4. JAFESA (Mitigation)

1.3, 1.2,4

X2 1,234

<3 3,241
xX4.4.3.2,1

Q.8

Ans

SRETT TiauTT & At # ¥ &g g 7 St sasn aEeeT 22
[. &1 IVA
. &reT IV

v Fae |

X2 | 3T Il gt

X3 Faet I
Kegarldgagri




Q.9

Ans

Q.10

Ans

Q.11

Ans

T AT 1963 F urr 3 T HRX TEE F ITEET F VT IS F TR Fgeaqur TEU Fe
2l

& 3R 3T aa st & suEeT & A F T=ew ARAEE 1963 9T 3(3) F FgER ey wuar
97 = &3

1. &g TR W1 R FEEE @ S W T S S S, T s, st sftgmensit, gurafaw o
¥ et or gw Aafaat & e & Hiv 39t =T smrat &7 9T ST S

2. T W T TEE & UeAT & THET @ S arelr wemrafaes 3t e fad sk snfReie s 7 sk
ST ST ST F R

3. % WK T fE ANET G@RT A1 3EHT IR F vaifed ey AN RS, 3R I e v ased. WiEe,
Mfew 3t Afeer F wiF Fér it 3399 o=t gt & g

Ru v st F ¥ FlT @ @ B

V11, 23T 3
X2 Faer 1 AR
X3 Fger | 3R

X4 Faer 2 3T
AT TATeT & Tey #§ Aratoad # U HIi9-97 Fud T 872

. T R F afoar Fr deia TART B
I. AT F =T 99T #7 FY 9= ¥ FAFET

I

Fad

Fad

K*ml
Xegarldragri
v 3 haet |

X4 | 3Tl get

T ¥ s v AgeEr qiete F §9Y 7 Feteiea #§ ¥ RIE-a0 FuT @6

. frwF w3 g 9iET (C&AG) & FeT & 9Rad 1919fr§'§z?r|

C&AG 3T TTea 1 AqeT FaT § 3§ SRAYT AGTRIET 3R o@m f&38TeT (1A and AD) & & § ST AT 2
C&AG &1 e orme gearea 7% oo # & v e worea &5 & &g v 3k F onfla s
TRT #T T Fet F @I v smTadie gt gl

4. C&AGHI Tgell I Jols 1991 F HIFT TT & oGl TUBTR & a18 & oI Il 147 o

X1 Faer 1 AT 2
V2 Faer 2 HR 3
X5 Fae 13R 4
X4 Faer 3 AR 4

e S B




Q.12

Ans

UAE T ¥ Tey F eafai@d § § Sia-ar wua @ 82
. 9FE FT IRV & TH ARAY H FEH Seo @ T T gl
Il. 3R 9 T & A 28 Hiex R FEE 43.6 Hiex g, S i w7 F geww 3R e w7 @ ST @ w7

X1 e |
XKegarldragri
X3 Faer |l

v | AR g=r

Q.13

Ans

IFET FT TIET HIAT Fia 41?2
X1 e
v 2 A

X 5. Hool ar-CTA

x 4 o

Q.14

Ans

SEITIT BR TS SHAHFH U5 HSARITS UANA&H (IEEFA) 3@RT EMBER % &MY R 3R HT&HT 2023 H
TR AT T=Ar & FAT HFAUT 2023 F @O H Feafof@g #§ ¥ Si9-908 s34 T 222

FU | aFEAS 3R TR T ARAT T § S Feo Regd THAT # AT R AR sfeear § sew st
gl X W E

Fue 2: e 16 RET Tt 1 Reeiwor # 8S Sur f aif¥s Rega smarawar # 00% @ =

Fuer 3: REE & 16 T F TeIIT F IR HAAT & Fest H AT g, 301, Freprastantor, fagga somer & ved,
faega siifeufadr a5 &1 acaarn aur Afaar ik Teelifos sfaaea]|

X1 1,233
X2 Faer 1 HT 2
3 Faer 2 3T 3
X4 FFer |

Q.15

Ans

Tr=fafam & & 5w & 7 @ ae & F8 e ¥
K 1. T

X 2. graemeer

v o aifSferEar

X 4 FOTAR




G T I g 1 @ e e

Ans

o= | = 1|

1.2Y 3 a1 TerreT | A, Qe & SasETaet
2. HOTH B. STl AfeaT

3. U3 AW C. e faramam
4. T D. TATIUT 3 HETHII

< 1. 1-B, 2-A, 3-D. 4-C
« 2. 1-D, 2-A, 3-B, 4-C
X3 1-D,2-C, 3-A,4-B
x4 1-D, 2-A, 3-C,4-B

Q.17

Ans

T H TUET TN & Aeatarad &a uT fF= S|
. QAT TF wad el Hfd gAREa HEr

. To=SeT 39eey FIA
g{-dmmlu\i UT =TT T AT UF @GS FHET

IS H T FIA-AVT STF/ETF Faerdfa &1 g/
X 1. e 2 3T 3
X2 gger 1 3T 2

v 5 Fae 3
X4 Fger |

e S

Q.18

Ans

fr=fof@e & 7 v g T #7872
X 1. 7% & T

v 2 70 g

x5 7% g

X 4. T[T T GG




Q19 I afarr F18 Ao & AT F T BT & TEY AW TS e § ¥ B e geg g
TqET F Tg==

. AisEr 3= FEUST B 8T FEr

& cEHAT H GUN HIAT

. ae I FF HH W FARNT X FA &F HT GEAR LA

. Ffeera AR FEEE T F ASEg wr

Ans v Faer 1.2.4
X2 &gl 1,2,3
X3 ohael 2,3, 4
X4 FHIA 1,3, 4

Q20 gfggr T o1 F Ty F AT sy w AR St

. 9 FENISE &I Ageaqul Afgen WA FuRa A ¥ off|

1890 #. 3egiel Torerarait & forT T s, AEr Wes # AT F

I e AHF 376 [ae (AT ST AT ga O 71 agelr AT 3eAST B

. 3R 1865 7 Terat foarg seaste Fea (et faew & deofes &= & e damd) $r gzama #

few v Fy=t F @ FF-T/E w@
A X FEe 2,334

V2 Fae | AR 2

X3 Faer 3 AT 4

X4 Faer 2 AT 3

Section : Numerical Aptitude

Al o =ofra o ffed TRy @e ) W 2 7€ & BT 3o 9wty w07 A ¥ 7R g ok g we a
U 5 0 4§, O aie s & faae 82

Ans X1 50 gfaea
v 2 40 9igera
X 3. 35 gfererg
X 4 A8 i

A% g et @ dereer 176 § AR 3w &9 7 3 16 ¥ A Gt # g fder gem?
Ans  X1.3:2

xX26:1

xK35:2

v46:5

D =

A




Q3

Ans

32600 Fr TR FT g Al F TURT @S W HOT W f&@m @ §1 v amr 18 gfded H aifde ax w sk g
9T 25 S #r ¥ @ W §1 IfE For ¥ st 2520 @1, & 25 wiow & aiffs W W woT W & 7
foreretr 22

v 1. Z742.85
< 2. 3642.68
A 3.3798.89
X 4. 3657.66

Q.4

Ans

AT & T Ao H T H AT e AW § 3R Fom F 9w e Fr 7 7 10 v wfow oy & 3y 5=
S TfEr v sitEa 21350 @, @ aer F 98 GRaer afEr 7

1. 32475
< 2. 32455
X 332465
X 4. 32355

Q.5

Ans

Aaﬁfrswé’rﬁgﬁrsoomsia'réﬁaﬁwamwmm,wﬁr%mﬁ% km #r gz % v digar qw
FIA gT EI A FT I B F 50% A ¢

fTafaf@a & & Fia-ara Fud 7@ g2
FUA | g5 OF F & qE A Z@W 1200 m #Fr gl 77 F= W A AR B vger ax Fea §
Fua II: 2t & e A, B ¥ i a1 &ear 2

X et |
A |
Kegarladragri
4 Fae I

Q.6

Ans

T FETT A, TFH P TEAT F TSRAT T HEAT F INA 3 1 5§l Secor gt drer Fe@miErdr i FEqr F o recior
g arer faeanfiat & T § 3ad 7 0 3 §1 o #, Sealol gl arel faganfial T §Ear @ Hegedior g arel
faeanfaat $r g & sgara 2 ¢ 1 g1 JEfFa A, 300 @9 I faemf¥at Fr gEar F s @ ae
Rreanfdat & T T o &7

xX1.9:4

X212 :5

<315 : 8

v 18 1 7

Q.7

Ans

arzq A 3T B et &F #7 w6 U2 3T 15 9 F s Gy §1 I=Y C Wl I arel =T §| FF =t et
F TF T 6 U F T @rew 1w g, ar &F T 65% TEAT # A 1 IR H, 95T A AT C F 8w F v
T T BT Aar § HR BT C F ag ¢ 7w Far § #R B F e G7m Far g1 9sT A 3k B Beew = F
Y HTT Fr T H s &
x1 32
3
X2 22
7

v 22
7

x4 32
3




Q.8

ofer A1 T, A2 Tfdr & 19 I fdw B, ar A2 Tfdn, A1 TfFr @ Rree gfoea & 82

Ane v 95 gfera
X 2105 gfgeg
X 3. 85 gfgera
X 4100 gfaea
Q9 o e Ty T &, FOrES s O = 1, 11 3R 1 RE v #F| ggme HfET F FE-ard suT 997 7 3097 o
F faw gaeg ¥
CEGH
OTEEE H 189 @ el T Fol T fohaall HIIM?
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|. TIETE % For T & & 8T & Tk 6T e Ao sl S EA F HeFhAr g ¥ A @ s AR
I &1 519 3®H 150 @7 @ o, @ SHH Fo T 279,500 |
Il. T $EH 240 &7 T &, @ F@F Fo @ 21,15,500 o
ll. ST $8H 200 &FT @ &, @ $6F F T 299,000 =
A X1 Faer | 3T I
Xz |, 1 3T
o |3 I T | AT
X4 e |
Q10 vz FrerEElFa F ARG UF FR I FAT ¥ 75% FH 81 FR I FAT 25% FF @ S & 34 vF At
#r FrAT 40% T F1T T
FUT |: AreT@Eied Fr 75 FAg, F H 78 AT T 53;% FH g
FY |l T FR AR & AERH H T 7% HAG, IAH FA IFF ST F 3-% 0 ¢
IRTT § ¥ FE-EE FAT TE 22
A v e |
Xegarldxagll
X3 haer
X4 AR 1 gEr
Q.11

Ans

e & 97 21500 9f 971 i &X W F=T B FE T U7 W 25 Fferd ¥ oy HAT R g, 3R g W W
3% 25 gfderd & gife g &1 @ oF-3F F Fo amet ar @t Fraar @i

v 12200 gifer

K 2. 3250 e

X 3 2150 gifer

A4 3280 =M




Q.12

Ans

f=fof@e # o sig-ava wya m@dr 72

(a) FE TEAT 125 ¥ a8 Qa7 g, ofy Feur & a7 &7 3/ @ o= g 5 @ fesy
(b) TfE e FEar & FEast § fasey g, @ a7 wEw o weunst & queee # off sy gefn
(c) F% TEWT 36 ® aF ey grf, afg g= 4, 6 3k 12 & femsw §

X 1. Fae (b)

X2 (a) 3T (b)

%3 (b) 3R (c)

4 Had (a)

Q.13

Ans

Foma AR BA toaga iR T T sgma e 3 5 AR5 7 Remm AF S Frex I oA B % 5
et & |y Homar Sar § 3 sEA 3 Y Yooigial et ve 71 ferae C 9rea fhar Siar g1 Rerae C &

1.5 #reX #, Faer o (ml &) Femar sar ofRe aifF 35w Teaa & e ﬁrmﬁwa@mﬁzﬂg‘r
SATT?

X 1405
x 2 385
<3 395
4 375

Q.14

Ans

72202552 o o fpaeT 2T

6x5+1
12
X2 4
X3 3
<4

Q.15

Ans

T x+y+z=10 FT x2 + y2 + 22 = 80 F, AT 4xy + 4yz + 4dzx F AF = =M
X120
X210

X330
V4 40

Q.16

Ans

13 IO % T THE #7 AT 31 55 I F| 2 IV THE O & ¢ N "Hg 7 wa g 1 9§ 5% I
THE Biea e 2 RN @ sitma dg fEaer gefre

X150 I¥

X2 485 Iy
V3 495 a9
X4 505 ¥




Q17

Ans

ar Yernf3ar C AR D, #Hwr: R R 3R S @ Ue-gEy Fr 3R ToEr IR FAr §| oAt WER fFew F e
S 3R R a% wg=w # FHr: 4 u¢ 16 fwe 3k 3 u¢ 45 Bwe &1 w7y o &1 7R &7 C & =1+ 60 kmibr 7,
o 27 D #r =7 fraer &7

A 1. 56 km/hr
X 2. 48 km/hr
¢ 3. 64 km/hr
X472 km/hr

Q.18

Ans

30 e F1 gaa Hifew ot F=af@a af@wys (A) 3t FroT (R)
* FET H T g

AFFUw (A) ®RoT (R)
FHOT F Fe THEROT & Ao
9x + 6y = 11 3T ax+by=c

dx +ey=f
Tx +ky=9%T

FT I TATIA T arem, I

FIS g 74T g, ARG k= = @ N, Y.

— = — % —

d e f

X1 A 3@T g 3R R mw &

X2 A @ § 3R R 38T gl

v3 A 3R R g9 T § IR R, A &1 TEr TIEET ¢

x4 A 3T R 3 w7 § 3FT R, A FT T TISEeToT 7 B

Q.19

Ans

59 860, 1712 3T 3203 & ar 3T &F F&AT x § &7 fGar omar g, o 93+ Tufy & dwwer y amar g1 3fF (
2x+y) W pxqgxr? H T & G A &, FeT p,q A r 3T FEAW E, A (p+q+7r) F A Faar gEm?

X116
X212
X3 15

v 410

Q.20

Ans

FA Bl g T EF AT T R 1% F A FEF ge i 2 F A g IR w AT A R AR e
& AT 7, A 3/ 25% F O FoT @ §1 TEI F HT AT 2800 ¥l x F A Fhaar §2

X 1. 830
x2.820
3 810
X 4840

Section : Reasoning and Logical Aptitude




Q1

Ans

MPQO 33T JUTHTAT &H &F 3R 9 U =iead aie ¥ PMTL & #@eF 21 38 9%R,DGHF &1 @97 GDKC &
g T @ F e Fd §U Aerened J ¥ e @ wer e 87

() DRGB | (W) NKRJ
(i) KNOM|(X) GOJIY
(i) RGIL |(Y) PIDM
(ivy MLAP | (Z) UDMI

v 1 Fad i-W

X2 Fae i-Y

X 3 ii-Y, i-W Fae

X 4 et i-Y, ii-X, ii-W

Q.2

Ans

frfera o) agfa geat # ¥ 97 o7 vw BfReT R & A= § 3R 5% 9oR vE W a9 g1 -
3 WA ¥ wEfod 7@ 87

v Z




Q.3

Ans

Q.4

Ans

Q.5

Ans

T 9 A, U 9T F a1 & wua () A (1) #a & e g RuRa wxer § & wua & @ o 2
99T F 3o & F BT gmieg § ar A€ @4 wyar & gfer ik 3RE 3o i fiew)
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x 2.
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X 2. fAFUT F IS FaoT A & FROT &

o dfAFuT F IS AN A IR AT B FROT E
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X 3. TRAR
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Q.6

Ans

Rreredt & & 712 ampfadl & ¥, 37 gl & wuw e G Peafea v smpla R géaafis

Y

o 1.

X2 XZ

Q7

Ans

=@ o &, I/ 3R oA R aw g () & a8 3% & e, R aF/fasmsy & smun w
(-) & o8 3N F R F Faa §) Pa & @ O, tF & TFEHEeY F HUR W wEEA §
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X1 ET - KZ

X2 OW - UC
3 NP - TW
x4 XM - DS

Q.8

Ans

Al Il & caaEs afev dk Rl wa & 5o §fFw wver Fa & & o welt aar
FT AT BT AR FYT F & T FAGeRT F IR W Fuw aar gem & sia-d senr afee w9 §
ITEOT FE HLAT g

FUS - AT o TF Ao AE HREER g, ﬁﬂmzm@mm#wﬁﬁvaﬁ%w
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& 1.

& i deT 32T F AT I FF F UHT FI 3T IUWT S T 9T T TIIT JUNTAT H IG AT
e

x 2

& T Teret # g @ ¥ gere R TR Yee geRed e ¥ v F@ sTEr ghmst # e sk
3eaTTe AT AT

X 3.
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Q.9

Ans

UF YT &1 7% g O UF 92 oed g1 T 7T Rwedt # & 37 w9 e @ aaw Hifsw S gmen
I I HLE
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X1LT
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X3 LM
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Q.10

Ans

e w7 7, Br 71 Beeat 7§ @ 39 330 & 999 fifew, F vea-Rea (7) # sowwfa =
TR gl
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Q.1

Ans
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®

®
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®
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Q.12

Ans
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X2 11
3 6
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Q.13

Ans
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Q.14

Ans

fFrafafa dear-g7at #, Tge FE W FT AT WfFaTT FF gEd HEr god # A g1 X AR Y #+
et @ sfarnfa fhr o o @f% & anft R f O TEmst F e % gl AR F A A
(FTe: HET3T F 3HF UCH IR A A5 @A WIHAT U7 HEAH ] T AT =A1gT] 3aEI0r & forw 13 Hr gear
- 13 X Ffkae S & 13 F Ssavaeanen anfe #r 31w §1 13 # 1 A 3 F ds ok o1 s s
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Q.15

Ans
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Q.16

Ans

A T 71T oegl #t eeeHiy F FH F HGER AT IS W, U= A T HA-AT A A2
Source

Sound
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X 1. Soup
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+ 3. Source
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U7 ffE v A, A9 3o Fuw R aw § AR 39% 9% 57w & AR W ge ey R aw #

Ans
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gfer 3t geTeaa a7 TuiE fIfST & e v Tt # @ SiF-ara Ty, T o e Fuat #& v
AHF T F HFEWT FIAT &/ E
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. FE G, M & 2

Il. $5 A M &

s

. FT M, A Bl

I. & M, G g

X 1. aer ey || T80T AT g
X2 fasy | AR 1 @ TET T g
X s g o ey STTER0T FET T g
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T T W AT FIAT §/F ¢
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. msfr ofore, Tt 2

I. $o R, fEr

ey

. F$ BE, 70T 7 T

II. gsfr &, faemer €

X 1. hae TR | HTEIOT AT B

X2 fasws | R Il g 3TEer R g
X 5. aer ey || 3TEIOT HAT g
v B o APy 3TE0T A€ T ¢




A1 oz fem o=, v, &, e, TR RO A F FaaT s T FA T R E =74 @
T HET-3ET AN 3, B, AW, A, s AR R Ao R R s A s s A @, A @
S AT A FE H AR AEEE § o S ¥ Gvde e & i sfeEw i
* Fao A SafFa g H AT #FAE §1 39H § 9de TH w99 g
* TIAA ST TS A sufad AR fue F @ #F S 31 3wl &g fr i sfeew
* T S FAS AN ¢, I§ R S arer swfad F wrgw deT g
* TAH 3¢ A aTel cdied & &8 AR de T 9T 38T g
s IS S F 3PS S g, BieT 30F AT d9r B
* STHA F Fedr T 2
» TAH S B e AT § TROT 35 8% aE F 91E s s
& E EET ¥ 3R W AT § ¥ Fi9-ar s g0 62
|. & St T3 3¢ Sear 7, 98 g AR e 2
Il. vaw & & T Jdr 8, 38 G9% & T 387 g
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Ans

X1 Faa lll BT &
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Q20 oz Zre FEw, 0, T, FEE, FEET H#R A S wET F 100 F ¥ R H@F 9 v afFa
T T4 F s w7 F 2 76 3 9T aWa I o5 AT A9 ¥ BT § At #em 3 fEet & 52 § 3fen,
T ¥ o g o 98 3 wred TR T AT Fem & e @1 HR 11 ¥ IS F He & f3foe, afer #
9Ieq 37T # Sk faoia &1 AT Il @ oer ¢ REE 39 @ § 999 ol 787 81 #5955 37 9o 6
Fafe BT & A9 ¥ 12 3% 30 diT 728 T 9 3% F7 g Fa
IRFT TTFE F IR W AT F§ § S99 FuT §997 27
I. F3rem TEE e 2
II. ST & 76 3 9red &

Ans X1 ¥ |
Xegarldradr
V5 et ||
x4 | TSt

Section : English

Q.1  Select the option in which the word ‘effeminate’ is used correctly.

Ans «" 1. He is choosy about his party dress and spends a long time in front of the mirror — he is effeminate, in a way.
/< 2. Having nothing to do for hours, he has become lethargic, effeminate and grouchy.
#< 3. Her attitude towards her colleagues is rather effeminate — condescending and bossy.

/5 4. Effeminate, though they are, the two brothers are graceful and lithe in their gait and movements.




Q.2 Select the correct conclusion based on the meaning of the underlined word.
Statement: Book the tickets now, as the early bird gets the worm.
Conclusion:
I. Those who reply without thinking gets into trouble.
Il. Those who are eager and early are the ones who most succeed.
Ans 25 1. Both conclusion | and Il are correct
25 2. Neither conclusion | nor Il is correct
£ 3. Only conclusion | is correct
«” 4. Only conclusion Il is correct
Q.3  Which of the following statements uses the given idiom correctly?
(i) Even when flood waters surround large parts of a town, some people have a whale of a time swimming in the waters and
screaming.
(ii) A whale of a time was found washed ashore on the beach and people gathered to see it.
(iii) Our family had a whale of a time last year when we went on vacation to Himachal Pradesh.
Ans ¥ 1. Only statements (i) and (iii)
#5 2. Only statements (i) and (ii)
< 3. All the statements
#< 4. Only statements (i) and (iii)
Q4 Identify the grammatically correct form of the given sentence.
Sentence: She is not the only girl who plays a football in the community park.
1. She is not the only girl who plays football in the community park.
II. She is not a only girl who plays football in the community park.
Ans X 1. Neither I nor II is correct
X 2. Both I and II are correct
X 3. Only II is correct
« 4. Only I is correct
Q.5 Select the option in which the word ‘truant’ is used correctly.
Ans /& 1. There was a large family at the theme park and the children were playing truant in the water and enjoying themselves.

& 2. The law will eventually catch up with the truants who have been involved in a series of robberies in the neighbourhood.

/5 3. About twenty truant employees were recently rewarded with a letter of appreciation and a cash prize.

«" 4. The problem of truants is also the result of education being disengaged from real life.




Q.6

Match the following words with their antonyms.

ListI List IT
1 | Dubious A | Latent

I

Gigantic B | Indisputable

3 | Industrious | C | Microscopic

Ans X 1. 1-C, 2-B, 3-A
X2 1-C,2-A, 3-B
X3 1-A.2-B,3-C
&4 1-B.2-C.3-A
Q.7 Four sentences are given as options. Choose the option that contains the odd sentence.
Ans «" 1. The power of a cyclonic storm is such that vast areas of land get inundated and cut off from the rest of the world.
25 2. An earthquake strikes without warning and when it does its power is immense.
25 3. When an earthquake strikes, the world trembles.
/5 4. Imagine the power of something that can move an entire subcontinent.
Q.8 The passage given below has numbered blanks.Select the most appropriate option to fill in blank number 3.
To avoid the various foolish opinions which mankind holds, no superhuman genius is required. A few simple rules will keep
you, not from all error, but from silly error. If the matter is one that can be (1)____ by observation, make the observation
yourself. Aristotle could have avoided the mistake of (2)___ that women have fewer teeth than men, by the simple device of
asking Mrs Aristotle to keep her mouth open while he (3)__. He did not do so because he thought he knew. Thinking that you
know when in fact you don't is a fatal mistake, to which we are all (4)___. | believe myself that hedgehogs eat black beetles,
because | have been told that they do; but if | were writing a book on the habits of hedgehogs, | should not (5)___ myself
until | had seen one enjoying this unappetizing diet. Aristotle, however, was less cautious. Ancient and medieval authors
knew all about unicorns and salamanders; not one of them thought it necessary to avoid dogmatic statements about them
because he had never seen one of them.
Ans " 1. counted
25 2. opened
< 3. watched
< 4. closed
Q.9 Select the correct conclusion based on the correct meaning of the word underlined in the following sentence.
Statement: Some people have no compunction in changing their jobs ever so often.
Conclusion:
(i) It is a noble feeling to have, after all, as your conscience is clear.
(ii) At the end of their productive life, they might find themselves neither here nor there: a rolling stone gathers no moss.
(iii) You have no one to care for or worry about: you are the master of yourself.
Ans " 1. Only conclusion (ii)

5 2. Only conclusion (i)
5 3. Only conclusion (ii) and (iii)
5 4. Only conclusion (i) and (iii)




Q.10

Ans

A sentence is missing in the paragraph given below. Decide in which blank (i.e., 1, 2, 3 or 4) the following sentence would fit
best.

Sentence:

Nay, education would even help them in the performance of the narrowest sphere of womanly duty.

Paragraph:

It is the height of selfishness for men, who fully appreciate in their own case the great advantages of a good education, to
deny these advantages to women. (1) . There is no valid argument by which the exclusion of the female sex from the
privilege of education can be defended. (2) . It is argued that women have their domestic duties to perform and that if
they were educated, they would bury themselves in their books and have little time for attending to the management of their
households.(3) . But women are no more liable to this temptation than men and most women would be able to do their
household work all the better for being able to refresh their minds in the intervals of leisure with a little reading. (4) .
For, education involves knowledge of the means by which health may be preserved and enables a mother to consult such
modern books as will tell her how to rear up her children into healthy men and women and skillfully nurse them when
disease attacks her household.

«" 1.Blank 4
5 2.Blank 3
#< 3.Blank 1
< 4.Blank 2

Q.11

Ans

Identify the grammatically correct form of the given sentence.

Sentence: He enjoys sweet dishes, but though he doesn’t like to eat chocolate.
I. He enjoys sweet dishes, but he doesn’t like to eat chocolate.

II. He enjoys sweet dishes, yet though he doesn’t like to eat chocolate.

III. Though he enjoys sweet dishes, since he doesn’t like to eat chocolate.
X 1. Only III is correct

« 2. Only I is correct

X 3. Only II is correct

X 4. Only I'and IT are correct

Q.12

Ans

Identify the grammatically correct form of the given sentence.

Sentence: I tries to wake up early at the morning and perform my daily exercise.
I. I tried to wake up early at the morning and perform my daily exercise.

IL. I tries to wake up early in the morning and performed my daily exercise.

III. 1 try to get up early every morning and do my daily exercise.
X 1. AllT II and IIT are correct
X 2. Only IT and III are correct
X 3. Only Iis correct
« 4. Only III is correct




Q.13

Ans

Select the correct conclusion based on the meaning of the underlined word.

Statement: Pari believes | have the perfect life here; she should know that the grass is always greener on the other side.

Conclusion:

I. People are never satisfied with their own situation.

Il. The things a person does not have always seem more appealing than the things he or she does have.

" 1. Both conclusion | and Il are correct
5 2. Only conclusion | is correct
£ 3. Only conclusion Il is correct

25 4. Neither conclusion | nor Il is correct

Q.14

Ans

Select the conclusion(s) that follow(s) based on the correct meaning of the underlined segment in the following sentence.
Sentence:

Many justify their actions saying that the end justifies the means.

Conclusion:

(i) The means and ends are like two parallel lines; they never meet.

(ii) Those who have the means end up successful in life.

(iii) In a war, the more powerful side does not hesitate to use unconventional weapons to achieve victory.

" 1. Only Conclusion (jii)

#< 2. Only conclusion (i)
#5 3. Only conclusion (ii)
#5 4. Only conclusion (i) and (iii)

Q.15

Ans

The five sentences labelled (1, 2, 3, 4, 5) given in this question. The first sentence is fixed and others when properly sequenced, form
a coherent paragraph. Each sentence is labelled with a number. Decide on the proper order for the sentences and choose the correct
option.

1.The city-state of Singapore and Switzerland’s Zurich were named as the most expensive cities in the world.

2. The popular US destination, where prices have increased by 1.9% according to the study, slipped to third, tying with Switzerland’s

Geneva.
3. The rise of the latter, which jumped from sixth place on last year’s list, was attributed to the strength of the Swiss Franc along with

the high prices of groceries. household goods and recreation.
4. New York tied with Singapore for first place last year.

5. Singapore’s costly transport and clothing were also noted.
X 115243

¥ 2. 13542

X 3. 12435

X4 14523

Q.16 Select the option in which the word ‘cynosure’ is used correctly.

Ans

5 1. The manager’s promise of a pay rise was met with cynosure by all of us.

/5 2. The weather was very cold and | had a cynosure in my nose.

«" 3. My sister and | were the cynosure of all eyes when we entered the office; we had just been awarded special positions in the
organisation.
/5 4. The potholes and debris collected on the arterial road was the cynosure of the commuters.




Q.17

Ans

Match the following words with their SYNONYMS.

List List IT
1 | Amity A | Futile

I

Belligerent | B | Contentious

3 | Vain C | Goodwill

X 1. 1-B,2-C, 3-A
X2 1-A,2-B,3-C
X3 1-A,2-C,3-B
¢4 1-C,2-B, 3-A

Q.18

Ans

Match the following words with their SYNONYMS.

ListI List IT
I | Trap A | Ambush
Audacity |B | Dreamy
3 | Nostalgic | C | Nerve

I

v 1 1-A,2-C.3-B
X 2 1-A, 2-B, 3-C
X3 1-C,2-A,3-B
X 4 1-B,2-C,3-A

Q.19

Ans

Identify the grammatically correct form of the given sentence.
Sentence: My eyes popped wide open as I seen that the Greek salad was priced at six hundred rupees.
I. My eyes popped wide open as I seen that the Greek salad is priced at six hundred rupees.

II. My eves popped wide open as I saw that the Greek salad was priced at six hundred rupees.
X 1. Only I is correct

X 2. Both I and II are correct
+ 3. Only II is correct

# 4. Neither I nor II is correct

Q.20
Ans

Four sentences are given as options. Choose the option that contains the odd sentence.

«" 1. In every nation, ‘Excellent Teacher’ awards are given every year.
/5 2. Others may cause frustrations among the main stakeholders, namely students and teachers.
/5 3. Educational changes occur frequently in any national context.

/5 4. Some of these changes may produce desired positive results.




